PLS Project No: 2014-PLS-004

*** NOTE: BIDS ARE CURRENTLY UNDER ADVISEMENT ***

Code

ItemCodeDescription

01.CH.0014 Student Chair, Cantilever, 14" SH Mfg/Model: Alumni - C-SM-CANT-14-PC Color/Finish: Shell: Navy Blue; Leg/Frame: Metallic Silver

	Bidders:	Qty	Unit Cost	Total Cost
O As Specified	Virco Inc.	254	\$45.00	\$11,430.00
Alternate	VIRCO INC - ANCANT14			
O As Specified	W.B. Mason Co. Inc.	254	\$51.67	\$13,124.18
Alternate	Columbia Manufacturing - Silhoflex #1564			
O As Specified	Virco Inc.	254	\$52.00	\$13,208.00
Alternate	VIRCO INC - ZCANT15			
O As Specified	Massachusetts Correctional Industries	254	\$52.80	\$13,411.20
Alternate	Facetime Wave - CI-IWC13/XX/PXX/NG			
O As Specified	Monitor Equipment Co., Inc.	254	\$53.69	\$13,637.26
Alternate	SCHOLARCRAFT - WM5414CO			
O As Specified	Creative Office Pavilion	254	\$61.00	\$15,494.00
Alternate	KI-Intellect Wave - IWC13 (see attached)			
As Specified	School Furnishings, Inc.	254	\$66.78	\$16,962.12
O Alternate	Alumni - C-SM-CANT-14-PC			
O As Specified	Business Interiors By Staples	254	\$77.88	\$19,781.52
O Alternate	Alumni - C-SM-CANT-14-PC			
Code	ItemCodeDescription			
01.CH.0014L	Student Chair, 4-leg, 14" SH			

Mfg/Model: Alumni - C-SM-14-PC

Color/Finish: Shell: Navy Blue; Leg/Frame: Metallic Silver

	Bidders:	Qty	Unit Cost	Total Cost
As SpecifiedAlternate	Lakeshore Learning Materials LAKESHORE - CN613BU	36	\$32.19	\$1,158.84
As SpecifiedAlternate	Monitor Equipment Co., Inc. SCHOLARCRAFT - WM5114CO	36	\$38.95	\$1,402.20
As SpecifiedAlternate	W.B. Mason Co. Inc. Columbia Manufacturing - Silhoflex #1544	36	\$40.55	\$1,459.80
As SpecifiedAlternate	Virco Inc. VIRCO INC - AN14	36	\$44.00	\$1,584.00
As SpecifiedAlternate	Virco Inc. VIRCO INC - ZU415	36	\$51.00	\$1,836.00
As SpecifiedAlternate	Massachusetts Correctional Industries Facetime Wave - CI-IW413/XX/PXX/NG	36	\$52.80	\$1,900.80
 As Specified Alternate 	School Furnishings, Inc. Alumni - C-SM-14-PC	36	\$55.38	\$1,993.68
As SpecifiedAlternate	Creative Office Pavilion KI-Intellect Wave - IW413 (see attached)	36	\$60.00	\$2,160.00
 As Specified Alternate 	Business Interiors By Staples Alumni - C-SM-14-PC	36	\$63.74	\$2,294.64

PLS Project No: 2014-PLS-004

*** NOTE: BIDS ARE CURRENTLY UNDER ADVISEMENT ***

Code

ItemCodeDescription

01.CH.0016 Student Chair, Cantilever, 16" SH Mfg/Model: Alumni - C-SM-CANT-16-PC Color/Finish: Shell: Navy Blue; Leg/Frame: Metallic Silver

	Bidders:	Qty	Unit Cost	Total Cost
O As Specified	Virco Inc.	470	\$46.50	\$21,855.00
Alternate	VIRCO INC - ANCANT16			
O As Specified	Virco Inc.	470	\$52.00	\$24,440.00
O Alternate	VIRCO INC - ZCANT15			
O As Specified	W.B. Mason Co. Inc.	470	\$52.78	\$24,806.60
O Alternate	Columbia Manufacturing - Silhoflex #1566			
O As Specified	Massachusetts Correctional Industries	470	\$53.90	\$25,333.00
O Alternate	Facetime Wave - CI-IWC15/XX/PXX/NG			
O As Specified	Monitor Equipment Co., Inc.	470	\$58.26	\$27,382.20
O Alternate	SCHOLARCRAFT - WM5416CO		· · · ·	
O As Specified	Creative Office Pavilion	470	\$61.00	\$28,670.00
O Alternate	KI-Intellect Wave - IWC15 (see attached)			
As Specified	School Furnishings, Inc.	470	\$69.47	\$32,650.90
O Alternate	Alumni - C-SM-CANT-16-PC			
• As Specified	Business Interiors By Staples	470	\$81.21	\$38,168.70
O Alternate	Alumni - C-SM-CANT-16-PC			
Code	ItemCodeDescription			
01.CH.0016L	Student Chair, 4-Leg, 16" SH			
	Alumni - C-SM-16-PC			
Color/Finish:	Shell: Navy Blue; Leg/Frame: Metallic Silver			
	2:11			
	Bidders:	Qty	Unit Cost	Total Cost
As Specified	Monitor Equipment Co., Inc.	52	\$39.98	\$2,078.96
Alternate	SCHOLARCRAFT - WM5116CO			
O As Specified	Lakeshore Learning Materials	52	\$41.39	\$2,152.28
Alternate	LAKESHORE - CN615BU			
O As Specified	W.B. Mason Co. Inc.	52	\$41.94	\$2,180,88

	Bidders:	Qty	Unit Cost	Total Cost
As SpecifiedAlternate	Monitor Equipment Co., Inc. SCHOLARCRAFT - WM5116CO	52	\$39.98	\$2,078.96
As SpecifiedAlternate	Lakeshore Learning Materials LAKESHORE - CN615BU	52	\$41.39	\$2,152.28
As SpecifiedAlternate	W.B. Mason Co. Inc. Columbia Manufacturing - Silhoflex #1546	52	\$41.94	\$2,180.88
As SpecifiedAlternate	Virco Inc. VIRCO INC - AN16	52	\$45.00	\$2,340.00
As SpecifiedAlternate	Virco Inc. VIRCO INC - ZU415	52	\$51.00	\$2,652.00
As SpecifiedAlternate	Massachusetts Correctional Industries Facetime Wave - CI-IW415/XX/PXX/NG	52	\$53.90	\$2,802.80
 As Specified Alternate 	School Furnishings, Inc. Alumni - C-SM-16-PC	52	\$58.00	\$3,016.00
As SpecifiedAlternate	Creative Office Pavilion KI-Intellect Wave - IW415 (see attached)	52	\$60.00	\$3,120.00
As SpecifiedAlternate	Business Interiors By Staples Alumni - C-SM-16-PC	52	\$66.98	\$3,482.96

Zervas Elementary School Newton, MA Architect: Perkins Eastman/DPC

PLS Project No: 2014-PLS-004

*** NOTE: BIDS ARE CURRENTLY UNDER ADVISEMENT ***

Code

ItemCodeDescription

01.CH.0018 Student Chair, Cantilever, 18" SH Mfg/Model: Alumni - C-SM-CANT-18-PC Color/Finish: Shell: Navy Blue; Leg/Frame: Metallic Silver

	Bidders:	Qty	Unit Cost	Total Cost
O As Specified	Virco Inc.	112	\$49.00	\$5,488.00
Alternate	VIRCO INC - ANCANT18			
O As Specified	Virco Inc.	112	\$54.00	\$6,048.00
Alternate	VIRCO INC - ZCANT18			
O As Specified	Massachusetts Correctional Industries	112	\$55.00	\$6,160.00
Alternate	Facetime Wave - CI-IWC18/XX/PXX/NG			
O As Specified	W.B. Mason Co. Inc.	112	\$56.67	\$6,347.04
Alternate	Columbia Manufacturing - Silhoflex #1568			
O As Specified	Monitor Equipment Co., Inc.	112	\$61.69	\$6,909.28
Alternate	SCHOLARCRAFT - WM5418XLCO			
O As Specified	Creative Office Pavilion	112	\$65.00	\$7,280.00
Alternate	KI-Intellect Wave - IWC18			
• As Specified	School Furnishings, Inc.	112	\$69.47	\$7,780.64
O Alternate	Alumni - C-SM-CANT-18-PC			
• As Specified	Business Interiors By Staples	112	\$81.21	\$9,095.52
O Alternate	Alumni - C-SM-CAÑT-18-PC			
Code	ItemCodeDescription			

01.CH.0018L Student Chair, 4-Leg, 18" SH Mfg/Model: Alumni - C-SM-18-PC Color/Finish: Shell: Navy Blue; Leg/Frame: Metallic Silver

	Bidders:	Qty	Unit Cost	Total Cost
As SpecifiedAlternate	W.B. Mason Co. Inc. Columbia Manufacturing - Silhoflex #1558	16	\$43.33	\$693.28
O As Specified O Alternate	Monitor Equipment Co., Inc. SCHOLARCRAFT - WM5118XL	16	\$45.58	\$729.28
O As Specified O Alternate	Lakeshore Learning Materials LAKESHORE - CN617BU	16	\$45.99	\$735.84
As SpecifiedAlternate	Virco Inc. VIRCO INC - AN18	16	\$46.00	\$736.00
As SpecifiedAlternate	Virco Inc. VIRCO INC - ZU418	16	\$52.00	\$832.00
As SpecifiedAlternate	Massachusetts Correctional Industries Facetime Wave - CI-IW418/XX/PXX/NG	16	\$55.00	\$880.00
 As Specified Alternate 	School Furnishings, Inc. Alumni - C-SM-18-PC	16	\$58.00	\$928.00
As SpecifiedAlternate	Creative Office Pavilion KI-Intellect Wave - IW418	16	\$66.00	\$1,056.00
As SpecifiedAlternate	Business Interiors By Staples Alumni - C-SM-18-PC	16	\$66.98	\$1,071.68

© Copyright 2015	Date	Page
Point Line Space, Inc.	02.06.17	3

Code

Code

Code

PLS Project No: 2014-PLS-004

*** NOTE: BIDS ARE CURRENTLY UNDER ADVISEMENT ***

ItemCodeDescription 01.CL.0018 Chair, Student, Library, 18" ht, carpet glides

Mfg/Model: VS America - Compass Lupo - VF 31320 Color/Finish: Wood Stain: Dark Blue, H029; Legs: Arctic M059

Bidders: Unit Cost **Total Cost** Qty **O** As Specified W.B. Mason Co. Inc. 33 \$55.56 \$1,833.48 Columbia Manufacturing - Omnia #1898 Alternate Lakeshore Learning Materials 33 \$101.19 \$3,339.27 O As Specified LAKESHORE - JJ325 O Alternate Robert H. Lord Co. 33 • As Specified \$141.94 \$4,684.02 VS America - Compass Lupo - VF 31320 O Alternate Creative Office Pavilion 33 \$169.00 • As Specified \$5,577.00 VS America - Compass Lupo - VF 31320 O Alternate O As Specified Virco Inc. 33 \$201.00 \$6,633.00 VIRCO INC - CW18 Alternate

ItemCodeDescription

Student, Desk, Adj, Bookbox 20" x 26" 01.DA.2620

Mfg/Model: Alumni - Honor Roll DSQ-2026-BB-PC

Color/Finish: Hard Plastic Top: Goldern Oak; Plastic Bookbox: Navy Blue; Leg/Frame: Metallic Silver

	Bidders:	Qty	Unit Cost	Total Cost
O As Specified	W.B. Mason Co. Inc.	192	\$55.56	\$10,667.52
Alternate	Columbia Manufacturing - Capella #3140			
O As Specified	Virco Inc.	192	\$92.60	\$17,779.20
Alternate	VIRCO INC - 2800PNM			
O As Specified	Massachusetts Correctional Industries	192	\$99.00	\$19,008.00
O Alternate	Facetime Wave - IWD4FH/A/BB/XX/PXX/NG/CFT			
O As Specified	Monitor Equipment Co., Inc.	192	\$103.96	\$19,960.32
O Alternate	SCHOLARCRAFT - CD4510SP			
As Specified	School Furnishings, Inc.	192	\$104.14	\$19,994.88
O Alternate	Alumni - Honor Roll DSQ-2026-BB-PC			
O As Specified	Creative Office Pavilion	192	\$124.00	\$23,808.00
Alternate	KI-Intellect Wave - IWDFH/A (see attached)			
As Specified	Business Interiors By Staples	192	\$124.49	\$23,902.08
O Alternate	Alumni - Honor Roll DSQ-2026-BB-PC			

ItemCodeDescription

01.DA.2620A Student, Desk, Adj, Without Bookbox, 20" x 26"

Mfg/Model: Alumni - SDRD-2026-STUDY TOP

Color/Finish: Hard Plastic Top: Goldern Oak; Leg/Frame: Metallic Silver

	Bidders:	Qty	Unit Cost	Total Cost
As SpecifiedAlternate	W.B. Mason Co. Inc. Columbia Manufacturing - Study Top #7120	12	\$68.89	\$826.68
As SpecifiedAlternate	Massachusetts Correctional Industries Ivy - IL40R.A.WO/XX/PXX/NG/NP	12	\$84.70	\$1,016.40
As SpecifiedAlternate	Monitor Equipment Co., Inc. SCHOLARCRAFT - CDF4000SP	12	\$89.00	\$1,068.00

PLS Project No: 2014-PLS-004

Zervas Elementary School Newton, MA Architect: Perkins Eastman/DPC

*** NOTE: BIDS ARE CURRENTLY UNDER ADVISEMENT ***

/irco Inc.	12	\$92.00	\$1,104.00
/IRCO INC - ZADJ2026M			
Business Interiors By Staples	12	\$94.10	\$1,129.20
Alumni - SDRD-2026-STUDY TOP			
School Furnishings, Inc.	12	\$111.08	\$1,332.96
Alumni - SDRD-2026-STUDY TOP			
Creative Office Pavilion	12	\$112.00	\$1,344.00
KI-Intellect Wave - IWD4FH/A (see attached)			
	/IRCO INC - ZADJ2026M Business Interiors By Staples Alumni - SDRD-2026-STUDY TOP School Furnishings, Inc. Alumni - SDRD-2026-STUDY TOP	VIRCO INC - ZADJ2026M Business Interiors By Staples 12 Alumni - SDRD-2026-STUDY TOP School Furnishings, Inc. 12 Alumni - SDRD-2026-STUDY TOP Creative Office Pavilion 12	VIRCO INC - ZADJ2026M Business Interiors By Staples 12 \$94.10 Alumni - SDRD-2026-STUDY TOP Chool Furnishings, Inc. 12 \$111.08 Alumni - SDRD-2026-STUDY TOP Creative Office Pavilion 12 \$112.00

ItemCodeDescription

01.DA.2820S Student, Desk, Adj, Stand-Up, Swinging Foot Rest Mfg/Model: SAFCO - 1201BE

Color/Finish: Color: Phenolic Gray

	Bidders:	Qty	Unit Cost	Total Cost
As SpecifiedAlternate	Creative Office Pavilion Ki Intellect Wave - IWDSH (see attached)	2	\$160.00	\$320.00
As SpecifiedAlternate	Business Interiors By Staples SAFCO - 1201BE	2	\$208.35	\$416.70
 As Specified Alternate 	W.B. Mason Co. Inc. SAFCO - 1201BE	2	\$219.33	\$438.66
 As Specified Alternate 	Robert H. Lord Co. SAFCO - 1201BE	2	\$261.44	\$522.88
 As Specified Alternate 	Monitor Equipment Co., Inc. SAFCO - 1201BE	2	\$285.00	\$570.00

Code ItemCodeDescription

01.SF.0018

Code

Stool, Fixed, 18"H

Mfg/Model: KI - 618

Color/Finish: Frame: Warm Grey; Polyethylene Feet: Grey

	Bidders:	Qty	Unit Cost	Total Cost
O As Specified	Massachusetts Correctional Industries	26	\$32.45	\$843.70
Alternate	618 Industrial - 618/WG/GRF			
As Specified	Business Interiors By Staples	26	\$41.45	\$1,077.70
O Alternate	KI - 618			
O As Specified	W.B. Mason Co. Inc.	26	\$42.20	\$1,097.20
Alternate	Columbia Manufacturing - #0408			
O As Specified	Monitor Equipment Co., Inc.	26	\$46.94	\$1,220.44
Alternate	NPS - 6218			
As Specified	Creative Office Pavilion	26	\$49.00	\$1,274.00
O Alternate	KI - 618			
O As Specified	Virco Inc.	26	\$49.00	\$1,274.00
O Alternate	VIRCO INC - 12218			

PLS Project No: 2014-PLS-004

*** NOTE: BIDS ARE CURRENTLY UNDER ADVISEMENT ***

ItemCodeDescription

01.SF.HP18 Stool, Fixed Height 18", Nylon Glides

Mfg/Model: KI - ILST.18

Code

Color/Finish: Hard Plastic Seat: Navy Blue; Frame: Azure Grey Metalllic; Glide: Nylon

	Bidders:	Qty	Unit Cost	Total Cost
As SpecifiedAlternate	W.B. Mason Co. Inc. Columbia Manufacturing - #0408	236	\$42.20	\$9,959.20
As SpecifiedAlternate	Monitor Equipment Co., Inc. SCHOLARCRAFT - CDF7018	236	\$44.55	\$10,513.80
As SpecifiedAlternate	Massachusetts Correctional Industries Ivy League - ILST.18/AG/CN/NG/NP	236	\$49.50	\$11,682.00
 As Specified Alternate 	Business Interiors By Staples KI - ILST.18	236	\$53.60	\$12,649.60
As SpecifiedAlternate	School Furnishings, Inc. Academia - 4518F	236	\$58.06	\$13,702.16
As SpecifiedAlternate	Virco Inc. VIRCO INC - 12118	236	\$59.00	\$13,924.00
 As Specified Alternate 	Creative Office Pavilion KI - ILST.18	236	\$60.00	\$14,160.00

Code ItemCodeDescription

01.TA.0030 Table, Student Activity, 30" Round, Adj.

Mfg/Model: Fleetwood Group, Inc. - 93.0361-27347

Color/Finish: Top: Medium Oak; Vinyl Edge Band: Light Oak; Frame: Quicksilver

	Bidders:	Qty	Unit Cost	Total Cost
O As Specified	W.B. Mason Co. Inc.	1	\$142.22	\$142.22
Alternate	Columbia Manufacturing - #6130M			
O As Specified	Massachusetts Correctional Industries	1	\$147.02	\$147.02
Alternate	Intellect - E30R/ANS/XX/LXX/EXX			
O As Specified	Lakeshore Learning Materials	1	\$155.48	\$155.48
Alternate	LAKESHORE - AA690			
O As Specified	School Furnishings, Inc.	1	\$218.54	\$218.54
Alternate	Academia - WLA-30R			
• As Specified	Robert H. Lord Co.	1	\$345.00	\$345.00
O Alternate	Fleetwood Group, Inc 93.0361-27347			
O As Specified	Creative Office Pavilion	1	\$395.00	\$395.00
O Alternate	Fleetwood Group, Inc 93.0361-27347			
O As Specified	Monitor Equipment Co., Inc.	1	\$410.04	\$410.04
Alternate	CDF - 6330			
Code	ItemCodeDescription			
01.TA.0036	Table, Student Activity, 36" Round, Adj.			
Mfg/Model:	Fleetwood Group, Inc 93.0361-273470			
Color/Finish:	Top: Medium Oak; Vinyl Edge Band: Light Oak; Frame: Quicksilver			
	Bidders:	Qty	Unit Cost	Total Cost
O As Specified	W.B. Mason Co. Inc.	15	\$151.11	\$2,266.65
Alternate	Columbia Manufacturing - #6130			

Page

6

PLS Project No: 2014-PLS-004

*** NOTE: BIDS ARE CURRENTLY UNDER ADVISEMENT ***

O As Specified	Massachusetts Correctional Industries	15	\$156.38	\$2,345.70
Alternate	Intellect - E36R/ANS/XX/LXX/EXX			
O As Specified	Lakeshore Learning Materials	15	\$210.68	\$3,160.20
Alternate	LAKESHORE - CN421			
O As Specified	School Furnishings, Inc.	15	\$223.06	\$3,345.90
Alternate	Academia - WLA-36R			
As Specified	Robert H. Lord Co.	15	\$375.00	\$5,625.00
O Alternate	Fleetwood Group, Inc 93.0361-273470			
O As Specified	Monitor Equipment Co., Inc.	15	\$410.04	\$6,150.60
Alternate	CDF - 6336			
As Specified	Creative Office Pavilion	15	\$525.00	\$7,875.00
O Alternate	Fleetwood Group, Inc 93.0361-273470			
Code	ItemCodeDescription			

01.TA.2436

Code

Table, Student Activity, Adj Ht, 24x36

Mfg/Model: Fleetwood Group, Inc. - 93.3281.27347

Color/Finish: Top: Medium Oak; Vinyl Edge Band: Light Oak; Frame: Quicksilver

	Bidders:	Qty	Unit Cost	Total Cost
As SpecifiedAlternate	Massachusetts Correctional Industries Intellect - E2436/A/BL/LXX/EXX	16	\$133.21	\$2,131.36
As SpecifiedAlternate	W.B. Mason Co. Inc. Columbia Manufacturing - #6010M	16	\$133.33	\$2,133.28
As SpecifiedAlternate	Lakeshore Learning Materials LAKESHORE - CN441	16	\$155.48	\$2,487.68
As SpecifiedAlternate	School Furnishings, Inc. Academia - WLA-2436	16	\$200.80	\$3,212.80
 As Specified Alternate 	Robert H. Lord Co. Fleetwood Group, Inc 93.3281.27347	16	\$345.00	\$5,520.00
As SpecifiedAlternate	Monitor Equipment Co., Inc. CDF - 632436	16	\$362.30	\$5,796.80
 As Specified Alternate 	Creative Office Pavilion Fleetwood Group, Inc 93.3281.27347	16	\$395.00	\$6,320.00

ItemCodeDescription

01.TA.2448 Table, Student Activity, Adj Ht, 24x48 Mfg/Model: Fleetwood Group, Inc. - 93.4281.27347

Color/Finish: Top: Medium Oak; Vinyl Edge Band: Light Oak; Frame: Quicksilver

	Bidders:	Qty	Unit Cost	Total Cost
As SpecifiedAlternate	W.B. Mason Co. Inc. Columbia Manufacturing - #6010	26	\$141.11	\$3,668.86
As SpecifiedAlternate	Massachusetts Correctional Industries Intellect - E2448/A/BL/LXX/EXX	26	\$143.45	\$3,729.70
As SpecifiedAlternate	Lakeshore Learning Materials LAKESHORE - CN443	26	\$164.68	\$4,281.68
As SpecifiedAlternate	School Furnishings, Inc. Academia - WLA-2448	26	\$219.53	\$5,707.78
As SpecifiedAlternate	Robert H. Lord Co. Fleetwood Group, Inc 93.4281.27347	26	\$355.00	\$9,230.00

PLS Project No: 2014-PLS-004

Zervas Elementary School Newton, MA Architect: Perkins Eastman/DPC

*** NOTE: BIDS ARE CURRENTLY UNDER ADVISEMENT ***

 As Specified Alternate 	Creative Office Pavilion Fleetwood Group, Inc 93.4281.27347	26	\$408.00	\$10,608.00
As SpecifiedAlternate	Monitor Equipment Co., Inc. CDF - 632448	26	\$422.28	\$10,979.28

Code ItemCodeDescription

Table, Student Activity, Adj Ht, 30x60 01.TA.3060

Mfg/Model: Fleetwood Group, Inc. - 93.6381-27347

Color/Finish: Top: Medium Oak; Vinyl Edge Band: Light Oak; Frame: Quicksilver

	Bidders:	Qty	Unit Cost	Total Cost
As SpecifiedAlternate	W.B. Mason Co. Inc. Columbia Manufacturing - #6020	108	\$153.33	\$16,559.64
As Specified Alternate	Massachusetts Correctional Industries Intellect - E3060/A/BL/LXX/EXX	108	\$167.07	\$18,043.56
As SpecifiedAlternate	Lakeshore Learning Materials LAKESHORE - CN451	108	\$183.08	\$19,772.64
As SpecifiedAlternate	School Furnishings, Inc. Academia - WLA-3060	108	\$282.38	\$30,497.04
As Specified Alternate	Monitor Equipment Co., Inc. CDF - 633060	108	\$410.04	\$44,284.32
 As Specified Alternate 	Robert H. Lord Co. Fleetwood Group, Inc 93.6381-27347	108	\$411.56	\$44,448.48
 As Specified Alternate 	Creative Office Pavilion Fleetwood Group, Inc 93.6381-27347	108	\$464.00	\$50,112.00

01.TA.3060B

Code

ItemCodeDescription

Table, Student Activity, Adj Ht, 30x60, 'Blue' Family

Mfg/Model: Fleetwood Group, Inc. - 93.6381-27347

Color/Finish: Top: Wilsonart 4746-60, Woolamai Brush; Vinyl Edge Band: Silver; Frame: Quicksilver

	Bidders:	Qty	Unit Cost	Total Cost
O As Specified	Massachusetts Correctional Industries	4	\$167.07	\$668.28
Alternate	Intellect - E3060/A/BL/LXX/EXX			
O As Specified	W.B. Mason Co. Inc.	4	\$173.30	\$693.20
Alternate	Columbia Manufacturing - #6020M			
O As Specified	Lakeshore Learning Materials	4	\$183.08	\$732.32
Alternate	LAKESHORE - CN341BU			
O As Specified	School Furnishings, Inc.	4	\$298.16	\$1,192.64
Alternate	Academia - WLA-3060-B			
O As Specified	Monitor Equipment Co., Inc.	4	\$410.04	\$1,640.16
O Alternate	CDF - 636030			
• As Specified	Robert H. Lord Co.	4	\$463.75	\$1,855.00
O Alternate	Fleetwood Group, Inc 93.6381-27347			
• As Specified	Creative Office Pavilion	4	\$510.00	\$2,040.00
O Alternate	Fleetwood Group, Inc 93.6381-27347			

© Copyright 2015	Date	Page
Point Line Space, Inc.	02.06.17	8

8

Zervas Elementary School Newton, MA Architect: Perkins Eastman/DPC

PLS Project No: 2014-PLS-004

*** NOTE: BIDS ARE CURRENTLY UNDER ADVISEMENT ***

ItemCodeDescription

Code 01.TA.3060G

Table, Student Activity, Adj Ht, 30x60, 'Green' Family

Mfg/Model: Fleetwood Group, Inc. - 93.6381-27347

Color/Finish: Top: Wilsonart 4918-60, Sprout; Vinyl Edge Band: Silver; Frame: Quicksilver

	Bidders:	Qty	Unit Cost	Total Cost
As SpecifiedAlternate	Massachusetts Correctional Industries Intellect - E3060/A/BL/LXX/EXX	4	\$167.07	\$668.28
As SpecifiedAlternate	W.B. Mason Co. Inc. Columbia Manufacturing - #6020M	4	\$173.30	\$693.20
As SpecifiedAlternate	Lakeshore Learning Materials LAKESHORE - JJ824FG	4	\$183.08	\$732.32
As SpecifiedAlternate	School Furnishings, Inc. Academia - WLA-3060-G	4	\$298.16	\$1,192.64
As SpecifiedAlternate	Monitor Equipment Co., Inc. CDF - 636030	4	\$410.04	\$1,640.16
 As Specified Alternate 	Robert H. Lord Co. Fleetwood Group, Inc 93.6381-27347	4	\$463.75	\$1,855.00
As SpecifiedAlternate	Creative Office Pavilion Fleetwood Group, Inc 93.6381-27347	4	\$510.00	\$2,040.00

Code ItemCodeDescription

01.TA.3060P Table, Student Activity, Adj Ht, 30x60, 'Purple' Family Mfg/Model: Fleetwood Group, Inc. - 93.6381-27347

Color/Finish: Top: Wilsonart 4913-60, Eggplant; Vinyl Edge Band: Silver; Frame: Quicksilver

	Bidders:	Qty	Unit Cost	Total Cost
O As Specified	Massachusetts Correctional Industries	4	\$167.07	\$668.28
Alternate	Intellect - E3060/A/BL/LXX/EXX			
O As Specified	W.B. Mason Co. Inc.	4	\$173.30	\$693.20
Alternate	Columbia Manufacturing - #6020M			
O As Specified	Lakeshore Learning Materials	4	\$183.08	\$732.32
Alternate	LAKESHORE - JJ824AB			
O As Specified	School Furnishings, Inc.	4	\$298.16	\$1,192.64
Alternate	Academia - WLA-3060-P			
O As Specified	Monitor Equipment Co., Inc.	4	\$410.04	\$1,640.16
Alternate	CDF - 636030			
• As Specified	Robert H. Lord Co.	4	\$463.75	\$1,855.00
O Alternate	Fleetwood Group, Inc 93.6381-27347			
• As Specified	Creative Office Pavilion	4	\$510.00	\$2,040.00
O Alternate	Fleetwood Group, Inc 93.6381-27347			
Code It	emCodeDescription			
01.TA.3060R T	able, Student Activity, Adj Ht, 30x60, 'Red' Family			
Mfg/Model: F	leetwood Group, Inc 93.6381-27347			
Color/Finish: T	op: Wilsonart 4915-60, Tangerine; Vinyl Edge Band: Silver	; Frame: Quicksilve	er	
	Bidders:	Qty	Unit Cost	Total Cost
O As Specified	Massachusetts Correctional Industries	4	\$167.07	\$668.28
Alternate	Intellect - E3060/A/BL/LXX/EXX			

PLS Project No: 2014-PLS-004

Zervas Elementary School Newton, MA Architect: Perkins Eastman/DPC

*** NOTE: BIDS ARE CURRENTLY UNDER ADVISEMENT ***

		1		
O As Specified	W.B. Mason Co. Inc.	4	\$173.30	\$693.20
Alternate	Columbia Manufacturing - #6020M			
O As Specified	Lakeshore Learning Materials	4	\$183.08	\$732.32
Alternate	LAKESHORE - CN341RD			
O As Specified	School Furnishings, Inc.	4	\$298.16	\$1,192.64
Alternate	Academia - WLA-3060-R			
O As Specified	Monitor Equipment Co., Inc.	4	\$410.04	\$1,640.16
Alternate	CDF - 636030			
As Specified	Robert H. Lord Co.	4	\$463.75	\$1,855.00
O Alternate	Fleetwood Group, Inc 93.6381-27347			
As Specified	Creative Office Pavilion	4	\$510.00	\$2,040.00
O Alternate	Fleetwood Group, Inc 93.6381-27347			

ItemCodeDescription

01.TA.3060Y

Code

60Y Table, Student Activity, Adj Ht, 30x60, 'Yellow' Family

Mfg/Model: Fleetwood Group, Inc. - 93.6381-27347

Color/Finish: Top: Wilsonart 4745-60, Maroochy Brush; Vinyl Edge Band: Silver; Frame: Quicksilver

	Bidders:	Qty	Unit Cost	Total Cost
As SpecifiedAlternate	Massachusetts Correctional Industries Intellect - E3060/A/BL/LXX/EXX	4	\$167.07	\$668.28
As Specified Alternate	W.B. Mason Co. Inc. Columbia Manufacturing - #6020M	4	\$173.30	\$693.20
As SpecifiedAlternate	Lakeshore Learning Materials LAKESHORE - CN341YE	4	\$183.08	\$732.32
As SpecifiedAlternate	School Furnishings, Inc. Academia - WLA-3060-Y	4	\$298.16	\$1,192.64
As Specified Alternate	Monitor Equipment Co., Inc. CDF - 636030	4	\$410.04	\$1,640.16
As SpecifiedAlternate	Robert H. Lord Co. Fleetwood Group, Inc 93.6381-27347	4	\$463.75	\$1,855.00
 As Specified Alternate 	Creative Office Pavilion Fleetwood Group, Inc 93.6381-27347	4	\$510.00	\$2,040.00

Code ItemCodeDescription

01.TA.KD01 Mfg/Model: Color/Finish: Table, Student Activity, Adj Ht, Kidney Shaped Academia - T-HL4872EE-K Top: Wilsonart, Solar Oak, 7816-60; Vinyl Edge Band: Light Oak; Frame: Tungsten

	Bidders:	Qty	Unit Cost	Total Cost
O As Specified	W.B. Mason Co. Inc.	26	\$225.50	\$5,863.00
Alternate	Columbia Manufacturing - #6400			
O As Specified	Lakeshore Learning Materials	26	\$247.48	\$6,434.48
Alternate	LAKESHORE - CN321BU			
O As Specified	Massachusetts Correctional Industries	26	\$272.65	\$7,088.90
Alternate	Intellect - E4872K/A/XX/LXX/EXX			
As Specified	School Furnishings, Inc.	26	\$292.59	\$7,607.34
O Alternate	Academia - T-HL4872EE-K			
As Specified	Creative Office Pavilion	26	\$470.00	\$12,220.00
O Alternate	Academia - T-HL4872EE-K			

PLS Project No: 2014-PLS-004

*** NOTE: BI	DS ARE CURRENTLY UNDER ADVISEMENT ***			
As Specified Alternate	Robert H. Lord Co. FLEETWOOD - 94.1784.6XX.000	26	\$477.50	\$12,415.00
As SpecifiedAlternate	Monitor Equipment Co., Inc. CDF - 637248	26	\$636.48	\$16,548.48
Code	ItemCodeDescription			
01.TM.2448 Mfg/Model: Color/Finish:	Table, Student Activity, 2 Locking Casters, 24x48Fleetwood Group, Inc 93.4281.9XX.000Laminated Top: Wilsonart, Grey Glace, 4142-60, ; Vinyl Edge Banc	d: Silver; Fra	nme: Quicksilve	r
	Bidders:	Qty	Unit Cost	Total Cost
As SpecifiedAlternate	Lakeshore Learning Materials LAKESHORE - CN443	7	\$164.68	\$1,152.76
As SpecifiedAlternate	W.B. Mason Co. Inc. Columbia Manufacturing - #6010C	7	\$190.00	\$1,330.00
As SpecifiedAlternate	School Furnishings, Inc. Academia - WLA-2448	7	\$249.13	\$1,743.91
As SpecifiedAlternate	Massachusetts Correctional Industries Inquire - IQ2448SSO/74P/EXX/LXX/XX/IC	7	\$276.21	\$1,933.47
 As Specified Alternate 	Robert H. Lord Co. Fleetwood Group, Inc 93.4281.9XX.000	7	\$381.56	\$2,670.92
As SpecifiedAlternate	Monitor Equipment Co., Inc. CDF - 634824CAS	7	\$648.72	\$4,541.04
Code	ItemCodeDescription			
02.AC.0001 Mfg/Model: Color/Finish:	Play Kitchen - Refrigerator, Sink and Stove Jonti-Craft - 04061JC+04081JC+04091JC			
	Bidders:	Qty	Unit Cost	Total Cost
As SpecifiedAlternate	Lakeshore Learning Materials LAKESHORE - HH515	2	\$459.08	\$918.16
As SpecifiedAlternate	Business Interiors By Staples Jonti-Craft - 04061JC+04081JC+04091JC	2	\$545.85	\$1,091.70
As SpecifiedAlternate	W.B. Mason Co. Inc. Jonti-Craft - 04061JC+04081JC+04091JC	2	\$555.27	\$1,110.54
As SpecifiedAlternate	Robert H. Lord Co. Jonti-Craft - 04061JC+04081JC+04091JC	2	\$586.78	\$1,173.56
As SpecifiedAlternate	Creative Office Pavilion Carolina (See attached) - 17-19689+17-19688+17-19678	2	\$698.00	\$1,396.00
Code	ItemCodeDescription			
02.AC.0002 Mfg/Model:	Painting Easel, Mobile, with (2) Magnetic White Board Community Playthings - H500			

Color/Finish:

	Bidders:	Qty	Unit Cost	Total Cost
As SpecifiedAlternate	Lakeshore Learning Materials LAKESHORE - EE333	4	\$146.28	\$585.12
As SpecifiedAlternate	Creative Office Pavilion Mobile Teaching - 17-70219 (see attached)	4	\$347.00	\$1,388.00

Zervas Elementary School Newton, MA Architect: Perkins Eastman/DPC

PLS Project No: 2014-PLS-004

***	NOTE:	BIDS ARE	CURRENTLY	UNDER ADVISEME	NT ***

*** NOTE: BID	S ARE CURRENTLY UNDER ADVISEMENT			
As Specified	W.B. Mason Co. Inc.	4	\$661.11	\$2,644.44
O Alternate	Community Playthings - H500			
	temCodeDescription			
	Puppet Theater Ionti-Craft - 7202JC + 0723JC			
	Bidders:	Qty	Unit Cost	Total Cost
O As Specified	Lakeshore Learning Materials	2	\$64.39	\$128.78
Alternate	LAKESHORE - HH365			
 As Specified Alternate 	Business Interiors By Staples Jonti-Craft - 7202JC + 0723JC	2	\$282.39	\$564.78
		2	¢20424	¢500.40
 As Specified Alternate 	W.B. Mason Co. Inc. Jonti-Craft - 7202JC + 0723JC	2	\$284.24	\$568.48
• As Specified	Robert H. Lord Co.	2	\$304.52	\$609.04
O Alternate	Jonti-Craft - 7202JC + 0723JC			
O As Specified	Creative Office Pavilion	2	\$336.00	\$672.00
Alternate	Kaplan - 17-88774 (see attached)			
	temCodeDescription			
	Big Book Storage Cart with Magnetic White Board Lakeshore Learning - DG247			
	Bidders:	Qty	Unit Cost	Total Cost
O As Specified	Lakeshore Learning Materials LAKESHORE - DG247	4	\$275.08	\$1,100.32
Alternate			****	
 As Specified Alternate 	Creative Office Pavilion Kaplan - 17-96225 (see attached)	4	\$327.00	\$1,308.00
•	· · ·			
	temCodeDescription			
	Pick a Book Stand Jonti-Craft - 3501JC			
	Bidders:	Qty	Unit Cost	Total Cost
 As Specified Alternate 	Lakeshore Learning Materials LAKESHORE - JJ836	8	\$164.68	\$1,317.44
	Business Interiors By Staples	8	\$211.06	\$1,688.48
 As Specified Alternate 	Jonti-Craft - 3501JC	0	\$∠11.U0	¢۱,000.40
As Specified	W.B. Mason Co. Inc.	8	\$213.81	\$1,710.48
O Alternate	Jonti-Craft - 3501JC			
As SpecifiedAlternate	Creative Office Pavilion Carolina - 17-47147 (See attached)	8	\$224.00	\$1,792.00
	· · ·	0	¢776 17	\$1,800.26
 As Specified Alternate 	Robert H. Lord Co. Jonti-Craft - 3501JC	8	\$226.17	\$1,809.36

© Copyright 2015	Date	Page
Point Line Space, Inc.	02.06.17	12

PLS Project No: 2014-PLS-004

*** NOTE: BIDS ARE CURRENTLY UNDER ADVISEMENT ***

Code

ItemCodeDescription

02.AC.0007 Wooden Block Set Mfg/Model: Jonti-Craft - 0262JC

Color/Finish:

	Bidders:	Qty	Unit Cost	Total Cost
 As Specified Alternate 	Lakeshore Learning Materials LAKESHORE - AA611	8	\$64.39	\$515.12
As Specified Alternate	Creative Office Pavilion Unit Blocks - 17-30854 (See attached)	8	\$498.00	\$3,984.00
As Specified	W.B. Mason Co. Inc.	8	\$692.57	\$5,540.56
Alternate As Specified	Jonti-Craft - 0262JC Business Interiors By Staples	8	\$702.98	\$5,623.84
O Alternate	Jonti-Craft - 0262JĆ		·	
 As Specified Alternate 	Robert H. Lord Co. Jonti-Craft - 0262JC	8	\$764.81	\$6,118.48

ItemCodeDescription

Block Shelf

02.AC.0008 Mfg/Model: Jonti-Craft - 0358JC

Color/Finish:

Code

	Bidders:	Qty	Unit Cost	Total Cost
O As Specified	Lakeshore Learning Materials	8	\$73.59	\$588.72
Alternate	LAKESHORE - AA613			
As Specified	Business Interiors By Staples	8	\$234.52	\$1,876.16
O Alternate	Jonti-Craft - 0358JC			
O As Specified	W.B. Mason Co. Inc.	8	\$243.86	\$1,950.88
O Alternate	Jonti-Craft - 0358JC			
• As Specified	Robert H. Lord Co.	8	\$264.53	\$2,116.24
O Alternate	Jonti-Craft - 0358JC			
O As Specified	Creative Office Pavilion	8	\$415.00	\$3,320.00
Alternate	Carolina - 17-28765 (see attached)			
Code It	temCodeDescription			
02.AC.0009 2	25 Cubbie Unit, Mobile, without Bins			
	onti-Craft - 0425JC			
Color/Finish:	Birch			
	Bidders:	Qty	Unit Cost	Total Cost
O As Specified	Lakeshore Learning Materials	4	\$348.68	\$1,394.72
 Alternate 	LAKESHORE - JJ166	Ŧ	40 10.00	φ1,33 1.1 L
• As Specified	Business Interiors By Staples	4	\$398.29	\$1,593.16
As specified		4	ψJJU.2J	Ψ1,000.10

Page

13

Zervas Elementary School Newton, MA Architect: Perkins Eastman/DPC

PLS Project No: 2014-PLS-004

*** NOTE: BIDS ARE CURRENTLY UNDER ADVISEMENT ***

Code ItemCodeDescription 02.AC.0010 Student, Activity, Bookcase, Mobile Mfg/Model: Jonti-Craft - 0798JC

Color/Finish: Baltic Birch

	Bidders:	Qty	Unit Cost	Total Cost
As SpecifiedAlternate	Lakeshore Learning Materials LAKESHORE - JJ646	32	\$210.68	\$6,741.76
 As Specified Alternate 	Business Interiors By Staples Jonti-Craft - 0798JC	32	\$242.90	\$7,772.80
 As Specified Alternate 	W.B. Mason Co. Inc. Jonti-Craft - 0798JC	32	\$260.13	\$8,324.16
 As Specified Alternate 	Robert H. Lord Co. Jonti-Craft - 0798JC	32	\$271.27	\$8,680.64
As SpecifiedAlternate	Creative Office Pavilion Carolina - 17-28751 (see attached)	32	\$289.00	\$9,248.00

ItemCodeDescription

Code

02.AC.0011	Kindergarten Storage Unit, Clear Bins, Mobile
Mfg/Model:	Jonti-Craft - 07170JC
Color/Finish	Baltic Birch

	Bidders:	Qty	Unit Cost	Total Cost
As SpecifiedAlternate	Lakeshore Learning Materials LAKESHORE - JJ165 + WT111	8	\$234.14	\$1,873.12
As SpecifiedAlternate	Business Interiors By Staples Jonti-Craft - 07170JC	8	\$308.64	\$2,469.12
As SpecifiedAlternate	Creative Office Pavilion Carolina - 17-28750 (see attached)	8	\$310.00	\$2,480.00
As SpecifiedAlternate	W.B. Mason Co. Inc. Jonti-Craft - 07170JC	8	\$326.65	\$2,613.20
 As Specified Alternate 	Robert H. Lord Co. Jonti-Craft - 07170JC	8	\$333.18	\$2,665.44
Code	ItemCodeDescription			

02.AC.0012 Table, Sand & Water with Cover Mfg/Model: Jonti-Craft - 0285JC Color/Finish:

	P111			
	Bidders:	Qty	Unit Cost	Total Cost
O As Specified	Lakeshore Learning Materials	4	\$275.08	\$1,100.32
Alternate	LAKESHORE - JJ512			
As Specified	Business Interiors By Staples	4	\$279.95	\$1,119.80
O Alternate	Jonti-Craft - 0285JC			
As Specified	Robert H. Lord Co.	4	\$312.39	\$1,249.56
O Alternate	Jonti-Craft - 0285JC			
As Specified	W.B. Mason Co. Inc.	4	\$336.21	\$1,344.84
O Alternate	Jonti-Craft - 0285JC			
O As Specified	Creative Office Pavilion	4	\$402.00	\$1,608.00
Alternate	Kaplan - 17-15854 (see attached)			

© Copyright 2015	Date
Point Line Space, Inc.	02.06.17

Page 14

Zervas Elementary School Newton, MA Architect: Perkins Eastman/DPC

PLS Project No: 2014-PLS-004

*** NOTE: BIDS ARE CURRENTLY UNDER ADVISEMENT ***

CodeItemCodeDescription02.AV.0001Wireless Listening CenterMfg/Model:Hamilton Buhl - LCP/HACX-205/906Color/Finish:Kenter

COIOI/FIIIISII.				
	Bidders:	Qty	Unit Cost	Total Cost
O As Specified	Lakeshore Learning Materials	8	\$183.08	\$1,464.64
Alternate	LAKESHORE - DD518			
O As Specified	Creative Office Pavilion	8	\$283.00	\$2,264.00
Alternate	Kaplan - 17-63307 (see attached)			
As Specified	W.B. Mason Co. Inc.	8	\$291.17	\$2,329.36
O Alternate	Hamilton Buhl - LCP/HACX-205/906			
Code	ItemCodeDescription			
02.BB.0001B Mfg/Model: Color/Finish:	Beanbag Chair, 'Blue' Family Yogibo - Mini Fabric: Turquoise			
	Bidders:	Qty	Unit Cost	Total Cost
O As Specified	Lakeshore Learning Materials	2	\$64.39	\$128.78
Alternate	LAKESHORE - CK3ÓBU			
O As Specified	Creative Office Pavilion	2	\$198.00	\$396.00
O Alternate	Yogibo - Mini			
Code	ItemCodeDescription			
02.BB.0001G				
Mfa/Model:	Beanbag Chair, 'Green' Family Yogibo - Mini Fabric: Green			
Mfa/Model:	Yogibo - Mini	Qty	Unit Cost	Total Cost
Mfg/Model: Color/Finish:	Yogibo - Mini Fabric: Green Bidders: Lakeshore Learning Materials	Qty 2	Unit Cost \$64.39	Total Cost \$128.78
Mfg/Model: Color/Finish: As Specified Alternate	Yogibo - Mini Fabric: Green Bidders: Lakeshore Learning Materials LAKESHORE - CK30GR	2	\$64.39	\$128.78
Mfg/Model: Color/Finish: As Specified Alternate As Specified	Yogibo - Mini Fabric: Green Bidders: Lakeshore Learning Materials LAKESHORE - CK30GR Creative Office Pavilion			
Mfg/Model: Color/Finish: As Specified Alternate	Yogibo - Mini Fabric: Green Bidders: Lakeshore Learning Materials LAKESHORE - CK30GR	2	\$64.39	\$128.78
Mfg/Model: Color/Finish: As Specified Alternate Atternate Code	Yogibo - Mini Fabric: Green Bidders: Lakeshore Learning Materials LAKESHORE - CK30GR Creative Office Pavilion Yogibo - Mini ItemCodeDescription	2	\$64.39	\$128.78
Mfg/Model: Color/Finish: As Specified Alternate Alternate Code 02.BB.0001P Mfg/Model:	Yogibo - Mini Fabric: Green Bidders: Lakeshore Learning Materials LAKESHORE - CK30GR Creative Office Pavilion Yogibo - Mini ItemCodeDescription Beanbag Chair, 'Red' Family	2	\$64.39	\$128.78
Mfg/Model: Color/Finish: As Specified Alternate Alternate Code 02.BB.0001P Mfg/Model:	Yogibo - Mini Fabric: Green Bidders: Lakeshore Learning Materials LAKESHORE - CK30GR Creative Office Pavilion Yogibo - Mini ItemCodeDescription Beanbag Chair, 'Red' Family Yogibo - Mini	2	\$64.39	\$128.78
Mfg/Model: Color/Finish: As Specified Alternate As Specified Alternate Code O2.BB.0001P Mfg/Model: Color/Finish:	Yogibo - Mini Fabric: Green Bidders: Lakeshore Learning Materials LAKESHORE - CK30GR Creative Office Pavilion Yogibo - Mini ItemCodeDescription Beanbag Chair, 'Red' Family Yogibo - Mini Fabric: Purple Bidders: Lakeshore Learning Materials	2	\$64.39 \$198.00	\$128.78 \$396.00
Mfg/Model: Color/Finish: As Specified Alternate Alternate Code 02.BB.0001P Mfg/Model: Color/Finish:	Yogibo - Mini Fabric: Green Bidders: Lakeshore Learning Materials LAKESHORE - CK30GR Creative Office Pavilion Yogibo - Mini ItemCodeDescription Beanbag Chair, 'Red' Family Yogibo - Mini Fabric: Purple Bidders:	2 2 Qty	\$64.39 \$198.00 Unit Cost	\$128.78 \$396.00 Total Cost

O Alternate

Yogibo - Mini

PLS Project No: 2014-PLS-004

*** NOTE: BIDS ARE CURRENTLY UNDER ADVISEMENT ***

Code

ItemCodeDescription

02.BK.W230 Bookcase, 2 Shelf, 30W x 24H

Mfg/Model: TMI Systems Corporation - B1050-3024

Color/Finish: Laminate: Wilsonart, Castle Oak, 7928-38; 3mm PVC Edge: Matching Castle Oak

	Bidders:	Qty	Unit Cost	Total Cost
O As Specified	Lakeshore Learning Materials	80	\$183.08	\$14,646.40
Alternate	LAKESHORE - JJ798			
O As Specified	W.B. Mason Co. Inc.	80	\$205.66	\$16,452.80
Alternate	W.B. Manufacturing - #3024S			
As Specified	School Furnishings, Inc.	80	\$222.28	\$17,782.40
O Alternate	TMI Systems Corporation - B1050-3024			
O As Specified	Robert H. Lord Co.	80	\$246.20	\$19,696.00
Alternate	MEDIA TECHNOLOGIES - BOS.301324.L			
O As Specified	Monitor Equipment Co., Inc.	80	\$298.66	\$23,892.80
Alternate	IRONWOOD - CP000951			
O As Specified	Creative Office Pavilion	80	\$346.00	\$27,680.00
Alternate	HLF Custom - (see attached)			

ItemCodeDescription

Code 02.BK.W230H

Code

0H Bookcase, 2 Shelf, 30W x 30H

Mfg/Model: TMI Systems Corporation - B1050-3030

Color/Finish: Laminate: Wilsonart, Castle Oak, 7928-38; Edge: Matching Castle Oak

	Bidders:	Qty	Unit Cost	Total Cost
As SpecifiedAlternate	Lakeshore Learning Materials LAKESHORE - JJ798	4	\$183.08	\$732.32
 As Specified Alternate 	School Furnishings, Inc. TMI Systems Corporation - B1050-3030	4	\$222.28	\$889.12
As SpecifiedAlternate	W.B. Mason Co. Inc. W.B. Manufacturing - #3030S	4	\$238.68	\$954.72
As SpecifiedAlternate	Robert H. Lord Co. MEDIA TECHNOLOGIES - BOS.301330.L	4	\$248.73	\$994.92
As SpecifiedAlternate	Monitor Equipment Co., Inc. IRONWOOD - CP000952	4	\$341.56	\$1,366.24
As SpecifiedAlternate	Creative Office Pavilion HLF Custom - (see attached)	4	\$371.00	\$1,484.00

ItemCodeDescription

02.BK.W236 Bookcase, 2 Shelf, 36W x 24H

Mfg/Model: TMI Systems Corporation - B1050-3624

Color/Finish: Laminate: Wilsonart, Castle Oak, 7928-38; Edge: Matching Castle Oak

	Bidders:	Qty	Unit Cost	Total Cost
As SpecifiedAlternate	Lakeshore Learning Materials LAKESHORE - JJ798	172	\$183.08	\$31,489.76
 As Specified Alternate 	School Furnishings, Inc. TMI Systems Corporation - B1050-3624	172	\$222.28	\$38,232.16
As SpecifiedAlternate	W.B. Mason Co. Inc. W.B. Manufacturing - #3624S	172	\$244.11	\$41,986.92

© Copyright 2015	Date
Point Line Space, Inc.	02.06.17

Zervas Elementary School Newton, MA Architect: Perkins Eastman/DPC

PLS Project No: 2014-PLS-004

*** NOTE: BIDS ARE CURRENTLY UNDER ADVISEMENT ***

As SpecifiedAlternate	Robert H. Lord Co. MEDIA TECHNOLOGIES - BOS.361324.L	172	\$259.88	\$44,699.36
As SpecifiedAlternate	Monitor Equipment Co., Inc. IRONWOOD - CP000953	172	\$332.93	\$57,263.96
As SpecifiedAlternate	Creative Office Pavilion HLF Custom - (see attached)	172	\$374.00	\$64,328.00

ItemCodeDescription

02.BK.W236H Bookcase, 2 Shelf, 36W x 30H Mfg/Model: TMI Systems Corporation - B1050-3630

Color/Finish: Laminate: Wilsonart, Castle Oak, 7928-38; 3mm PVC Edge: Matching Castle Oak

	Bidders:	Qty	Unit Cost	Total Cost
O As Specified	Lakeshore Learning Materials	20	\$183.08	\$3,661.60
Alternate	LAKESHORE - JJ798			
As Specified	School Furnishings, Inc.	20	\$222.28	\$4,445.60
O Alternate	TMI Systems Corporation - B1050-3630			
O As Specified	W.B. Mason Co. Inc.	20	\$255.34	\$5,106.80
O Alternate	W.B. Manufacturing - #3630S			
O As Specified	Robert H. Lord Co.	20	\$262.13	\$5,242.60
Alternate	MEDIA TECHNOLOGIES - BOS.361330.L			
O As Specified	Monitor Equipment Co., Inc.	20	\$388.01	\$7,760.20
Alternate	IRONWOOD - CP000954			
O As Specified	Creative Office Pavilion	20	\$397.00	\$7,940.00
Alternate	HLF Custom - (see attached)			

Code ItemCodeDescription

02.CB.0012

Code

Cubby Unit, 12 Compartments

Mfg/Model: TMI Systems Corporation - B1220

Color/Finish: Laminate: Wilsonart, Castle Oak, 7928-38; 3mm PVC Edge: Matching Castle Oak

	Bidders:	Qty	Unit Cost	Total Cost
O As Specified	Lakeshore Learning Materials	40	\$367.08	\$14,683.20
Alternate	LAKESHORE - JJ679			
O As Specified	W.B. Mason Co. Inc.	40	\$396.17	\$15,846.80
Alternate	W.B. Manufacturing - #CU12S			
As Specified	School Furnishings, Inc.	40	\$460.28	\$18,411.20
O Alternate	TMI Systems Corporation - B1220			
O As Specified	Monitor Equipment Co., Inc.	40	\$534.89	\$21,395.60
Alternate	IRONWOOD - CP000955			
O As Specified	Robert H. Lord Co.	40	\$536.25	\$21,450.00
Alternate	MEDIA TECHNOLOGIES - WOC-361344.L			
Code	ItemCodeDescription			
02.CM.0024	Mail Unit, 24 Slots, Shelf			
Mfg/Model:	TMI Systems Corporation - B1820(Modified)			
Color/Finish:	Laminate: Wilsonart, Castle Oak, 7928-38; 3mm PVC Edge: Mat	ching Castle	Oak	
	Bidders:	Qty	Unit Cost	Total Cost
O As Specified	Lakeshore Learning Materials	20	\$440.68	\$8,813.60
Alternate	LAKESHORE - JJ854			

© Copyright 2015	Date
Point Line Space, Inc.	02.06.17

Zervas Elementary School Newton, MA <u>Architect:</u> Perkins Eastman/DPC

PLS Project No: 2014-PLS-004

*** NOTE: BIDS ARE CURRENTLY UNDER ADVISEMENT ***

As Specified	School Furnishings, Inc.	20	\$441.64	\$8,832.80
O Alternate	TMI Systems Corporation - B1820(Modified)			
O As Specified	W.B. Mason Co. Inc.	20	\$516.88	\$10,337.60
Alternate	W.B. Manufacturing - #MU24S			
O As Specified	Monitor Equipment Co., Inc.	20	\$542.23	\$10,844.60
Alternate	IRONWOOD - CP000956			
O As Specified	Robert H. Lord Co.	20	\$585.00	\$11,700.00
Alternate	MEDIA TECHNOLOGIES - XWOC-361340.L			
Code	ItemCodeDescription			

02.EL.0001

Code

Mfg/Model: Lakeshore Learning - LM520 Color/Finish:

Easel

	Bidders:	Qty	Unit Cost	Total Cost
As SpecifiedAlternate	Lakeshore Learning Materials LAKESHORE - LM520	20	\$321.08	\$6,421.60
As SpecifiedAlternate	Creative Office Pavilion Kaplan - 17-62662 (see attached)	20	\$368.00	\$7,360.00

ItemCodeDescription

02.EL.0003 Mfg/Model: Copernicus - RC005 Color/Finish:

	Bidders:	Qty	Unit Cost	Total Cost
As SpecifiedAlternate	Lakeshore Learning Materials LAKESHORE - EE333	4	\$146.28	\$585.12
 As Specified Alternate 	Business Interiors By Staples Copernicus - RC005	4	\$251.65	\$1,006.60
 As Specified Alternate 	W.B. Mason Co. Inc. Copernicus - RC005	4	\$279.81	\$1,119.24
As SpecifiedAlternate	Creative Office Pavilion Kaplan - 17-70219 (see attached)	4	\$358.00	\$1,432.00

Code ItemCodeDescription

02.PD.0001 Instructional Podium with Mesh Bookbox, Casters Mfg/Model: Academia - Surge Color/Finish: Hard Plastic Top: Bannister Oak; Frame and Book box: Tungsten

	Bidders:	Qty	Unit Cost	Total Cost
As SpecifiedAlternate	School Furnishings, Inc. Academia - Surge	26	\$337.97	\$8,787.22
Code	ItemCodeDescription			
	Conf. Chair, Arms, Upholstered Seat/Back, Hard Floor Casters Sit-On-It - InFlex, 974-UP-FC2-A121-C12-SC18-FG3 Erame: Silver: Shell: Sterling, SC18: Upholstery: Momentum Lineup	Baltic		

Color/Finish: Frame: Silver; Shell: Sterling, SC18; Upholstery: Momentum, Lineup, Baltic

	Bidders:	Qty	Unit Cost	Total Cost
O As Specified	W.B. Mason Co. Inc.	32	\$207.33	\$6,634.56
Alternate	9to5 - Bella			

© Copyright 2015	Date	Page
Point Line Space, Inc.	02.06.17	18

PLS Project No: 2014-PLS-004

Zervas Elementary School Newton, MA Architect: Perkins Eastman/DPC

 As Specified Alternate 	Creative Office Pavilion Sit-On-It - InFlex, 974-UP-FC2-A121-C12-SC18-FG3	32	\$258.00	\$8,256.00
Code	ItemCodeDescription			
03.CH.00S1 Mfg/Model: Color/Finish:	Chair, Side, Armless, Upholstered Seat, Stackable Sit-On-It - InFlex, 971-US-FC2-A0-G12-FG1 Frame: Silver; Shell: Sterling, SC18; Upholstery: Cosmos, Deep			
	Bidders:	Qty	Unit Cost	Total Cost
As SpecifiedAlternate	Creative Office Pavilion Sit-On-It - InFlex, 971-US-FC2-A0-G12-FG1	24	\$117.00	\$2,808.00
As SpecifiedAlternate	W.B. Mason Co. Inc. 9to5 - Bella	24	\$135.33	\$3,247.92
Code	ItemCodeDescription			
03.CH.00SB Mfg/Model: Color/Finish:	Chair, Side, Armless, Stackable, Lagoon			
	Bidders:	Qty	Unit Cost	Total Cost
As SpecifiedAlternate	Massachusetts Correctional Industries Revelation - CI-RAPNAP/XX/PXX/P	8	\$80.00	\$640.00
As SpecifiedAlternate	Creative Office Pavilion Sit-On-It - InFlex, 971-FC2-A0-G12	8	\$91.00	\$728.00
As Specified Alternate	W.B. Mason Co. Inc. 9to5 - Shuttle	8	\$111.33	\$890.64
Code 03.CH.00SG Mfg/Model: Color/Finish:				
	Bidders:	Qty	Unit Cost	Total Cost
As SpecifiedAlternate	Massachusetts Correctional Industries Revelation - CI-RAPNAP/XX/PXX/P	8	\$80.00	\$640.00
 As Specified Alternate 	Creative Office Pavilion Sit-On-It - InFlex, 971-FC2-A0-G12	8	\$91.00	\$728.00
As SpecifiedAlternate	W.B. Mason Co. Inc. 9to5 - Shuttle	8	\$111.33	\$890.64
		8	\$111.33	\$890.64
Alternate	9to5 - Shuttle ItemCodeDescription Chair, Side, Armless, Stackable, Carotene Sit-On-It - InFlex, 971-FC2-A0-G12	8	\$111.33	\$890.64
Alternate Code 03.CH.00SR Mfg/Model:	9to5 - Shuttle ItemCodeDescription Chair, Side, Armless, Stackable, Carotene Sit-On-It - InFlex, 971-FC2-A0-G12		\$111.33 Unit Cost	\$890.64 Total Cost
Alternate Code 03.CH.00SR Mfg/Model:	9to5 - Shuttle ItemCodeDescription Chair, Side, Armless, Stackable, Carotene Sit-On-It - InFlex, 971-FC2-A0-G12 Frame: Silver; Shell: Carotene	8 Qty 8		
 Alternate Code O3.CH.00SR Mfg/Model: Color/Finish: Color/Finish: 	9to5 - Shuttle ItemCodeDescription Chair, Side, Armless, Stackable, Carotene Sit-On-It - InFlex, 971-FC2-A0-G12 Frame: Silver; Shell: Carotene Bidders: Massachusetts Correctional Industries	Qty	Unit Cost	Total Cost

Zervas Elementary School Newton, MA Architect: Perkins Eastman/DPC

PLS Project No: 2014-PLS-004

*** NOTE: BIDS ARE CURRENTLY UNDER ADVISEMENT ***

Code	ItemCodeDescription
02 CH 06 A1	Chair Cida Arma Umhala

03.CH.0SA1 Chair, Side, Arms, Upholstered Seat and Back, Stackable

Mfg/Model: Sit-On-It - InFlex, 971-UP-FC2-A121-G12-SC18-FG3

Color/Finish: Frame: Silver; Shell: Sterling, SC18; Upholstery: Momentum, Lineup, Baltic

O As Specified W.B. Mason Co. Inc. 6	\$147.60	¢oor co
	φ1 4 7.00	\$885.60
Alternate 9to5 - Bella		
As Specified Creative Office Pavilion 6	\$175.00	\$1,050.00
O Alternate Sit-On-It - InFlex, 971-UP-FC2-A121-G12-SC18-FG3		

ItemCodeDescription

ItemCodeDescription

03.CH.0SA2 Mfg/Model: Color/Finish: Color/Finish

	Bidders:	Qty	Unit Cost	Total Cost
 As Specified Alternate 	Creative Office Pavilion Sit-On-It - InFlex, 971-US-FC2-A121-G12-SC18-FG1	27	\$142.00	\$3,834.00
As SpecifiedAlternate	W.B. Mason Co. Inc. 9to5 - Bella	27	\$153.33	\$4,139.91

Code

Code

03.CO.0001

Code

03.CO.0HA1

001 Chair, Task, Arms, Mid Back, Hard Floor Casters

Mfg/Model: Sit-On-It - Focus, 5622 TB1-A92-MC2-FG3-Z2-C14-S0-LB1 Color/Finish: Mesh Back: Slate; Frame: Silver; Upholstery: Momentum, Lineup, Tranquil

	Bidders:	Qty	Unit Cost	Total Cost
As SpecifiedAlternate	Creative Office Pavilion Sit-On-It - Focus, 5622 TB1-A92-MC2-FG3-Z2-C14-S0-LB1	5	\$310.00	\$1,550.00
As SpecifiedAlternate	W.B. Mason Co. Inc. 9to5 - Aria	5	\$317.33	\$1,586.65

ItemCodeDescription

Chair, Task, Adj. Arms, High Mesh Back

Mfg/Model: Sit-On-It - Focus, 5623 TB1-192-MC2-FG3-Z2-C14-S0-LB1 Color/Finish: Mesh Back: Slate; Frame: Silver; Upholstery: Momentum, Lineup, Tranquil

	Bidders:	Qty	Unit Cost	Total Cost
As Specified	Creative Office Pavilion	2	\$325.00	\$650.00
O Alternate	Sit-On-It - Focus, 5623 TB1-192-MC2-FG3-Z2-C14-S0-LB1			
O As Specified	W.B. Mason Co. Inc.	2	\$339.33	\$678.66
Alternate	9to5 - Aria			
Code	ItemCodeDescription			
03.CT.SC01	Chair, Teacher, Swivel-tilt Task, Armless, Upholstered Seat			

Mfg/Model: Sit-On-It - InFlex, 973B-US-FC2-A0-C14-FG1

Color/Finish: Frame: Silver; Shell: Sterling, SC18; Upholstery: Cosmos, Deep

	Bidders:	Qty	Unit Cost	Total Cost
O As Specified	W.B. Mason Co. Inc.	52	\$203.30	\$10,571.60
Alternate	9to5 - Bella			

© Copyright 2015	Date	Page
Point Line Space, Inc.	02.06.17	20

PLS Project No: 2014-PLS-004

 As Specified Alternate 	Creative Office Pavilion Sit-On-It - InFlex, 973B-US-FC2-A0-C14-FG1	52	\$227.00	\$11,804.00
Code 03.CT.SC01A	ItemCodeDescription Chair, Teacher, Swivel-tilt Task, Armless, Upholstered Seat,			
Mfg/Model: Color/Finish:	Sit-On-It - InFlex, 973B-US-FC2-A0-C15-FG1 Frame: Silver; Shell: Sterling, SC18; Upholstery: Cosmos, Deep			
	Bidders:	Qty	Unit Cost	Total Cost
As SpecifiedAlternate	W.B. Mason Co. Inc. 9to5 - Bella	3	\$199.35	\$598.05
As SpecifiedAlternate	Creative Office Pavilion Sit-On-It - InFlex, 973B-US-FC2-A0-C15-FG1	3	\$213.00	\$639.00
Code	ItemCodeDescription			
04.DD.3066 Mfg/Model: Color/Finish:		ase: Steelca	se, 282 Mist	
	Bidders:	Qty	Unit Cost	Total Cost
As SpecifiedAlternate	W.B. Mason Co. Inc. Haskell - #SD6630FP-BBF-FF	5	\$625.28	\$3,126.40
As SpecifiedAlternate	Massachusetts Correctional Industries Great Openings - Trace	5	\$680.40	\$3,402.00
 As Specified Alternate 	Creative Office Pavilion Great Openings - Trace	5	\$763.00	\$3,815.00
As SpecifiedAlternate	Business Interiors By Staples ALLSTEEL - CADENCE / ESSENTIALS	5	\$902.99	\$4,514.95
Code 04.DD.3066A Mfg/Model: Color/Finish:	ItemCodeDescription Desk, 30x66, Double Pedestal (IEP) Great Openings - Trace Top Laminate: Wilsonart, Amber Cherry, 7919-38; Edge: Amber C	Cherry; Base	: Steelcase, 282	2 Mist
	Bidders:	Qty	Unit Cost	Total Cost
As SpecifiedAlternate	W.B. Mason Co. Inc. Haskell - #SD6630FP-BBF-FF	1	\$625.28	\$625.28
As SpecifiedAlternate	Massachusetts Correctional Industries Great Openings - Trace	1	\$680.40	\$680.40
As SpecifiedAlternate	Creative Office Pavilion Great Openings - Trace	1	\$770.00	\$770.00
As SpecifiedAlternate	Business Interiors By Staples ALLSTEEL - CADENCE / ESSENTIALS	1	\$855.15	\$855.15
Code 04.DL.3072U	ItemCodeDescription Desk 'D' Top , Left Return, Credenza, BBF-FF Peds			
Mfg/Model:	Great Openings - Trace Top: Wilsonart, Amber Cherry, 7919-38; Edge: Amber Cherry; Mc Champagne Herman Miller; Pedestals: Riverway 03Q1	odesty/Leg:	Herman Miller,	744 Metallic
	Bidders:	Qty	Unit Cost	Total Cost
As SpecifiedAlternate	Massachusetts Correctional Industries Great Openings - Trace	1	\$1,194.93	\$1,194.93
© Copyright 2015 Point Line Spac	e, Inc.	Date 02.06.17		Page 21

PLS Project No: 2014-PLS-004

Zervas Elementary School Newton, MA Architect: Perkins Eastman/DPC

11012.8	DS ARE CURRENTLY UNDER ADVISEMENT			
O As Specified	W.B. Mason Co. Inc.	1	\$1,260.44	\$1,260.44
 Alternate 	Haskell - #SCP7230, SR4224, WP24BBF		+ ./=	+ .,
• As Specified	Creative Office Pavilion	1	\$1,350.00	\$1,350.00
O Alternate	Great Openings - Trace	I	\$1,550.00	φ1,530.00
			* 4 400 40	<u></u>
As Specified	Business Interiors By Staples ALLSTEEL - CADENCE / ESSENTIALS	1	\$1,439.19	\$1,439.19
Alternate	ALLSTEEL - CADENCE / ESSENTIALS			
Code	ItemCodeDescription			
04.DR.3072	Desk 'D' Top, 30x72, 42x24 Return-Rt, BBF Ped-Rt			
Mfg/Model:	Great Openings - Trace			
Color/Finish:		k; Modesty/Pe	destal/Leg: Stee	lcase, 282
	Mist			
	Bidders:	Qty	Unit Cost	Total Cost
O As Specified	W.B. Mason Co. Inc.	1	\$741.28	\$741.28
Alternate	Haskell - #SCP7230, SPR4224-BBF			
• As Specified	Massachusetts Correctional Industries	1	\$772.78	\$772.78
O Alternate	Great Openings - Trace		+··	<u> </u>
• As Specified	Creative Office Pavilion	1	\$875.00	\$875.00
O Alternate	Great Openings - Trace	I	\$075.00	\$075.00
			4005 77	+005 77
 As Specified Alternate 	Business Interiors By Staples ALLSTEEL - CADENCE / ESSENTIALS	1	\$925.77	\$925.77
	ALLSTEEL - CADEINCE / ESSENTIALS			
Code	ItemCodeDescription			
04.DR.3072U	Desk 'D' Top , 40"W Right Return, Credenza, BBF-FF Peds			
Mfg/Model:	Great Openings - Trace			
Color/Finish:	Ton: Wilconart Amber Charny 7010 29: Edge: Amber Charny	NA 1 1 //	1.1 N.4*11	744 84 4 111
C0101/1111311.		; Modesty/Leg:	Herman Miller,	744 Metallic
Color/Tillish.	Champagne Herman Miller; Pedestals: Riverway 03Q1	; Modesty/Leg:	: Herman Miller,	744 Metallic
Color/Timish.		; Modesty/Leg: Qty	: Herman Miller, Unit Cost	744 Metallic Total Cost
As Specified	Champagne Herman Miller; Pedestals: Riverway 03Q1 Bidders: Massachusetts Correctional Industries			
	Champagne Herman Miller; Pedestals: Riverway 03Q1 Bidders:	Qty	Unit Cost	Total Cost
As Specified	Champagne Herman Miller; Pedestals: Riverway 03Q1 Bidders: Massachusetts Correctional Industries	Qty	Unit Cost	Total Cost
 As Specified Alternate 	Champagne Herman Miller; Pedestals: Riverway 03Q1 Bidders: Massachusetts Correctional Industries Great Openings - Trace	Qty 1	Unit Cost \$1,194.93	Total Cost \$1,194.93
 As Specified Alternate As Specified Alternate 	Champagne Herman Miller; Pedestals: Riverway 03Q1 Bidders: Massachusetts Correctional Industries Great Openings - Trace W.B. Mason Co. Inc. Haskell - #SCP7230, SR4224, DS7224	Qty 1 1	Unit Cost \$1,194.93 \$1,260.44	Total Cost \$1,194.93 \$1,260.44
 As Specified Alternate As Specified Alternate As Specified As Specified 	Champagne Herman Miller; Pedestals: Riverway 03Q1 Bidders: Massachusetts Correctional Industries Great Openings - Trace W.B. Mason Co. Inc. Haskell - #SCP7230, SR4224, DS7224 Creative Office Pavilion	Qty 1	Unit Cost \$1,194.93	Total Cost \$1,194.93
 As Specified Alternate As Specified Alternate Alternate As Specified Alternate 	Champagne Herman Miller; Pedestals: Riverway 03Q1 Bidders: Massachusetts Correctional Industries Great Openings - Trace W.B. Mason Co. Inc. Haskell - #SCP7230, SR4224, DS7224 Creative Office Pavilion Great Openings - Trace	Qty 1 1 1	Unit Cost \$1,194.93 \$1,260.44 \$1,350.00	Total Cost \$1,194.93 \$1,260.44 \$1,350.00
 As Specified Alternate As Specified Alternate Alternate As Specified Alternate As Specified Alternate 	Champagne Herman Miller; Pedestals: Riverway 03Q1 Bidders: Massachusetts Correctional Industries Great Openings - Trace W.B. Mason Co. Inc. Haskell - #SCP7230, SR4224, DS7224 Creative Office Pavilion Great Openings - Trace Business Interiors By Staples	Qty 1 1	Unit Cost \$1,194.93 \$1,260.44	Total Cost \$1,194.93 \$1,260.44
 As Specified Alternate As Specified Alternate Alternate As Specified Alternate 	Champagne Herman Miller; Pedestals: Riverway 03Q1 Bidders: Massachusetts Correctional Industries Great Openings - Trace W.B. Mason Co. Inc. Haskell - #SCP7230, SR4224, DS7224 Creative Office Pavilion Great Openings - Trace	Qty 1 1 1	Unit Cost \$1,194.93 \$1,260.44 \$1,350.00	Total Cost \$1,194.93 \$1,260.44 \$1,350.00
 As Specified Alternate As Specified Alternate Alternate As Specified Alternate As Specified Alternate 	Champagne Herman Miller; Pedestals: Riverway 03Q1 Bidders: Massachusetts Correctional Industries Great Openings - Trace W.B. Mason Co. Inc. Haskell - #SCP7230, SR4224, DS7224 Creative Office Pavilion Great Openings - Trace Business Interiors By Staples	Qty 1 1 1	Unit Cost \$1,194.93 \$1,260.44 \$1,350.00	Total Cost \$1,194.93 \$1,260.44 \$1,350.00
 As Specified Alternate As Specified Alternate Alternate As Specified Alternate As Specified Alternate As Specified Alternate 	Champagne Herman Miller; Pedestals: Riverway 03Q1 Bidders: Massachusetts Correctional Industries Great Openings - Trace W.B. Mason Co. Inc. Haskell - #SCP7230, SR4224, DS7224 Creative Office Pavilion Great Openings - Trace Business Interiors By Staples ALLSTEEL - CADENCE / ESSENTIALS	Qty 1 1 1	Unit Cost \$1,194.93 \$1,260.44 \$1,350.00	Total Cost \$1,194.93 \$1,260.44 \$1,350.00
 As Specified Alternate Code 	Champagne Herman Miller; Pedestals: Riverway 03Q1 Bidders: Massachusetts Correctional Industries Great Openings - Trace W.B. Mason Co. Inc. Haskell - #SCP7230, SR4224, DS7224 Creative Office Pavilion Great Openings - Trace Business Interiors By Staples ALLSTEEL - CADENCE / ESSENTIALS ItemCodeDescription Desk, "L" Shape 30x72, L/R Grommet, 42x24 Return-Left Great Openings - Trace	Qty 1 1 1 1	Unit Cost \$1,194.93 \$1,260.44 \$1,350.00 \$1,467.02	Total Cost \$1,194.93 \$1,260.44 \$1,350.00 \$1,467.02
 As Specified Alternate Code O4.DS.0001 	Champagne Herman Miller; Pedestals: Riverway 03Q1 Bidders: Massachusetts Correctional Industries Great Openings - Trace W.B. Mason Co. Inc. Haskell - #SCP7230, SR4224, DS7224 Creative Office Pavilion Great Openings - Trace Business Interiors By Staples ALLSTEEL - CADENCE / ESSENTIALS ItemCodeDescription Desk, "L" Shape 30x72, L/R Grommet, 42x24 Return-Left Great Openings - Trace Top: Wilsonart, Amber Cherry, 7919-38; Edge: Amber Cherry	Qty 1 1 1 1	Unit Cost \$1,194.93 \$1,260.44 \$1,350.00 \$1,467.02	Total Cost \$1,194.93 \$1,260.44 \$1,350.00 \$1,467.02
 As Specified Alternate As Specified Alternate As Specified Alternate As Specified Alternate Code O4.DS.0001 Mfg/Model: 	Champagne Herman Miller; Pedestals: Riverway 03Q1 Bidders: Massachusetts Correctional Industries Great Openings - Trace W.B. Mason Co. Inc. Haskell - #SCP7230, SR4224, DS7224 Creative Office Pavilion Great Openings - Trace Business Interiors By Staples ALLSTEEL - CADENCE / ESSENTIALS ItemCodeDescription Desk, "L" Shape 30x72, L/R Grommet, 42x24 Return-Left Great Openings - Trace Top: Wilsonart, Amber Cherry, 7919-38; Edge: Amber Cherry Metallic Champagne; Panel Leg: Knoll 829 Metallic Beige	Qty 1 1 1 1	Unit Cost \$1,194.93 \$1,260.44 \$1,350.00 \$1,467.02	Total Cost \$1,194.93 \$1,260.44 \$1,350.00 \$1,467.02
 As Specified Alternate Code O4.DS.0001 Mfg/Model: Color/Finish: 	Champagne Herman Miller; Pedestals: Riverway 03Q1 Bidders: Massachusetts Correctional Industries Great Openings - Trace W.B. Mason Co. Inc. Haskell - #SCP7230, SR4224, DS7224 Creative Office Pavilion Great Openings - Trace Business Interiors By Staples ALLSTEEL - CADENCE / ESSENTIALS ItemCodeDescription Desk, "L" Shape 30x72, L/R Grommet, 42x24 Return-Left Great Openings - Trace Top: Wilsonart, Amber Cherry, 7919-38; Edge: Amber Cherry Metallic Champagne; Panel Leg: Knoll 829 Metallic Beige Bidders:	Qty 1 1 1 1	Unit Cost \$1,194.93 \$1,260.44 \$1,350.00 \$1,467.02 el: Herman Mille Unit Cost	Total Cost \$1,194.93 \$1,260.44 \$1,350.00 \$1,467.02 r, 744 Total Cost
 As Specified Alternate Code O4.DS.0001 Mfg/Model: Color/Finish: 	Champagne Herman Miller; Pedestals: Riverway 03Q1 Bidders: Massachusetts Correctional Industries Great Openings - Trace W.B. Mason Co. Inc. Haskell - #SCP7230, SR4224, DS7224 Creative Office Pavilion Great Openings - Trace Business Interiors By Staples ALLSTEEL - CADENCE / ESSENTIALS ItemCodeDescription Desk, "L" Shape 30x72, L/R Grommet, 42x24 Return-Left Great Openings - Trace Top: Wilsonart, Amber Cherry, 7919-38; Edge: Amber Cherry Metallic Champagne; Panel Leg: Knoll 829 Metallic Beige Bidders: Business Interiors By Staples	Qty 1 1 1 1 ; Modesty Pane	Unit Cost \$1,194.93 \$1,260.44 \$1,350.00 \$1,467.02 el: Herman Mille	Total Cost \$1,194.93 \$1,260.44 \$1,350.00 \$1,467.02 r, 744
 As Specified Alternate Code O4.DS.0001 Mfg/Model: Color/Finish: 	Champagne Herman Miller; Pedestals: Riverway 03Q1 Bidders: Massachusetts Correctional Industries Great Openings - Trace W.B. Mason Co. Inc. Haskell - #SCP7230, SR4224, DS7224 Creative Office Pavilion Great Openings - Trace Business Interiors By Staples ALLSTEEL - CADENCE / ESSENTIALS ItemCodeDescription Desk, "L" Shape 30x72, L/R Grommet, 42x24 Return-Left Great Openings - Trace Top: Wilsonart, Amber Cherry, 7919-38; Edge: Amber Cherry Metallic Champagne; Panel Leg: Knoll 829 Metallic Beige Bidders:	Qty 1 1 1 1 1 ; Modesty Pane Qty	Unit Cost \$1,194.93 \$1,260.44 \$1,350.00 \$1,467.02 el: Herman Mille Unit Cost	Total Cost \$1,194.93 \$1,260.44 \$1,350.00 \$1,467.02 r, 744 Total Cost
 As Specified Alternate Code O4.DS.0001 Mfg/Model: Color/Finish: 	Champagne Herman Miller; Pedestals: Riverway 03Q1 Bidders: Massachusetts Correctional Industries Great Openings - Trace W.B. Mason Co. Inc. Haskell - #SCP7230, SR4224, DS7224 Creative Office Pavilion Great Openings - Trace Business Interiors By Staples ALLSTEEL - CADENCE / ESSENTIALS ItemCodeDescription Desk, "L" Shape 30x72, L/R Grommet, 42x24 Return-Left Great Openings - Trace Top: Wilsonart, Amber Cherry, 7919-38; Edge: Amber Cherry Metallic Champagne; Panel Leg: Knoll 829 Metallic Beige Bidders: Business Interiors By Staples	Qty 1 1 1 1 1 ; Modesty Pane Qty	Unit Cost \$1,194.93 \$1,260.44 \$1,350.00 \$1,467.02 el: Herman Mille Unit Cost	Total Cost \$1,194.93 \$1,260.44 \$1,350.00 \$1,467.02 r, 744 Total Cost
 As Specified Alternate As Specified Alternate As Specified Alternate As Specified Alternate Code 04.DS.0001 Mfg/Model: Color/Finish: Color/Finish:	Champagne Herman Miller; Pedestals: Riverway 03Q1 Bidders: Massachusetts Correctional Industries Great Openings - Trace W.B. Mason Co. Inc. Haskell - #SCP7230, SR4224, DS7224 Creative Office Pavilion Great Openings - Trace Business Interiors By Staples ALLSTEEL - CADENCE / ESSENTIALS ItemCodeDescription Desk, "L" Shape 30x72, L/R Grommet, 42x24 Return-Left Great Openings - Trace Top: Wilsonart, Amber Cherry, 7919-38; Edge: Amber Cherry Metallic Champagne; Panel Leg: Knoll 829 Metallic Beige Bidders: Business Interiors By Staples ALLSTEEL - CADENCE / ESSENTIALS	Qty 1 1 1 1 1 ; Modesty Pane Qty 1	Unit Cost \$1,194.93 \$1,260.44 \$1,350.00 \$1,467.02 el: Herman Mille Unit Cost \$598.15	Total Cost \$1,194.93 \$1,260.44 \$1,350.00 \$1,467.02 r, 744 Total Cost \$598.15
 As Specified Alternate 	Champagne Herman Miller; Pedestals: Riverway 03Q1 Bidders: Massachusetts Correctional Industries Great Openings - Trace W.B. Mason Co. Inc. Haskell - #SCP7230, SR4224, DS7224 Creative Office Pavilion Great Openings - Trace Business Interiors By Staples ALLSTEEL - CADENCE / ESSENTIALS ItemCodeDescription Desk, "L" Shape 30x72, L/R Grommet, 42x24 Return-Left Great Openings - Trace Top: Wilsonart, Amber Cherry, 7919-38; Edge: Amber Cherry Metallic Champagne; Panel Leg: Knoll 829 Metallic Beige Bidders: Business Interiors By Staples ALLSTEEL - CADENCE / ESSENTIALS W.B. Mason Co. Inc. Haskell - #DS7230, SR4224	Qty 1 1 1 1 1 1 1 1 1 1 2 1 2 1 1	Unit Cost \$1,194.93 \$1,260.44 \$1,350.00 \$1,467.02 el: Herman Mille Unit Cost \$598.15 \$624.17	Total Cost \$1,194.93 \$1,260.44 \$1,350.00 \$1,467.02 r, 744 Total Cost \$598.15 \$624.17
 As Specified Alternate As Specified Alternate As Specified Alternate As Specified Alternate Code O4.DS.0001 Mfg/Model: Color/Finish: As Specified Alternate As Specified As Specified As Specified As Specified 	Champagne Herman Miller; Pedestals: Riverway 03Q1 Bidders: Massachusetts Correctional Industries Great Openings - Trace W.B. Mason Co. Inc. Haskell - #SCP7230, SR4224, DS7224 Creative Office Pavilion Great Openings - Trace Business Interiors By Staples ALLSTEEL - CADENCE / ESSENTIALS ItemCodeDescription Desk, "L" Shape 30x72, L/R Grommet, 42x24 Return-Left Great Openings - Trace Top: Wilsonart, Amber Cherry, 7919-38; Edge: Amber Cherry Metallic Champagne; Panel Leg: Knoll 829 Metallic Beige Bidders: Business Interiors By Staples ALLSTEEL - CADENCE / ESSENTIALS W.B. Mason Co. Inc. Haskell - #DS7230, SR4224 Massachusetts Correctional Industries	Qty 1 1 1 1 1 ; Modesty Pane Qty 1	Unit Cost \$1,194.93 \$1,260.44 \$1,350.00 \$1,467.02 el: Herman Mille Unit Cost \$598.15	Total Cost \$1,194.93 \$1,260.44 \$1,350.00 \$1,467.02 r, 744 Total Cost \$598.15
 As Specified Alternate 	Champagne Herman Miller; Pedestals: Riverway 03Q1 Bidders: Massachusetts Correctional Industries Great Openings - Trace W.B. Mason Co. Inc. Haskell - #SCP7230, SR4224, DS7224 Creative Office Pavilion Great Openings - Trace Business Interiors By Staples ALLSTEEL - CADENCE / ESSENTIALS ItemCodeDescription Desk, "L" Shape 30x72, L/R Grommet, 42x24 Return-Left Great Openings - Trace Top: Wilsonart, Amber Cherry, 7919-38; Edge: Amber Cherry Metallic Champagne; Panel Leg: Knoll 829 Metallic Beige Bidders: Business Interiors By Staples ALLSTEEL - CADENCE / ESSENTIALS W.B. Mason Co. Inc. Haskell - #DS7230, SR4224 Massachusetts Correctional Industries Great Openings - Trace	Qty 1 1 1 1 1 1 1 1 ; Modesty Pane Qty 1 1 1 1	Unit Cost \$1,194.93 \$1,260.44 \$1,350.00 \$1,467.02 \$1,467	Total Cost \$1,194.93 \$1,260.44 \$1,350.00 \$1,467.02 \$1,467.02 r, 744 <u>Total Cost</u> \$598.15 \$624.17 \$632.92
 As Specified Alternate As Specified Alternate As Specified Alternate As Specified Alternate Code Alternate Code 04.DS.0001 Mfg/Model: Color/Finish: Color/Finish: As Specified Alternate As Specified As Specified As Specified As Specified As Specified As Specified	Champagne Herman Miller; Pedestals: Riverway 03Q1 Bidders: Massachusetts Correctional Industries Great Openings - Trace W.B. Mason Co. Inc. Haskell - #SCP7230, SR4224, DS7224 Creative Office Pavilion Great Openings - Trace Business Interiors By Staples ALLSTEEL - CADENCE / ESSENTIALS ItemCodeDescription Desk, "L" Shape 30x72, L/R Grommet, 42x24 Return-Left Great Openings - Trace Top: Wilsonart, Amber Cherry, 7919-38; Edge: Amber Cherry Metallic Champagne; Panel Leg: Knoll 829 Metallic Beige Bidders: Business Interiors By Staples ALLSTEEL - CADENCE / ESSENTIALS W.B. Mason Co. Inc. Haskell - #DS7230, SR4224 Massachusetts Correctional Industries	Qty 1 1 1 1 1 1 1 1 1 1 2 1 2 1 1	Unit Cost \$1,194.93 \$1,260.44 \$1,350.00 \$1,467.02 el: Herman Mille Unit Cost \$598.15 \$624.17	Total Cost \$1,194.93 \$1,260.44 \$1,350.00 \$1,467.02 r, 744 Total Cost \$598.15 \$624.17

PLS Project No: 2014-PLS-004

Code	ItemCodeDescription			
04.DS.0002 Mfg/Model: Color/Finish:	Work Surface Top, 30x72, No Grommet Great Openings - Trace Top: Wilsonart, Amber Cherry, 7919-38; Edge: Amber Cher Metallic Champagne; Panel Leg: Knoll 829 Metallic Beige	ry; Modesty Panel	l: Herman Miller	, 744
	Bidders:	Qty	Unit Cost	Total Cost
As SpecifiedAlternate	Business Interiors By Staples ALLSTEEL - CADENCE / ESSENTIALS	1	\$309.99	\$309.99
As SpecifiedAlternate	W.B. Mason Co. Inc. Haskell - #MDDS7230	1	\$423.88	\$423.88
As SpecifiedAlternate	Creative Office Pavilion Great Openings - Trace	1	\$440.00	\$440.00
 As Specified Alternate 	Massachusetts Correctional Industries Great Openings - Trace	1	\$632.92	\$632.92
Code	ItemCodeDescription			
04.DS.0003 Mfg/Model: Color/Finish:	Desk, "L" Shape 30x72, L/R Grommet, 42x24 Return-Righ Great Openings - Trace Top: Wilsonart, Amber Cherry, 7919-38; Edge: Amber Cher Metallic Champagne; Panel Leg: Knoll 829 Metallic Beige		l: Herman Miller	, 744
	Bidders:	Qty	Unit Cost	Total Cost
As SpecifiedAlternate	Business Interiors By Staples ALLSTEEL - CADENCE / ESSENTIALS	1	\$613.85	\$613.85
As SpecifiedAlternate	W.B. Mason Co. Inc. Haskell - #DS7230, SR4224	1	\$624.17	\$624.17
 As Specified Alternate 	Massachusetts Correctional Industries Great Openings - Trace	1	\$632.92	\$632.92
 As Specified Alternate 	Creative Office Pavilion Great Openings - Trace	1	\$660.00	\$660.00
Code	ItemCodeDescription			
04.DS.0004 Mfg/Model:	Transaction Counter Great Openings - TAC36 Top: Wilsonart, Amber Cherry, 7919-38; Edge: Amber Cher Champagne; Fabric: 7J Steel	ry; Metal: Herman	Miller, 744 Met	tallic
	Bidders:	Qty	Unit Cost	Total Cost
 As Specified Alternate 	Massachusetts Correctional Industries Great Openings - TAC36	2	\$194.48	\$388.96
 As Specified Alternate 	Creative Office Pavilion Great Openings - TAC36	2	\$209.00	\$418.00
As SpecifiedAlternate	W.B. Mason Co. Inc. Haskell - #TRANS36	2	\$241.88	\$483.76
Code	ItemCodeDescription			
04.DS.0005 Mfg/Model:	Bookcase, 2 Shelf (1 Adj), 30W Great Openings - GBS-3028 "Riverway", 03Q1			
	Bidders:	Qty	Unit Cost	Total Cost
 As Specified Alternate 	Massachusetts Correctional Industries Great Openings - GBS-3028	1	\$194.48	\$194.48

© Copyright 2015	Date	Page
Point Line Space, Inc.	02.06.17	23

PLS Project No: 2014-PLS-004

	NO. 2014-PLS-004 AICHIECI. PEIKIr	is easiman/Di	C	
*** NOTE: BI	DS ARE CURRENTLY UNDER ADVISEMENT **	*		
	W/P Masar Calles	1	¢100.25	¢100.25
 As Specified Alternate 	W.B. Mason Co. Inc. Haskell - #BC215-30	1	\$199.25	\$199.25
-				
As Specified	Creative Office Pavilion	1	\$209.00	\$209.00
O Alternate	Great Openings - GBS-3028			
O As Specified	Business Interiors By Staples	1	\$218.00	\$218.00
Alternate	ALLSTEEL - ESSENTIALS			
Code	ItemCodeDescription			
04.DS.0006	File, Vertical, 2 Drawer, FF Mobile, 18"D			
Mfg/Model:	Great Openings - Trace, EL-2009			
Color/Finish:	"Riverway", 03Q1			
	Bidders:	Qty	Unit Cost	Total Cost
As Specified	Massachusetts Correctional Industries	2	\$156.16	\$312.32
O Alternate	Great Openings - Trace, EL-2009			
O As Specified	W.B. Mason Co. Inc.	2	\$164.88	\$329.76
Alternate	Haskell - #MP18FF			
O As Specified	Creative Office Pavilion	2	\$170.00	\$340.00
O Alternate	Great Openings - Trace, EL-2009			
O As Specified	Business Interiors By Staples	2	\$257.89	\$515.78
Alternate	ALLSTEEL - ESSENTIALS			
Code	ItemCodeDescription			
04.DS.0007	File, Vertical, 3 Drawer, BBF Mobile, 18"D			
Mfg/Model:				
Color/Finish:				
	raverway, ober			
	Bidders:	Qty	Unit Cost	Total Cost
O As Specified	Bidders: W.B. Mason Co. Inc.	Qty 2	Unit Cost \$170.72	Total Cost \$341.44
	Bidders:			
 As Specified Alternate 	Bidders: W.B. Mason Co. Inc.			
O As Specified	Bidders: W.B. Mason Co. Inc. Haskell - #MP18BBF	2	\$170.72	\$341.44
 As Specified Alternate As Specified Alternate 	Bidders: W.B. Mason Co. Inc. Haskell - #MP18BBF Massachusetts Correctional Industries Great Openings - Trace, EL-2011	2	\$170.72 \$172.46	\$341.44 \$344.92
 As Specified Alternate As Specified 	Bidders: W.B. Mason Co. Inc. Haskell - #MP18BBF Massachusetts Correctional Industries	2	\$170.72	\$341.44
 As Specified Alternate As Specified Alternate Alternate As Specified Alternate 	Bidders: W.B. Mason Co. Inc. Haskell - #MP18BBF Massachusetts Correctional Industries Great Openings - Trace, EL-2011 Creative Office Pavilion Great Openings - Trace, EL-2011	2 2 2	\$170.72 \$172.46 \$193.00	\$341.44 \$344.92 \$386.00
 As Specified Alternate As Specified Alternate As Specified As Specified 	Bidders: W.B. Mason Co. Inc. Haskell - #MP18BBF Massachusetts Correctional Industries Great Openings - Trace, EL-2011 Creative Office Pavilion	2	\$170.72 \$172.46	\$341.44 \$344.92
 As Specified Alternate As Specified Alternate Alternate As Specified Alternate As Specified Alternate As Specified Alternate 	Bidders: W.B. Mason Co. Inc. Haskell - #MP18BBF Massachusetts Correctional Industries Great Openings - Trace, EL-2011 Creative Office Pavilion Great Openings - Trace, EL-2011 Business Interiors By Staples ALLSTEEL - ESSENTIALS	2 2 2	\$170.72 \$172.46 \$193.00	\$341.44 \$344.92 \$386.00
 As Specified Alternate Code 	Bidders: W.B. Mason Co. Inc. Haskell - #MP18BBF Massachusetts Correctional Industries Great Openings - Trace, EL-2011 Creative Office Pavilion Great Openings - Trace, EL-2011 Business Interiors By Staples ALLSTEEL - ESSENTIALS	2 2 2	\$170.72 \$172.46 \$193.00	\$341.44 \$344.92 \$386.00
 As Specified Alternate Code 04.DT.2454 	Bidders: W.B. Mason Co. Inc. Haskell - #MP18BBF Massachusetts Correctional Industries Great Openings - Trace, EL-2011 Creative Office Pavilion Great Openings - Trace, EL-2011 Business Interiors By Staples ALLSTEEL - ESSENTIALS ItemCodeDescription Desk, Teacher, Single Right Pedestal, Mobile	2 2 2	\$170.72 \$172.46 \$193.00	\$341.44 \$344.92 \$386.00
 As Specified Alternate Code O4.DT.2454 Mfg/Model: 	Bidders: W.B. Mason Co. Inc. Haskell - #MP18BBF Massachusetts Correctional Industries Great Openings - Trace, EL-2011 Creative Office Pavilion Great Openings - Trace, EL-2011 Business Interiors By Staples ALLSTEEL - ESSENTIALS ItemCodeDescription Desk, Teacher, Single Right Pedestal, Mobile Smith System - 26159	2 2 2 2	\$170.72 \$172.46 \$193.00	\$341.44 \$344.92 \$386.00
 As Specified Alternate Code 04.DT.2454 	Bidders: W.B. Mason Co. Inc. Haskell - #MP18BBF Massachusetts Correctional Industries Great Openings - Trace, EL-2011 Creative Office Pavilion Great Openings - Trace, EL-2011 Business Interiors By Staples ALLSTEEL - ESSENTIALS ItemCodeDescription Desk, Teacher, Single Right Pedestal, Mobile Smith System - 26159	2 2 2 2	\$170.72 \$172.46 \$193.00	\$341.44 \$344.92 \$386.00
 As Specified Alternate Code O4.DT.2454 Mfg/Model: 	Bidders: W.B. Mason Co. Inc. Haskell - #MP18BBF Massachusetts Correctional Industries Great Openings - Trace, EL-2011 Creative Office Pavilion Great Openings - Trace, EL-2011 Business Interiors By Staples ALLSTEEL - ESSENTIALS ItemCodeDescription Desk, Teacher, Single Right Pedestal, Mobile Smith System - 26159	2 2 2 2	\$170.72 \$172.46 \$193.00	\$341.44 \$344.92 \$386.00
 As Specified Alternate Code O4.DT.2454 Mfg/Model: 	Bidders: W.B. Mason Co. Inc. Haskell - #MP18BBF Massachusetts Correctional Industries Great Openings - Trace, EL-2011 Creative Office Pavilion Great Openings - Trace, EL-2011 Business Interiors By Staples ALLSTEEL - ESSENTIALS ItemCodeDescription Desk, Teacher, Single Right Pedestal, Mobile Smith System - 26159 Top Laminate: Wilsonart, Grey Glace, 4142-60; Edge: Navy;	2 2 2 2 3 Base: Platinum	\$170.72 \$172.46 \$193.00 \$257.89	\$341.44 \$344.92 \$386.00 \$515.78
 As Specified Alternate As Specified Alternate As Specified Alternate As Specified Alternate Code O4.DT.2454 Mfg/Model: Color/Finish: 	Bidders: W.B. Mason Co. Inc. Haskell - #MP18BBF Massachusetts Correctional Industries Great Openings - Trace, EL-2011 Creative Office Pavilion Great Openings - Trace, EL-2011 Business Interiors By Staples ALLSTEEL - ESSENTIALS ItemCodeDescription Desk, Teacher, Single Right Pedestal, Mobile Smith System - 26159 Top Laminate: Wilsonart, Grey Glace, 4142-60; Edge: Navy; Bidders:	2 2 2 3 3 5 Base: Platinum Qty	\$170.72 \$172.46 \$193.00 \$257.89 Unit Cost	\$341.44 \$344.92 \$386.00 \$515.78
 As Specified Alternate As Specified Alternate As Specified Alternate As Specified Alternate Code 04.DT.2454 Mfg/Model: Color/Finish: O As Specified As Specified Alternate	Bidders: W.B. Mason Co. Inc. Haskell - #MP18BBF Massachusetts Correctional Industries Great Openings - Trace, EL-2011 Creative Office Pavilion Great Openings - Trace, EL-2011 Business Interiors By Staples ALLSTEEL - ESSENTIALS ItemCodeDescription Desk, Teacher, Single Right Pedestal, Mobile Smith System - 26159 Top Laminate: Wilsonart, Grey Glace, 4142-60; Edge: Navy; Bidders: W.B. Mason Co. Inc. Haskell - #CSED.2454	2 2 2 3 3 5 Base: Platinum Qty 45	\$170.72 \$172.46 \$193.00 \$257.89 Unit Cost \$391.95	\$341.44 \$344.92 \$386.00 \$515.78 Total Cost \$17,637.75
 As Specified Alternate As Specified Alternate As Specified Alternate As Specified Alternate Code O4.DT.2454 Mfg/Model: Color/Finish: 	Bidders: W.B. Mason Co. Inc. Haskell - #MP18BBF Massachusetts Correctional Industries Great Openings - Trace, EL-2011 Creative Office Pavilion Great Openings - Trace, EL-2011 Business Interiors By Staples ALLSTEEL - ESSENTIALS ItemCodeDescription Desk, Teacher, Single Right Pedestal, Mobile Smith System - 26159 Top Laminate: Wilsonart, Grey Glace, 4142-60; Edge: Navy; Bidders: W.B. Mason Co. Inc.	2 2 2 3 3 5 Base: Platinum Qty	\$170.72 \$172.46 \$193.00 \$257.89 Unit Cost	\$341.44 \$344.92 \$386.00 \$515.78
 As Specified Alternate As Specified Alternate As Specified Alternate As Specified Alternate Code 04.DT.2454 Mfg/Model: Color/Finish: Color/Finish: As Specified Atternate As Specified	Bidders: W.B. Mason Co. Inc. Haskell - #MP18BBF Massachusetts Correctional Industries Great Openings - Trace, EL-2011 Creative Office Pavilion Great Openings - Trace, EL-2011 Business Interiors By Staples ALLSTEEL - ESSENTIALS ItemCodeDescription Desk, Teacher, Single Right Pedestal, Mobile Smith System - 26159 Top Laminate: Wilsonart, Grey Glace, 4142-60; Edge: Navy; Bidders: W.B. Mason Co. Inc. Haskell - #CSED.2454 Massachusetts Correctional Industries	2 2 2 3 3 5 Base: Platinum Qty 45	\$170.72 \$172.46 \$193.00 \$257.89 Unit Cost \$391.95	\$341.44 \$344.92 \$386.00 \$515.78 Total Cost \$17,637.75

O Alternate	Smith System - 26159		
O As Specified	Creative Office Pavilion	45	\$595.00
Alternate	Custom GO and Surfaceworks - See attached		

\$26,775.00

PLS Project No: 2014-PLS-004

Page 25

	• As Specified	Robert H. Lord Co.	45	\$645.31	\$29,038.95
	O Alternate	Smith System - 26159			
	Code	ItemCodeDescription			
	04.TB.0042	Table, Round, 42" Diameter			
	Mfg/Model:	Surface Works - PTE.D.42.T4 Extol Top: #190, Corteza Veer; Edge: #190, Corteza Veer; Base: 460	6 Champagne M	etallic	
	Colory mish.	100. * 150, concert 100, rage. * 150, concert 100, base. 10	e champagne m	etame	
		Bidders:	Qty	Unit Cost	Total Cost
	O As Specified	Lakeshore Learning Materials	1	\$210.68	\$210.68
	Alternate	LAKESHORE - CN421			
	O As Specified	Creative Office Pavilion	1	\$342.00	\$342.00
	O Alternate	Surface Works - PTE.D.42.T4 Extol			
	O As Specified	W.B. Mason Co. Inc.	1	\$360.89	\$360.89
	Alternate	Special T - Classix CLSX-42			
	 As Specified Alternate 	Robert H. Lord Co. SPECIAL T - CLSX.42	1	\$381.69	\$381.69
				+=====	+=====
	 As Specified Alternate 	Massachusetts Correctional Industries Barron - B35FX/64E/LXX/XX	1	\$526.59	\$526.59
_	-				
	Code	ItemCodeDescription			
	04.TB.0048 Mfg/Model:	Table, Round, 48" Diameter Surface Works - PTE.D.48.T4 Extol			
	Color/Finish:	Top: Wilsonart, Amber Cherry, 7919-38; Edge: Amber Cherry	; Base: 431 Meta	llic Silver	
		Bidders:	Qty	Unit Cost	Total Cost
	 As Specified Alternate 	Lakeshore Learning Materials LAKESHORE - CN423	1	\$219.88	\$219.88
	-				
	 As Specified Alternate 	Creative Office Pavilion Surface Works - PTE.D.48.T4 Extol	1	\$382.00	\$382.00
		W.B. Mason Co. Inc.	1	\$409.78	\$409.78
	 As Specified Alternate 	Special T - Classix CLSX-48	I	\$409.70	\$409.76
	O As Specified	Robert H. Lord Co.	1	\$434.70	\$434.70
	 As specified Alternate 	SPECIAL T - CLSX.48	1	\$454.70	\$454.70
	O As Specified	Massachusetts Correctional Industries	1	\$581.83	\$581.83
	 Alternate 	Barron - B4FX/64E/LXX/XX		<i>+00100</i>	<u> </u>
	Code	ItemCodeDescription			
	04.TB.3060	Table, Rectangular, 30x60			
	Mfg/Model:	Surface Works - TTE.R.3060.EBR			
	Color/Finish:	Top Laminate: Wilsonart, Solar Oak, 7816-60; Edge: Solar Oa	ik; Base: 431 Met	allic Silver	
		Bidders:	Otra	Linit Cost	Total Cost
	O As Specified	Lakeshore Learning Materials	Qty 5	Unit Cost \$183.08	Total Cost \$915.40
	 As specified Alternate 	LAKESHORE - CN451	5	φ105.00	φυτυ .τ υ
	• As Specified	Creative Office Pavilion	5	\$329.00	\$1,645.00
	O Alternate	Surface Works - TTE.R.3060.EBR		T = 2100	+ .,0.00
	O As Specified	W.B. Mason Co. Inc.	5	\$332.44	\$1,662.20
	O Alternate	Special T - Kingston KING-3060			
				¢250.04	<i>\$1.751.00</i>

O As Specified	Robert H. Lord Co.	5	\$350.84	\$1,754.20
O Alternate	SPECIAL T - KING.3060			

© Copyright 2015	Date
Point Line Space, Inc.	02.06.17

Zervas Elementary School Newton, MA Architect: Perkins Eastman/DPC

PLS Project No: 2014-PLS-004

As SpecifiedAlternate	Massachusetts Correctional Industries Barron - B255F/64E/LXX/XX	5	\$474.01	\$2,370.05
Code	ItemCodeDescription			
04.TB.3660 Mfg/Model: Color/Finish:	Table, Rectangular, 36x60 Surface Works - TTE.R.3660.EBR Top: #190, Corteza Veer; Edge: #190, Corteza Veer; Base:	466 Champagne M	letallic	
	Bidders:	Qty	Unit Cost	Total Cost
As SpecifiedAlternate	Lakeshore Learning Materials LAKESHORE - CN451	4	\$183.08	\$732.32
As SpecifiedAlternate	Creative Office Pavilion Surface Works - TTE.R.3660.EBR	4	\$363.00	\$1,452.00
As SpecifiedAlternate	W.B. Mason Co. Inc. Special T - Kingston KING-3660	4	\$403.90	\$1,615.60
As SpecifiedAlternate	Robert H. Lord Co. SPECIAL T - KING.3660	4	\$428.34	\$1,713.36
As SpecifiedAlternate	Massachusetts Correctional Industries Barron - B35F/64E/LXX/XX	4	\$505.65	\$2,022.60
Code	ItemCodeDescription			
04.TB.3660A Mfg/Model: Color/Finish:	Table, Conference, 36x60 Surface Works - TTE.R.3660.EBR Top: Wilsonart, Amber Cherry, 7919-38; Edge: Amber Ch	erry; Base: 431 Meta	allic Silver	
Mfg/Model:	Surface Works - TTE.R.3660.EBR	erry; Base: 431 Meta _{Qty}	allic Silver Unit Cost	Total Cost
Mfg/Model:	Surface Works - TTE.R.3660.EBR Top: Wilsonart, Amber Cherry, 7919-38; Edge: Amber Ch			Total Cost \$726.00
Mfg/Model: Color/Finish: As Specified	Surface Works - TTE.R.3660.EBR Top: Wilsonart, Amber Cherry, 7919-38; Edge: Amber Ch Bidders: Creative Office Pavilion	Qty	Unit Cost	
Mfg/Model: Color/Finish: As Specified Alternate	Surface Works - TTE.R.3660.EBR Top: Wilsonart, Amber Cherry, 7919-38; Edge: Amber Ch Bidders: Creative Office Pavilion Surface Works - TTE.R.3660.EBR W.B. Mason Co. Inc.	Qty 2	Unit Cost \$363.00	\$726.00
Mfg/Model: Color/Finish: As Specified Alternate Alternate Alternate As Specified As Specified	Surface Works - TTE.R.3660.EBR Top: Wilsonart, Amber Cherry, 7919-38; Edge: Amber Ch Bidders: Creative Office Pavilion Surface Works - TTE.R.3660.EBR W.B. Mason Co. Inc. Special T - Kingston KING-3660 Robert H. Lord Co.	Qty 2 2	Unit Cost \$363.00 \$403.90	\$726.00 \$807.80
Mfg/Model: Color/Finish: As Specified Alternate Alternate Alternate Alternate Alternate Alternate Alternate	Surface Works - TTE.R.3660.EBR Top: Wilsonart, Amber Cherry, 7919-38; Edge: Amber Ch Bidders: Creative Office Pavilion Surface Works - TTE.R.3660.EBR W.B. Mason Co. Inc. Special T - Kingston KING-3660 Robert H. Lord Co. SPECIAL T - KING.3660 Massachusetts Correctional Industries	2 2 2 2	Unit Cost \$363.00 \$403.90 \$428.34	\$726.00 \$807.80 \$856.68
Mfg/Model: Color/Finish: Alternate Alternate Alternate Alternate Alternate Alternate Alternate Alternate Alternate	Surface Works - TTE.R.3660.EBR Top: Wilsonart, Amber Cherry, 7919-38; Edge: Amber Ch Bidders: Creative Office Pavilion Surface Works - TTE.R.3660.EBR W.B. Mason Co. Inc. Special T - Kingston KING-3660 Robert H. Lord Co. SPECIAL T - KING.3660 Massachusetts Correctional Industries Barron - B35F/64E/LXX/XX ItemCodeDescription Table, Conference, 42x84 Surface Works - TTE.R.4284	2 2 2 2 2	Unit Cost \$363.00 \$403.90 \$428.34 \$505.65	\$726.00 \$807.80 \$856.68
Mfg/Model: Color/Finish: As Specified Alternate Alternate Alternate Alternate Alternate Alternate Code 04.TB.4284 Mfg/Model:	Surface Works - TTE.R.3660.EBR Top: Wilsonart, Amber Cherry, 7919-38; Edge: Amber Ch Bidders: Creative Office Pavilion Surface Works - TTE.R.3660.EBR W.B. Mason Co. Inc. Special T - Kingston KING-3660 Robert H. Lord Co. SPECIAL T - KING.3660 Massachusetts Correctional Industries Barron - B35F/64E/LXX/XX ItemCodeDescription Table, Conference, 42x84 Surface Works - TTE.R.4284 Top: Wilsonart, Amber Cherry, 7919-38; Edge: Amber Ch	Qty 2 2 2 2 2 erry; Base: 431 Meta	Unit Cost \$363.00 \$403.90 \$428.34 \$505.65	\$726.00 \$807.80 \$856.68 \$1,011.30
Mfg/Model: Color/Finish: As Specified Alternate Alternate Alternate Alternate Alternate Alternate Code 04.TB.4284 Mfg/Model:	Surface Works - TTE.R.3660.EBR Top: Wilsonart, Amber Cherry, 7919-38; Edge: Amber Ch Bidders: Creative Office Pavilion Surface Works - TTE.R.3660.EBR W.B. Mason Co. Inc. Special T - Kingston KING-3660 Robert H. Lord Co. SPECIAL T - KING.3660 Massachusetts Correctional Industries Barron - B35F/64E/LXX/XX ItemCodeDescription Table, Conference, 42x84 Surface Works - TTE.R.4284	2 2 2 2 2	Unit Cost \$363.00 \$403.90 \$428.34 \$505.65	\$726.00 \$807.80 \$856.68
Mfg/Model: Color/Finish: Alternate Alternate Alternate As Specified Alternate As Specified Alternate As Specified Alternate Code 04.TB.4284 Mfg/Model: Color/Finish:	Surface Works - TTE.R.3660.EBR Top: Wilsonart, Amber Cherry, 7919-38; Edge: Amber Ch Bidders: Creative Office Pavilion Surface Works - TTE.R.3660.EBR W.B. Mason Co. Inc. Special T - Kingston KING-3660 Robert H. Lord Co. SPECIAL T - KING.3660 Massachusetts Correctional Industries Barron - B35F/64E/LXX/XX ItemCodeDescription Table, Conference, 42x84 Surface Works - TTE.R.4284 Top: Wilsonart, Amber Cherry, 7919-38; Edge: Amber Ch Bidders: Creative Office Pavilion	Qty 2 2 2 2 2 erry; Base: 431 Meta	Unit Cost \$363.00 \$403.90 \$428.34 \$505.65 allic Silver Unit Cost	\$726.00 \$807.80 \$856.68 \$1,011.30
Mfg/Model: Color/Finish: Alternate Alternate Alternate As Specified Alternate As Specified Alternate Code O4.TB.4284 Mfg/Model: Color/Finish: Alternate O As Specified Alternate O As Specified Alternate	Surface Works - TTE.R.3660.EBR Top: Wilsonart, Amber Cherry, 7919-38; Edge: Amber Ch Bidders: Creative Office Pavilion Surface Works - TTE.R.3660.EBR W.B. Mason Co. Inc. Special T - Kingston KING-3660 Robert H. Lord Co. SPECIAL T - KING.3660 Massachusetts Correctional Industries Barron - B35F/64E/LXX/XX ItemCodeDescription Table, Conference, 42x84 Surface Works - TTE.R.4284 Top: Wilsonart, Amber Cherry, 7919-38; Edge: Amber Ch Bidders: Creative Office Pavilion Surface Works - TTE.R.4284 W.B. Mason Co. Inc.	Qty 2 2 2 2 2 erry; Base: 431 Meta Qty 2	Unit Cost \$363.00 \$403.90 \$428.34 \$505.65 \$505.65 Unit Cost \$630.00	\$726.00 \$807.80 \$856.68 \$1,011.30 <u>Total Cost</u> \$1,260.00

© Copyright 2015	Date	Page
Point Line Space, Inc.	02.06.17	26

PLS Project No: 2014-PLS-004

Code	ItemCodeDescription			
04.TL.2424 Mfg/Model: Color/Finish:	Lounge Table, 24" Square (Corteza Veer) Surface Works - TT2A.S.CUST.EBR Top: #190, Corteza Veer; Edge: #190, Corteza Veer; Base	e: 466 Champagne N	1etallic	
	Bidders:	Qty	Unit Cost	Total Cost
As SpecifiedAlternate	W.B. Mason Co. Inc. Special T - Ella ELLA-2424	1	\$291.47	\$291.47
As SpecifiedAlternate	Robert H. Lord Co. SPECIAL T - ELLA.2424	1	\$306.41	\$306.41
As SpecifiedAlternate	Creative Office Pavilion Surface Works - TT2A.S.CUST.EBR	1	\$351.00	\$351.00
Code	ItemCodeDescription			
04.TL.2424A Mfg/Model: Color/Finish:		nerry; Base: 466 Chai	mpagne Metall	ic
	Bidders:	Qty	Unit Cost	Total Cost
As SpecifiedAlternate	W.B. Mason Co. Inc. Special T - Ella ELLA-2424	1	\$291.47	\$291.47
 As Specified Alternate 	Robert H. Lord Co. SPECIAL T - ELLA.2424	1	\$306.41	\$306.41
 As Specified Alternate 	Creative Office Pavilion Surface Works - TT2A.S.CUST.EBR	1	\$351.00	\$351.00
Code	ItemCodeDescription			
05.BK.0236 Mfg/Model:	Bookcase, 2 Shelf, 36W (Mist)			
	Bidders:	Qty	Unit Cost	Total Cost
As SpecifiedAlternate	Business Interiors By Staples ALLSTEEL - ESSENTIALS	30	\$201.45	\$6,043.50
As SpecifiedAlternate	Massachusetts Correctional Industries Great Openings - GBS-3628	30	\$204.20	\$6,126.00
As SpecifiedAlternate	W.B. Mason Co. Inc. Haskell - #BC215-36	30	\$207.00	\$6,210.00
As SpecifiedAlternate	Creative Office Pavilion Great Openings - GBS-3628	30	\$227.00	\$6,810.00
Code	ItemCodeDescription			
05.BK.0236B Mfg/Model: Color/Finish:				
	Bidders:	Qty	Unit Cost	Total Cost
O As Specified	Business Interiors By Staples	4	\$201.45	\$805.80
 Alternate 	ALLSTEEL - ESSENTIALS			

© Copyright 2015	Date	Page
Point Line Space, Inc.	02.06.17	27

PLS Project No: 2014-PLS-004

^^^ NO	TE: BIDS ARE CURRENTLY UNDER ADVISEMENT ***			
O As Spec		4	\$207.00	\$828.00
Alternat	e Haskell - #BC215-36			
O As Spec		4	\$227.00	\$908.00
O Alternat	e Great Openings - GBS-3628			
Code	ItemCodeDescription			
05.BK.03				
Mi	ig/Model: Great Openings - GBS-3640 or/Finish: Steelcase, 282 "Mist"			
Col	or/Finish: Steelcase, 202 Wist			
	Bidders:	Qty	Unit Cost	Total Cost
O As Spec	ified W.B. Mason Co. Inc.	3	\$223.33	\$669.99
Alternat	e Haskell - #BC315-36			
O As Spec		3	\$227.08	\$681.24
O Alternat	e Great Openings - GBS-3640			
O As Spec		3	\$243.77	\$731.31
Alternat	e ALLSTEEL - ESSENTIALS			
O As Spec		3	\$248.00	\$744.00
O Alternat	e Great Openings - GBS-3640			
Code	ItemCodeDescription			
05.BK.06				
Mi	ig/Model: Great Openings - GBS-3677 or/Finish: Steelcase, 282 "Mist"			
	Bidders:	Qty	Unit Cost	Total Cost
O As Spec		12	\$301.44	\$3,617.28
O Alternat	5			
As Spec		12	\$330.00	\$3,960.00
O Alternat				
 As Spec Alternat 		12	\$351.67	\$4,220.04
		10		
 As Spec Alternat 		12	\$362.94	\$4,355.28
-				
Code	ItemCodeDescription			
05.FC.00	01 Credenza Top g/Model: Great Openings -			
	or/Finish: Top: Wilsonart, Amber Cherry, 7919-38; Edge: Amber Cherry	у		
	Bidders:	Qty	Unit Cost	Total Cost
 As Spec Alternat 		1	\$129.00	\$129.00
			¢225.00	¢225.00
 As Spec Alternat 		1	\$325.00	\$325.00
As Spec		1	\$590.00	\$590.00
As Spec		I	\$JJ0.00	\$390.00

© Copyright 2015	Date	Page
Point Line Space, Inc.	02.06.17	28

PLS Project No: 2014-PLS-004

Code	ItemCodeDescription			
05.FC.0002 Mfg/Model: Color/Finish:				
	Bidders:	Qty	Unit Cost	Total Cost
• As Specified	Massachusetts Correctional Industries	1	\$164.16	\$164.16
O Alternate	Great Openings - Trace CPLU-2721		<i>Q</i> 101.10	<i><i><i></i></i></i>
As Specified	Creative Office Pavilion	1	\$189.00	\$189.00
O Alternate	Great Openings - Trace CPLU-2721			
O As Specified	W.B. Mason Co. Inc.	1	\$210.83	\$210.83
Alternate	Haskell - #CA1524L			
Code	ItemCodeDescription			
05.FC.0003 Mfg/Model: Color/Finish:	Cabinet, Door, Adj. Shelf, Hinged Right, Lockable, 15 " Great Openings - Trace CPRU-2721 "Riverway", 03Q1			
	Bidders:	Qty	Unit Cost	Total Cost
• As Specified	Massachusetts Correctional Industries	1	\$164.16	\$164.16
O Alternate	Great Openings - Trace CPRU-2721			
As Specified	Creative Office Pavilion	1	\$190.00	\$190.00
O Alternate	Great Openings - Trace CPRU-2721			
 As Specified Alternate 	W.B. Mason Co. Inc. Haskell - #CA1524R	1	\$210.83	\$210.83
Code	ItemCodeDescription			
Code 05.FC.0004 Mfg/Model: Color/Finish:	ItemCodeDescription File, Lateral, 2 Drawer, 36" Workstation Supporting Great Openings - RG-C401NT "Riverway", 03Q1			
05.FC.0004 Mfg/Model:	File, Lateral, 2 Drawer, 36" Workstation Supporting Great Openings - RG-C401NT "Riverway", 03Q1	Oty	Unit Cost	Total Cost
05.FC.0004 Mfg/Model:	File, Lateral, 2 Drawer, 36" Workstation Supporting Great Openings - RG-C401NT	Qty 2	Unit Cost \$261.98	Total Cost \$523.96
05.FC.0004 Mfg/Model: Color/Finish:	File, Lateral, 2 Drawer, 36" Workstation Supporting Great Openings - RG-C401NT "Riverway", 03Q1 Bidders:			
05.FC.0004 Mfg/Model: Color/Finish: As Specified Alternate As Specified	File, Lateral, 2 Drawer, 36" Workstation Supporting Great Openings - RG-C401NT "Riverway", 03Q1 Bidders: Massachusetts Correctional Industries Great Openings - RG-C401NT Creative Office Pavilion			
05.FC.0004 Mfg/Model: Color/Finish: As Specified Alternate Alternate	File, Lateral, 2 Drawer, 36" Workstation Supporting Great Openings - RG-C401NT "Riverway", 03Q1 Bidders: Massachusetts Correctional Industries Great Openings - RG-C401NT Creative Office Pavilion Great Openings - RG-C401NT	2	\$261.98 \$270.00	\$523.96 \$540.00
05.FC.0004 Mfg/Model: Color/Finish: As Specified Alternate As Specified	File, Lateral, 2 Drawer, 36" Workstation Supporting Great Openings - RG-C401NT "Riverway", 03Q1 Bidders: Massachusetts Correctional Industries Great Openings - RG-C401NT Creative Office Pavilion	2	\$261.98	\$523.96
05.FC.0004 Mfg/Model: Color/Finish: As Specified Alternate Alternate As Specified Alternate	File, Lateral, 2 Drawer, 36" Workstation Supporting Great Openings - RG-C401NT "Riverway", 03Q1 Bidders: Massachusetts Correctional Industries Great Openings - RG-C401NT Creative Office Pavilion Great Openings - RG-C401NT Business Interiors By Staples	2	\$261.98 \$270.00	\$523.96 \$540.00
05.FC.0004 Mfg/Model: Color/Finish: As Specified Alternate As Specified Alternate As Specified Alternate As Specified As Specified As Specified	File, Lateral, 2 Drawer, 36" Workstation Supporting Great Openings - RG-C401NT "Riverway", 03Q1 Bidders: Massachusetts Correctional Industries Great Openings - RG-C401NT Creative Office Pavilion Great Openings - RG-C401NT Business Interiors By Staples ALLSTEEL - ESSENTIALS W.B. Mason Co. Inc.	2 2 2	\$261.98 \$270.00 \$315.00	\$523.96 \$540.00 \$630.00
05.FC.0004 Mfg/Model: Color/Finish: As Specified Alternate As Specified Alternate As Specified Alternate Alternate Alternate Alternate Alternate	File, Lateral, 2 Drawer, 36" Workstation Supporting Great Openings - RG-C401NT "Riverway", 03Q1 Bidders: Massachusetts Correctional Industries Great Openings - RG-C401NT Creative Office Pavilion Great Openings - RG-C401NT Business Interiors By Staples ALLSTEEL - ESSENTIALS W.B. Mason Co. Inc. Haskell - #MK-LS12-3624-2D ItemCodeDescription Bookcase, 2 Shelf (1 Adj), 30W Open Lateral Great Openings - ROSX601-NT	2 2 2	\$261.98 \$270.00 \$315.00	\$523.96 \$540.00 \$630.00
05.FC.0004 Mfg/Model: Color/Finish: As Specified Alternate As Specified Alternate As Specified Alternate As Specified Alternate Code Code 05.FC.0005 Mfg/Model:	File, Lateral, 2 Drawer, 36" Workstation Supporting Great Openings - RG-C401NT "Riverway", 03Q1 Bidders: Massachusetts Correctional Industries Great Openings - RG-C401NT Creative Office Pavilion Great Openings - RG-C401NT Business Interiors By Staples ALLSTEEL - ESSENTIALS W.B. Mason Co. Inc. Haskell - #MK-LS12-3624-2D ItemCodeDescription Bookcase, 2 Shelf (1 Adj), 30W Open Lateral Great Openings - ROSX601-NT	2 2 2 2	\$261.98 \$270.00 \$315.00	\$523.96 \$540.00 \$630.00
05.FC.0004 Mfg/Model: Color/Finish: As Specified Alternate As Specified Alternate As Specified Alternate As Specified Alternate Code 05.FC.0005 Mfg/Model: Color/Finish:	File, Lateral, 2 Drawer, 36" Workstation Supporting Great Openings - RG-C401NT "Riverway", 03Q1 Bidders: Massachusetts Correctional Industries Great Openings - RG-C401NT Creative Office Pavilion Great Openings - RG-C401NT Business Interiors By Staples ALLSTEEL - ESSENTIALS W.B. Mason Co. Inc. Haskell - #MK-LS12-3624-2D ItemCodeDescription Bookcase, 2 Shelf (1 Adj), 30W Open Lateral Great Openings - ROSX601-NT	2 2 2	\$261.98 \$270.00 \$315.00 \$324.72 Unit Cost	\$523.96 \$540.00 \$630.00 \$649.44 Total Cost
05.FC.0004 Mfg/Model: Color/Finish: As Specified Alternate As Specified Alternate As Specified Alternate As Specified Alternate Code Code 05.FC.0005 Mfg/Model:	File, Lateral, 2 Drawer, 36" Workstation Supporting Great Openings - RG-C401NT "Riverway", 03Q1 Bidders: Massachusetts Correctional Industries Great Openings - RG-C401NT Creative Office Pavilion Great Openings - RG-C401NT Business Interiors By Staples ALLSTEEL - ESSENTIALS W.B. Mason Co. Inc. Haskell - #MK-LS12-3624-2D ItemCodeDescription Bookcase, 2 Shelf (1 Adj), 30W Open Lateral Great Openings - ROSX601-NT "Riverway", 03Q1	2 2 2 2 Qty	\$261.98 \$270.00 \$315.00 \$324.72	\$523.96 \$540.00 \$630.00 \$649.44
05.FC.0004 Mfg/Model: Color/Finish: As Specified Alternate As Specified Alternate As Specified Alternate As Specified Alternate Code 05.FC.0005 Mfg/Model: Color/Finish:	File, Lateral, 2 Drawer, 36" Workstation Supporting Great Openings - RG-C401NT "Riverway", 03Q1 Bidders: Massachusetts Correctional Industries Great Openings - RG-C401NT Creative Office Pavilion Great Openings - RG-C401NT Business Interiors By Staples ALLSTEEL - ESSENTIALS W.B. Mason Co. Inc. Haskell - #MK-LS12-3624-2D ItemCodeDescription Bookcase, 2 Shelf (1 Adj), 30W Open Lateral Great Openings - ROSX601-NT "Riverway", 03Q1	2 2 2 2 Qty	\$261.98 \$270.00 \$315.00 \$324.72 Unit Cost	\$523.96 \$540.00 \$630.00 \$649.44 Total Cost

© Copyright 2015	Date	Page
Point Line Space, Inc.	02.06.17	29

PLS Project No: 2014-PLS-004

 As Specified Alternate 	Creative Office Pavilion Great Openings - ROSX601-NT	1	\$230.00	\$230.00
-	· •			
05.FL.0236 Mfg/Model:	ItemCodeDescription File, Lateral, 2 Drawer, 36" (Mist) Great Openings - RG-A-C401 Steelcase, 282 "Mist"			
	Bidders:	Qty	Unit Cost	Total Cost
 As Specified Alternate 	Massachusetts Correctional Industries Great Openings - RG-A-C401	5	\$261.98	\$1,309.90
As SpecifiedAlternate	Creative Office Pavilion Great Openings - RG-A-C401	5	\$280.00	\$1,400.00
As SpecifiedAlternate	Business Interiors By Staples ALLSTEEL - ESSENTIALS	5	\$316.00	\$1,580.00
As SpecifiedAlternate	W.B. Mason Co. Inc. Haskell - #LA12F-3624-2D	5	\$319.72	\$1,598.60
Code	ItemCodeDescription			
05.FL.0236B Mfg/Model:	File, Lateral, 2 Drawer, 36" (Riverway) Great Openings - RG-A-C401 "Riverway", 03Q1			
	Bidders:	Qty	Unit Cost	Total Cost
 As Specified Alternate 	Massachusetts Correctional Industries Great Openings - RG-A-C401	5	\$265.12	\$1,325.60
 As Specified Alternate 	Creative Office Pavilion Great Openings - RG-A-C401	5	\$280.00	\$1,400.00
As SpecifiedAlternate	Business Interiors By Staples ALLSTEEL - ESSENTIALS	5	\$316.00	\$1,580.00
 As Specified Alternate 	W.B. Mason Co. Inc. Haskell - #LA12F-3624-2D	5	\$319.72	\$1,598.60
Code	ItemCodeDescription			
05.FL.0336 Mfg/Model:	File, Lateral, 3 Drawer, 36" (Mist) Great Openings - RG-A-C702 Steelcase, 282 "Mist"			
	Bidders:	Qty	Unit Cost	Total Cost
As SpecifiedAlternate	Massachusetts Correctional Industries Great Openings - RG-A-C702	3	\$356.93	\$1,070.79
As SpecifiedAlternate	Creative Office Pavilion Great Openings - RG-A-C702	3	\$365.00	\$1,095.00
As SpecifiedAlternate	W.B. Mason Co. Inc. Haskell - #LA12F-3636-3D	3	\$378.06	\$1,134.18
As SpecifiedAlternate	Business Interiors By Staples ALLSTEEL - ESSENTIALS	3	\$426.40	\$1,279.20

PLS Project No: 2014-PLS-004

*** NOTE: BIDS ARE CURRENTLY UNDER ADVISEMENT ***

CodeItemCodeDescription05.FL.0336BFile, Lateral, 3 Drawer, 36" (Riverway)Mfg/Model:Great Openings - RG-A-C702Color/Finish:"Riverway", 03Q1

	Bidders:	Qty	Unit Cost	Total Cost
As SpecifiedAlternate	Massachusetts Correctional Industries Great Openings - RG-A-C702	1	\$356.93	\$356.93
 As Specified Alternate 	Creative Office Pavilion Great Openings - RG-A-C702	1	\$370.00	\$370.00
As SpecifiedAlternate	W.B. Mason Co. Inc. Haskell - #LA12F-3636-3D	1	\$378.06	\$378.06
As SpecifiedAlternate	Business Interiors By Staples ALLSTEEL - ESSENTIALS	1	\$426.40	\$426.40

Code ItemCodeDescription

05.FL.0342 Mfg/Model: Color/Finish: File, Lateral, 3 Drawer, 42" Great Openings -Steelcase, 282 "Mist"

	Bidders:	Qty	Unit Cost	Total Cost
As Specified	Massachusetts Correctional Industries	1	\$393.54	\$393.54
O Alternate	Great Openings -			
O As Specified	W.B. Mason Co. Inc.	1	\$413.06	\$413.06
Alternate	Haskell - LA12F-4236-3D			
As Specified	Creative Office Pavilion	1	\$445.00	\$445.00
O Alternate	Great Openings -			
O As Specified	Business Interiors By Staples	1	\$482.40	\$482.40
Alternate	ALLSTEEL - ESSENTIALS			

ItemCodeDescription

Code

05.FL.0436 Mfg/Model: Color/Finish: File, Lateral, 4 Drawer, 36" Great Openings - RG-A-D103 Steelcase, 282 "Mist"

	Bidders:	Qty	Unit Cost	Total Cost
As SpecifiedAlternate	W.B. Mason Co. Inc. Haskell - LA12F-3648-4D	9	\$378.06	\$3,402.54
As SpecifiedAlternate	Massachusetts Correctional Industries Great Openings - RG-A-D103	9	\$439.59	\$3,956.31
As SpecifiedAlternate	Creative Office Pavilion Great Openings - RG-A-D103	9	\$450.00	\$4,050.00
As SpecifiedAlternate	Business Interiors By Staples ALLSTEEL - ESSENTIALS	9	\$548.75	\$4,938.75

© Copyright 2015	Date	Page
Point Line Space, Inc.	02.06.17	31

Zervas Elementary School Newton, MA Architect: Perkins Eastman/DPC

PLS Project No: 2014-PLS-004

*** NOTE: BIDS ARE CURRENTLY UNDER ADVISEMENT ***

CodeItemCodeDescription05.FM.2022File, Vertical, 2 Drawer, FF MobileMfg/Model:Great Openings - Trace, EL2109Color/Finish:Steelcase, 282 "Mist"

	Bidders:	Qty	Unit Cost	Total Cost
 As Specified Alternate 	Massachusetts Correctional Industries Great Openings - Trace, EL2109	38	\$158.16	\$6,010.08
As SpecifiedAlternate	W.B. Mason Co. Inc. Haskell - MP24FF	38	\$169.06	\$6,424.28
 As Specified Alternate 	Creative Office Pavilion Great Openings - Trace, EL2109	38	\$183.00	\$6,954.00
As SpecifiedAlternate	Business Interiors By Staples ALLSTEEL - ESSENTIALS	38	\$245.29	\$9,321.02

Code ItemCodeDescription

05.FM.3022 File, Vertical, 3 Drawer, BBF Mobile Mfg/Model: Great Openings - Trace, EL2111 Color/Finish: Steelcase, 282 "Mist"

	Bidders:	Qty	Unit Cost	Total Cost
As Specified	Massachusetts Correctional Industries	1	\$173.89	\$173.89
O Alternate	Great Openings - Trace, EL2111			
O As Specified	W.B. Mason Co. Inc.	1	\$174.61	\$174.61
Alternate	Haskell - MP24BBF			
As Specified	Creative Office Pavilion	1	\$205.00	\$205.00
O Alternate	Great Openings - Trace, EL2111			
O As Specified	Business Interiors By Staples	1	\$245.29	\$245.29
Alternate	ALLSTEEL - ESSENTIALS			

ItemCodeDescription

Code

05.SC.3666	Cabinet, 5 Shelves, 2 Door, Lockable, 36"W
	Great Openings - Trace
Color/Finish:	Steelcase, 282 "Mist"

	Bidders:	Qty	Unit Cost	Total Cost
O As Specified	Business Interiors By Staples	4	\$455.00	\$1,820.00
Alternate	ALLSTEEL - ESSENTIALS			
As Specified	Massachusetts Correctional Industries	4	\$489.06	\$1,956.24
O Alternate	Great Openings - Trace			
As Specified	Creative Office Pavilion	4	\$515.00	\$2,060.00
O Alternate	Great Openings - Trace			
O As Specified	W.B. Mason Co. Inc.	4	\$519.17	\$2,076.68
Alternate	Haskell - CA12-3660-3A-FL			
O As Specified	Lakeshore Learning Materials	4	\$643.08	\$2,572.32
Alternate	LAKESHORE - LC439BU			

© Copyright 2015	Date	Page
Point Line Space, Inc.	02.06.17	32

Code

(

Zervas Elementary School Newton, MA Architect: Perkins Eastman/DPC

PLS Project No: 2014-PLS-004

*** NOTE: BIDS ARE CURRENTLY UNDER ADVISEMENT ***

ItemCodeDescription

05.SW.3677 Cabinet, Wardrobe, 2 Door, Lockable, 36"W

Mfg/Model: Great Openings - Trace Color/Finish: "Riverway", 03Q1

	Bidders:	Qty	Unit Cost	Total Cost
As SpecifiedAlternate	W.B. Mason Co. Inc. Haskell - CW12-366024-FL	1	\$585.28	\$585.28
 As Specified Alternate 	Massachusetts Correctional Industries Great Openings - Trace	1	\$593.16	\$593.16
As SpecifiedAlternate	Creative Office Pavilion Great Openings - Trace	1	\$630.00	\$630.00
As SpecifiedAlternate	Business Interiors By Staples ALLSTEEL - ESSENTIALS	1	\$790.25	\$790.25

Code ItemCodeDescription

06.AR.4272	Art Table, 42" x 72", Phenolic Top
Mfg/Model:	Fleetwood - 22.7604-27347
Color/Finish:	Top: phenolic; Frame/Legs: Quicksilver

	Bidders:	Qty	Unit Cost	Total Cost
• As Specified • Alternate	Monitor Equipment Co., Inc. CDF - 617242PH	6	\$966.96	\$5,801.76
O As Specified	School Furnishings, Inc.	6	\$1,020.68	\$6,124.08
Alternate	Academia - WLA-4272- Phenolic			
 As Specified Alternate 	Robert H. Lord Co. Fleetwood - 22.7604-27347	6	\$1,059.69	\$6,358.14
 As Specified Alternate 	Creative Office Pavilion Fleetwood - 22.7604-27347	6	\$1,110.00	\$6,660.00

Code ItemCodeDescription

06.CF.3012 Cafeteria Table, Folding, 12 Stools, 30x120 Mfg/Model: Sico, Inc. - TC-65, President, TTR61 Color/Finish: Table Top: Wilsonart, Green Tigris, 4667-60; Armor Edge: Dark Blue; Seat: Dark Blue; Leg/Frame: Silver

	Bidders:	Qty	Unit Cost	Total Cost
O As Specified	Creative Office Pavilion	14	\$1,199.00	\$16,786.00
Alternate	Palmer Hamilton - 60T11293010-S12 (See attached)			
O As Specified	Business Interiors By Staples	14	\$1,280.87	\$17,932.18
Alternate	AMTAB - MST1012DRC			
O As Specified	Red Thread Spaces LLC	14	\$1,286.00	\$18,004.00
Alternate	AmTab - MST1012DRC			
O As Specified	W.B. Mason Co. Inc.	14	\$1,296.53	\$18,151.42
Alternate	Biofit -			
As Specified	Robert H. Lord Co.	14	\$1,567.09	\$21,939.26
O Alternate	Sico, Inc TC-65, President, TTR61			

PLS Project No: 2014-PLS-004

*** NOTE: BIDS ARE CURRENTLY UNDER ADVISEMENT ***

ItemCodeDescription

06.CF.3012A

Code

Code

Cafeteria Table, ADA, Folding, 8 Stools, 30x120

Mfg/Model: Sico, Inc. - TC-65, President, TTN, ADA

Color/Finish: Table Top: Wilsonart, Green Tigris, 4667-60; Armor Edge: Dark Blue; Seat: Dark Blue; Leg/Frame: Silver

	Bidders:	Qty	Unit Cost	Total Cost
O As Specified	Red Thread Spaces LLC	1	\$1,286.00	\$1,286.00
Alternate	AmTab - MST1012DRCADA			
O As Specified	Business Interiors By Staples	1	\$1,291.95	\$1,291.95
Alternate	AMTAB - MST1012DRC - ADA			
O As Specified	Creative Office Pavilion	1	\$1,295.00	\$1,295.00
Alternate	Palmer Hamilton - 60T11303012-S08 (See attached)			
O As Specified	Robert H. Lord Co.	1	\$1,495.64	\$1,495.64
O Alternate	Sico, Inc TC-65, President, TTN, ADA			
O As Specified	W.B. Mason Co. Inc.	1	\$1,496.11	\$1,496.11
Alternate	Biofit -			

ItemCodeDescription

06.CS.0001 Chair, Stacking, Armless W/Ganging Glides Mfg/Model: Hon - HONH4041RE.Y Color/Finish: Seat and Back: Regatta; Frame: Chrome

	Bidders:	Qty	Unit Cost	Total Cost
O As Specified	Massachusetts Correctional Industries	300	\$39.20	\$11,760.00
O Alternate	Piper - CI-MSG/CH/PXX			
O As Specified	Red Thread Spaces LLC	300	\$46.00	\$13,800.00
Alternate	NPS - 8500			
 As Specified Alternate 	Red Thread Spaces LLC NPS - 8800	300	\$50.00	\$15,000.00
As Specified Alternate	W.B. Mason Co. Inc. Hon - HONH4041RE.Y	300	\$65.68	\$19,704.00
		200	¢.co.oo	¢20.040.00
 As Specified Alternate 	Business Interiors By Staples Hon - HONH4041RE.Y	300	\$69.80	\$20,940.00
As Specified	Monitor Equipment Co., Inc.	300	\$73.82	\$22,146.00
O Alternate	Hon - HONH4041RE.Y	500	\$75.0Z	\$22,140.00
O As Specified	Creative Office Pavilion	300	\$77.00	\$23,100.00
O Alternate	KI Maestro - MSP (see attached)			
O As Specified	School Furnishings, Inc.	300	\$111.88	\$33,564.00
Alternate	Allseating - Tuck, Armless w/g			
Code Item	CodeDescription			
	t, Stacking Chair			
	n - HON4043T			
Color/Finish: Blac	-N			
	Bidders:	Qty	Unit Cost	Total Cost
O As Specified	Red Thread Spaces LLC	10	\$110.00	\$1,100.00
Alternate	NPS - DY87			
O As Specified	Massachusetts Correctional Industries	10	\$115.50	\$1,155.00
Alternate	Piper - CSD.BL			

© Copyright 2015	Date	Page
Point Line Space, Inc.	02.06.17	34

PLS Project No: 2014-PLS-004

Zervas Elementary School Newton, MA Architect: Perkins Eastman/DPC

		SITION/D	ГС	
*** NOTE: BIL	DS ARE CURRENTLY UNDER ADVISEMENT ***			
O As Specified	Red Thread Spaces LLC	10	\$116.00	\$1,160.00
O Alternate	NPS - DY85			<u> </u>
O As Specified	School Furnishings, Inc.	10	\$176.39	\$1,763.90
 Alternate 	Allseating - Tuck Dolly		T C	+ .,
• As Specified	Business Interiors By Staples	10	\$188.06	\$1,880.60
O Alternate	Hon - HON4043T			
• As Specified	Monitor Equipment Co., Inc.	10	\$192.70	\$1,927.00
O Alternate	Hon - HON4043T			
• As Specified	W.B. Mason Co. Inc.	10	\$221.50	\$2,215.00
O Alternate	Hon - HON4043T			
O As Specified	Creative Office Pavilion	10	\$225.00	\$2,250.00
Alternate	KI - CSDBL (see attached)			
Code	ItemCodeDescription			
06.D2.3036	Shelving, Library, Double sided, Starter, Mobile, 36W x 30H			
	TESCO - Frontier Series M5583-127-113			
Color/Finish:	Wood: Oak; Finish Color: Golden Oak			
	Bidders:	Otv	Unit Cost	Total Cost
O As Specified	Robert H. Lord Co.	Qty 5	\$610.95	\$3,054.75
 Alternate 	MEDIA TECHNOLOGIES - V21.3042.MOB		<i>\</i> 010.55	<i>43,031.13</i>
O As Specified	W.B. Mason Co. Inc.	5	\$628.66	\$3,143.30
 Alternate 	HLF - W-3024-M	_		+ - ,
• As Specified	School Furnishings, Inc.	5	\$672.20	\$3,361.00
O Alternate	TESCO - Frontier Series M5583-127-113			1-7
O As Specified	Creative Office Pavilion	5	\$764.00	\$3,820.00
Alternate	HLF Custom - (see attached)			
Code	ItemCodeDescription			
06.D2.4836	Shelving, Library, Double sided, Starter, Mobile, 36W x 48H			
Mfg/Model:	TESCO - Frontier Series M5503-137-113			
Color/Finish:	Wood: Oak; Finish Color: Golden Oak			
	Didderet	01		TILCI
	Bidders: W.B. Mason Co. Inc.	Qty 8	Unit Cost \$672.78	Total Cost
 As Specified Alternate 	HLF - W-4824-M	0	Φ 012.10	\$5,382.24
As Specified	School Furnishings, Inc.	8	\$775.80	\$6,206.40
Alternate	TESCO - Frontier Series M5503-137-113	0	φ//ጋ.00	Φ 0,200.40
O As Specified	Robert H. Lord Co.	8	\$792.05	\$6,336.40
As Specified		0	\$192.UD	JU,JJU.4U

Color/Finish: Wood: Oak; Finish Color: Golden Oak **Bidders:** Unit Cost **Total Cost** Qty O As Specified W.B. Mason Co. Inc. 2 \$608.99 \$1,217.98 HLF - W-4824

\sim	7 is specifica
$oldsymbol{O}$	Alternate

O Alternate O As Specified

Alternate

06.D2.4836F

Code

MEDIA TECHNOLOGIES - V21.4824.MOB

Shelving, Library, Double sided, Starter, Fixed, 36W x 48H

Creative Office Pavilion

Mfg/Model: TESCO - Frontier Series M5503-137-113

ItemCodeDescription

HLF Custom - (see attached)

8

\$814.00

\$6,512.00

Zervas Elementary School Newton, MA Architect: Perkins Eastman/DPC

PLS Project No: 2014-PLS-004 *** N

IOTE DIDO	DENTIN		
$(0) \vdash B \cup S$			ADVISEMENT
		UNDER	

	JS ARE CURRENTLY UNDER ADVISEMENT				
 As Specified Alternate 	School Furnishings, Inc. TESCO - Frontier Series M5503-137-113	2	\$688.40	\$1,376.80	
As SpecifiedAlternate	Robert H. Lord Co. MEDIA TECHNOLOGIES - V21.4824	2	\$698.45	\$1,396.90	
As SpecifiedAlternate	Creative Office Pavilion HLF Custom - (see attached)	2	\$743.00	\$1,486.00	
Code	ItemCodeDescription				
06.DC.0001 Mfg/Model: Color/Finish					
	Bidders:	Qty	Unit Cost	Total Cost	
 As Specified Alternate 	School Furnishings, Inc. TESCO - Frontier Series	1	\$5,318.30	\$5,318.30	
As SpecifiedAlternate	Robert H. Lord Co. MEDIA TECHNOLOGIES - CUSTOM	1	\$7,005.85	\$7,005.85	
As SpecifiedAlternate	W.B. Mason Co. Inc. HLF - CIRDESK	1	\$8,117.98	\$8,117.98	
As SpecifiedAlternate	Creative Office Pavilion HLF Custom - (see attached)	1	\$9,066.00	\$9,066.00	
Code	ItemCodeDescription				
06.DC.0002 Mfg/Model: Color/Finish:	Book Truck, Depressible TESCO - Frontier Series-M4445 Wood: Oak; Finish Color: Golden Oak				
	Bidders:	Qty	Unit Cost	Total Cost	
O As Specified	Robert H. Lord Co.	1	\$815.00	\$815.00	
Alternate	MEDIA TECHNOLOGIES - MCD.22DBT				
 Alternate As Specified Alternate 	School Furnishings, Inc. TESCO - Frontier Series-M4445	1	\$823.60	\$823.60	
As Specified	School Furnishings, Inc.	1	\$823.60 \$942.44	\$823.60 \$942.44	
 As Specified Alternate As Specified 	School Furnishings, Inc. TESCO - Frontier Series-M4445 W.B. Mason Co. Inc.				
 As Specified Alternate As Specified Alternate As Specified Alternate 	School Furnishings, Inc. TESCO - Frontier Series-M4445 W.B. Mason Co. Inc. HLF - DBT Creative Office Pavilion HLF Custom - (see attached)	1	\$942.44	\$942.44	
 As Specified Alternate As Specified Alternate As Specified As Specified 	School Furnishings, Inc. TESCO - Frontier Series-M4445 W.B. Mason Co. Inc. HLF - DBT Creative Office Pavilion	1	\$942.44 \$1,079.00	\$942.44 \$1,079.00	
 As Specified Alternate As Specified Alternate As Specified Alternate As Specified Alternate 	School Furnishings, Inc. TESCO - Frontier Series-M4445 W.B. Mason Co. Inc. HLF - DBT Creative Office Pavilion HLF Custom - (see attached) ItemCodeDescription Media Center, Octagonal Display with Octagonal Riser TESCO - 4300-OCT w/4300-OCT-RSR Laminated Top: Wilsonart, Navy Legacy, 4651-60; Edge: Gold	1	\$942.44 \$1,079.00	\$942.44 \$1,079.00	
 As Specified Alternate As Specified Alternate As Specified Alternate As Specified Alternate 	School Furnishings, Inc. TESCO - Frontier Series-M4445 W.B. Mason Co. Inc. HLF - DBT Creative Office Pavilion HLF Custom - (see attached) ItemCodeDescription Media Center, Octagonal Display with Octagonal Riser TESCO - 4300-OCT w/4300-OCT-RSR Laminated Top: Wilsonart, Navy Legacy, 4651-60; Edge: Gold Finish: Golden Oak	1 1 den Oak; Edge	\$942.44 \$1,079.00 Type: Bevel; Wo	\$942.44 \$1,079.00 od: Oak;	
 As Specified Alternate As Specified Alternate As Specified Alternate As Specified Alternate 	School Furnishings, Inc. TESCO - Frontier Series-M4445 W.B. Mason Co. Inc. HLF - DBT Creative Office Pavilion HLF Custom - (see attached) ItemCodeDescription Media Center, Octagonal Display with Octagonal Riser TESCO - 4300-OCT w/4300-OCT-RSR Laminated Top: Wilsonart, Navy Legacy, 4651-60; Edge: Gold Finish: Golden Oak Bidders: Robert H. Lord Co.	1 1 den Oak; Edge	\$942.44 \$1,079.00 Type: Bevel; Wo Unit Cost	\$942.44 \$1,079.00 od: Oak; Total Cost	
 As Specified Alternate As Specified Alternate As Specified Alternate Code O6.DC.0003 Mfg/Model: Color/Finish: Color/Finish: As Specified Alternate As Specified Alternate 	School Furnishings, Inc. TESCO - Frontier Series-M4445 W.B. Mason Co. Inc. HLF - DBT Creative Office Pavilion HLF Custom - (see attached) ItemCodeDescription Media Center, Octagonal Display with Octagonal Riser TESCO - 4300-OCT w/4300-OCT-RSR Laminated Top: Wilsonart, Navy Legacy, 4651-60; Edge: Gold Finish: Golden Oak Bidders: Robert H. Lord Co. MEDIA TECHNOLOGIES - B48480CT School Furnishings, Inc.	1 1 den Oak; Edge Qty 1	\$942.44 \$1,079.00 Type: Bevel; Wo Unit Cost \$1,724.75	\$942.44 \$1,079.00 od: Oak; <u>Total Cost</u> \$1,724.75	
 As Specified Alternate As Specified Alternate As Specified Alternate Code 06.DC.0003 Mfg/Model: Color/Finish: O As Specified Alternate 	School Furnishings, Inc. TESCO - Frontier Series-M4445 W.B. Mason Co. Inc. HLF - DBT Creative Office Pavilion HLF Custom - (see attached) ItemCodeDescription Media Center, Octagonal Display with Octagonal Riser TESCO - 4300-OCT w/4300-OCT-RSR Laminated Top: Wilsonart, Navy Legacy, 4651-60; Edge: Gold Finish: Golden Oak Bidders: Robert H. Lord Co. MEDIA TECHNOLOGIES - B48480CT School Furnishings, Inc. TESCO - 4300-OCT w/4300-OCT-RSR W.B. Mason Co. Inc.	1 1 den Oak; Edge Qty 1 1	\$942.44 \$1,079.00 Type: Bevel; Wo <u>Unit Cost</u> \$1,724.75 \$2,187.60	\$942.44 \$1,079.00 od: Oak; <u>Total Cost</u> \$1,724.75 \$2,187.60	

PLS Project No: 2014-PLS-004

*** NOTE: BIDS ARE CURRENTLY UNDER ADVISEMENT ***

Code	ItemCodeDescription			
06.DC.3036 Mfg/Model: Color/Finish:	Shelving, Library, Double sided, Curved-Mobile, 36"W x 3 TESCO - Frontier Series M5583-RAD-3642 Wood: Oak; Finish Color: Golden Oak	30"H		
	Bidders:	Qty	Unit Cost	Total Cost
As SpecifiedAlternate	Robert H. Lord Co. MEDIA TECHNOLOGIES - X91.3024.MOB - MISC	17	\$858.75	\$14,598.75
As SpecifiedAlternate	School Furnishings, Inc. TESCO - Frontier Series M5583-RAD-3642	17	\$932.60	\$15,854.20
As SpecifiedAlternate	W.B. Mason Co. Inc. HLF - CDSB	17	\$1,089.82	\$18,526.94
As SpecifiedAlternate	Creative Office Pavilion HLF Custom - (see attached)	17	\$1,244.00	\$21,148.00
Code	ItemCodeDescription			
06.LT.2430 Mfg/Model: Color/Finish:	Library, Computer Table, 24x30 TESCO - M5900-TOP-2430 W/4900EPC Laminated Top: Wilsonart, Navy Legacy, 4651-60; Wood Ec Platinum	dge: Golden Oak;	Edge Type: Be	vel; Base:
	Bidders:	Qty	Unit Cost	Total Cost
 As Specified Alternate 	School Furnishings, Inc. TESCO - M5900-TOP-2430 W/4900EPC	1	\$510.00	\$510.00
As SpecifiedAlternate	W.B. Mason Co. Inc. HLF - CT2430	1	\$608.16	\$608.16
As SpecifiedAlternate	Robert H. Lord Co. MEDIA TECHNOLOGIES - MBS2430T.29	1	\$632.00	\$632.00
As SpecifiedAlternate	Creative Office Pavilion HLF Custom - (see attached)	1	\$739.00	\$739.00
Code	ItemCodeDescription			
06.LT.2460 Mfg/Model: Color/Finish:		dge: Golden Oak;	Edge Type: Bev	vel; Base:
	Bidders:	Qty	Unit Cost	Total Cost
 As Specified Alternate 	School Furnishings, Inc. TESCO - M5900-TOP-2460 W/4900EPC	2	\$618.60	\$1,237.20
As SpecifiedAlternate	W.B. Mason Co. Inc. HLF - CT2460	2	\$676.50	\$1,353.00
As SpecifiedAlternate	Creative Office Pavilion HLF Custom - (see attached)	2	\$812.00	\$1,624.00
As SpecifiedAlternate	Robert H. Lord Co. MEDIA TECHNOLOGIES - BMS2460T.29	2	\$859.75	\$1,719.50

PLS Project No: 2014-PLS-004

*** NOTE: BIDS ARE CURRENTLY UNDER ADVISEMENT ***

Code	ItemCodeDescription			
06.LT.3660	Library, Table, 36x60 TESCO - M5900-TOP-3660 W/4900EPC			
Mfg/Model: Color/Finish:	Laminated Top: Wilsonart, Navy Legacy, 4651-60; Wood Edg	je: Golden Oak; I	Edge Type: Re	verse
,-	Chamfered Drop; Base: Platinum	,	5 71	
	Bidders:	Qty	Unit Cost	Total Cost
As Specified	School Furnishings, Inc.	7	\$665.60	\$4,659.20
O Alternate	TESCO - M5900-TOP-3660 W/4900EPC			
O As Specified	W.B. Mason Co. Inc.	7	\$690.17	\$4,831.19
Alternate	HLF - T3660			
O As Specified	Creative Office Pavilion	7	\$825.00	\$5,775.00
Alternate	HLF Custom - (see attached)			
O As Specified	Robert H. Lord Co.	7	\$932.00	\$6,524.00
Alternate	MEDIA TECHNOLOGIES - MBS3660T.29			
Code	ItemCodeDescription			
06.S2.3036	Shelving, Library, Single sided, Starter, 12" Shelf, 36x30			
Mfg/Model:	TESCO - Frontier Series			
Color/Finish:	Wood: Oak; Finish Color: Golden Oak			
0	Bidders:	Qty	Unit Cost	Total Cost
 As Specified Alternate 	School Furnishings, Inc. TESCO - Frontier Series	4	\$324.20	\$1,296.80
			¢222.25	t1 212 10
 As Specified Alternate 	Robert H. Lord Co. MEDIA TECHNOLOGIES - V21.3012	4	\$328.35	\$1,313.40
			+	
 As Specified Alternate 	W.B. Mason Co. Inc. HLF - W-3012	4	\$335.66	\$1,342.64
_			+	+
 As Specified Alternate 	Creative Office Pavilion HLF Custom - (see attached)	4	\$458.00	\$1,832.00
Alternate				
Code	ItemCodeDescription			
06.S2.6036A	Shelving, Library, Single sided, Adder, 12" Shelf, 36x60			
Mfg/Model:	TESCO - Frontier Series Wood: Oak; Finish Color: Golden Oak			
Color/Finish.	Wood. Oak, Thisi Color. Golden Oak			
	Bidders:	Qty	Unit Cost	Total Cost
• As Specified	School Furnishings, Inc.	19	\$418.00	\$7,942.00
O Alternate	TESCO - Frontier Series			
O As Specified	Robert H. Lord Co.	19	\$469.25	\$8,915.75
O Alternate	MEDIA TECHNOLOGIES - V21.6012A			
O As Specified	W.B. Mason Co. Inc.	19	\$520.85	\$9,896.15
Alternate	HLF - W-6012A			<u> </u>
O As Specified	Creative Office Pavilion	19	\$652.00	\$12,388.00
 Alternate 	HLF Custom - (see attached)			. ,

PLS Project No: 2014-PLS-004

*** NOTE: BIDS ARE CURRENTLY UNDER ADVISEMENT ***

Code ItemCodeDescription

06.S2.6036S Shelving, Library, Single sided, Starter, 12" Shelf, 36x60

Mfg/Model: TESCO - Frontier Series

Color/Finish: Wood: Oak; Finish Color: Golden Oak

	Bidders:	Qty	Unit Cost	Total Cost
• As Specified	School Furnishings, Inc.	4	\$492.20	\$1,968.80
O Alternate	TESCO - Frontier Series			
 As Specified Alternate 	W.B. Mason Co. Inc. HLF - W-6012	4	\$515.66	\$2,062.64
 As Specified Alternate 	Robert H. Lord Co. MEDIA TECHNOLOGIES - V21.6012	4	\$551.10	\$2,204.40
			+=====	
 As Specified Alternate 	Creative Office Pavilion HLF Custom - (see attached)	4	\$702.00	\$2,808.00
	mur Cusionn - (see allached)			

Code ItemCodeDescription

06.SS.1313H	Soft Seating, Ottoman, Square, 17.5"H
Mfg/Model:	Academia - 8318 Square Mod
Color/Finish:	Upholstery: Momentum, Epic, Azure

	Bidders:	Qty	Unit Cost	Total Cost
As Specified	School Furnishings, Inc.	4	\$209.29	\$837.16
O Alternate	Academia - 8318 Square Mod			
O As Specified	Creative Office Pavilion	4	\$278.00	\$1,112.00
Alternate	National 16"H Whimsy - N66SQ16C (See attached)			
O As Specified	W.B. Mason Co. Inc.	4	\$665.00	\$2,660.00
Alternate	Sterling - Custom			

Code ItemCodeDescription

06.SS.1313L Soft Seating, Ottoman, Square, 13.5"H Mfg/Model: Academia - 8314 Square Mod

Color/Finish: See spec for upholstery colors and quantity.

	Bidders:	Qty	Unit Cost	Total Cost
As Specified	School Furnishings, Inc.	6	\$179.28	\$1,075.68
O Alternate	Academia - 8314 Square Mod			
O As Specified	Creative Office Pavilion	6	\$278.00	\$1,668.00
Alternate	National 16"H Whimsy - N66SQ16C (See attached)			
O As Specified	W.B. Mason Co. Inc.	6	\$609.00	\$3,654.00
Alternate	Sterling - Custom			

Code ItemCodeDescription

06.SS.R013H Soft Seating, Ottoman, Round

Mfg/Model: Academia - 8118 Round Mod

Color/Finish: See spec for upholstery colors and quantity.

	Bidders:	Qty	Unit Cost	Total Cost
 As Specified Alternate 	School Furnishings, Inc. Academia - 8118 Round Mod	12	\$209.29	\$2,511.48
As SpecifiedAlternate	Creative Office Pavilion National 16"H Whimsy - N66RD16C (See attached)	12	\$269.00	\$3,228.00

© Copyright 2015	Date	Page
Point Line Space, Inc.	02.06.17	39

As SpecifiedAlternate

• As Specified

O Alternate

PLS Project No: 2014-PLS-004

*** NOTE: BIDS ARE CURRENTLY UNDER ADVISEMENT ***

NOTE: BIB				
O As Specified	W.B. Mason Co. Inc.	12	\$524.00	\$6,288.00
Alternate	Sterling - Custom		<i>402</i>	+0,200100
	<u> </u>			
Code l'	temCodeDescription			
06.SS.SR13L S	Soft Seating, Ottoman, Semi-Round			
Mfg/Model:	Academia - 8214 Semi-Round Mod			
Color/Finish:	See spec for upholstery colors and quantity.			
	Bidders:	Qty	Unit Cost	Total Cost
O As Specified	School Furnishings, Inc.	8	\$179.28	\$1,434.24
O Alternate	Academia - 8214 Semi-Round Mod		· · ·	<u> </u>
	Creative Office Pavilion	0	\$269.00	¢2 152 00
 As Specified Alternate 	National 16"H Whimsy - N66RD16C (See attached)	8	\$209.00	\$2,152.00
O As Specified	W.B. Mason Co. Inc.	8	\$568.00	\$4,544.00
Alternate	Sterling - Custom			
Codo	temCodeDescription			
	Book Truck, Double Sided			
	SAFCO - 5357SA Paint Finish: Sand			
Color/Finish:				
	D111			
	Bidders:	Qty	Unit Cost	Total Cost
As Specified	Business Interiors By Staples	3	\$275.60	\$826.80
O Alternate	SAFCO - 5357SA			
As Specified	W.B. Mason Co. Inc.	3	\$298.44	\$895.32
O Alternate	SAFCO - 5357SA			
	Debast II Land Ca		¢ 2 4 C 0 0	¢1 020 00
 As Specified Alternate 	Robert H. Lord Co. SAFCO - 5357SA	3	\$346.00	\$1,038.00
	SAI CO - 5557 SA			
As Specified	Monitor Equipment Co., Inc.	3	\$357.00	\$1,071.00
O Alternate	SAFCO - 5357SA			
As Specified	Creative Office Pavilion	3	\$721.00	\$2,163.00
O Alternate	SAFCO - 5357SA		<i><i><i>ϕi ⊆</i> 1.00</i></i>	φ2/100.00
Code l'	temCodeDescription			
	Steel Shelving, 36x18x84			
J,	Tennsco - Z Line, 7 Shelves, with Nylon Feet Caps			
Color/Finish:	Gray			
	Bidders:	Qty	Unit Cost	Total Cost
As Specified	Business Interiors By Staples	6	\$161.65	\$969.90
O Alternate	Tennsco - Z Line, 7 Shelves, with Nylon Feet Caps			
		<i>c</i>	¢10100	¢1 104 00
 As Specified Alternate 	W.B. Mason Co. Inc. Tennsco - Z Line, 7 Shelves, with Nylon Feet Caps	6	\$184.00	\$1,104.00
✓ Alternate	remisco - 2 Line, 7 Sheives, with Nyion Feet Caps			

© Copyright 2015	Date F	Page	
Point Line Space, Inc.	02.06.17	40	

\$1,196.46

\$1,374.00

6

6

\$199.41

\$229.00

Monitor Equipment Co., Inc. Tennsco - Z Line, 7 Shelves, with Nylon Feet Caps

Creative Office Pavilion Tennsco - Z Line, 7 Shelves, with Nylon Feet Caps

Zervas Elementary School Newton, MA Architect: Perkins Eastman/DPC

PLS Project No: 2014-PLS-004

*** NOTE: BIDS ARE CURRENTLY UNDER ADVISEMENT ***

Code Iter

ItemCodeDescription

07.SS.0724

Steel Shelving, Adj., 36x24x84

Mfg/Model: Tennsco - Z Line, 7 Shelves, with Nylon Feet Caps Color/Finish: Gray

	Bidders:	Qty	Unit Cost	Total Cost
• As Specified	Business Interiors By Staples	48	\$185.25	\$8,892.00
O Alternate	Tennsco - Z Line, 7 Shelves, with Nylon Feet Caps			
• As Specified	W.B. Mason Co. Inc.	48	\$208.00	\$9,984.00
O Alternate	Tennsco - Z Line, 7 Shelves, with Nylon Feet Caps			
• As Specified	Monitor Equipment Co., Inc.	48	\$220.05	\$10,562.40
O Alternate	Tennsco - Z Line, 7 Shelves, with Nylon Feet Caps			
• As Specified	Creative Office Pavilion	48	\$251.00	\$12,048.00
O Alternate	Tennsco - Z Line, 7 Shelves, with Nylon Feet Caps			

Code ItemCodeDescription

08.LF.CH01 Lounge Chair, Single

Mfg/Model: IDEON Soft Seating - Flair Club, CP.AS2.SN1-BS2-SV4-LS1-FG2 Color/Finish: Upholstery: Horizon, Twilight

	Bidders:	Qty	Unit Cost	Total Cost
O As Specified	W.B. Mason Co. Inc.	1	\$741.00	\$741.00
Alternate	Sterling - 8464L			
As Specified	Creative Office Pavilion	1	\$864.00	\$864.00
O Alternate	IDEON Soft Seating - Flair Club, CP.AS2.SN1-BS2-SV4-LS1-FG	52		

Code ItemCodeDescription

08.LF.CH02 Lounge Chair, Double Mfg/Model: IDEON Soft Seating - Flair Club, CP.AS2.SN2-BS2-SV4-LS1-FG2

Color/Finish: Upholstery: Horizon, Twilight

	Bidders:	Qty	Unit Cost	Total Cost
O As Specified	W.B. Mason Co. Inc.	1	\$1,047.00	\$1,047.00
Alternate	Sterling - 8486LS			
As Specified	Creative Office Pavilion	1	\$1,172.00	\$1,172.00
O Alternate	IDEON Soft Seating - Flair Club, CP.AS2.SN2-BS2-SV4-LS1-FG	2		

Code ItemCodeDescription

08.PS.0001 Panel System, SPED (SSCR K-2) Mfg/Model: KI - System 3000 Fabric Accoustical Panels Color (Finish: Warm Grey: Panel Fabric Side 1 & 2: VSC

Color/Finish: Trim: Warm Grey; Panel Fabric Side1 & 2: VSG1, Calculation, Boysenberry C1BY

	Bidders:	Qty	Unit Cost	Total Cost
As Specified	Creative Office Pavilion	1	\$14,950.00	\$14,950.00
O Alternate	KI - System 3000 Fabric Accoustical Panels			

© Copyright 2015	Date	Page
Point Line Space, Inc.	02.06.17	41

Zervas Elementary School Newton, MA Architect: Perkins Eastman/DPC

PLS Project No: 2014-PLS-004

*** NOTE: BIDS ARE CURRENTLY UNDER ADVISEMENT ***

	Code	ItemCodeDescription			
	08.PS.0002	Panel System, SPED (SSCR 3-5)			
	Mfg/Model:	KI - System 3000 Fabric Accoustical Panels			
	Color/Finish:	Trim: Warm Grey; Panel Fabric Side1 & 2: VSG1, Calcula	ation, Boysenberry	C1BY	
		Bidders:	Qty	Unit Cost	Total Cost
	O As Specified	Creative Office Pavilion	1	\$15,690.00	\$15,690.00
	O Alternate	KI - System 3000 Fabric Accoustical Panels			
	Code	ItemCodeDescription			
	08.RD.4872M	Room Divider, Marker board, Mobile, 48x72			
	Mfg/Model:	Moore Co - 661AD-HH			
	Color/Finish:				
		Bidders:	Qty	Unit Cost	Total Cost
	O As Specified	Lakeshore Learning Materials	2	\$275.08	\$550.16
	O Alternate	LAKESHORE - LM902			
	• As Specified	Business Interiors By Staples	2	\$327.00	\$654.00
	O Alternate	Moore Co - 661AD-HH		<i>402/100</i>	400 1100
-					
	Code	ItemCodeDescription			
	08.RG.0406	Area Rug, 4'X6' Mohawk Group - Sketch Pad			
	Mfg/Model: Color/Finish:	Five different colors shall be selected			
	COIOI/TIIIISII.				
		Bidders:	Qty	Unit Cost	Total Cost
	O As Specified	Lakeshore Learning Materials	29	\$109.48	\$3,174.92
	 Alternate 	LAKESHORE - LC162		\$105.40	<i>↓3</i> , 17 <i>4.3L</i>
		Creative Office Pavilion	29	\$211.00	\$6,119.00
	As SpecifiedAlternate	Note: Cotton or synthetic edging quoted -	29	\$211.00	\$0,119.00
				****	+c 225 4 4
	 As Specified Alternate 	Atkinson Carpet Co., Inc. Mohawk Group - Sketch Pad	29	\$214.66	\$6,225.14
_	Alternate	Mohawk Group - Sketch Fau			
	Code	ItemCodeDescription			
	08.RG.0608	Area Rug, 6'x8'			
	<u> </u>	Mohawk Group - Sketch Pad			
	Color/Finish:				
		Bidders:	Qty	Unit Cost	Total Cost
	As Specified	Lakeshore Learning Materials	2	\$183.08	\$366.16
	Alternate	LAKESHORE - LC381			
	O As Specified	Atkinson Carpet Co., Inc.	2	\$230.16	\$460.32
	O Alternate	Mohawk Group - Sketch Pad			
	O As Specified	Creative Office Pavilion	2	\$413.00	\$826.00
	Altornata	Note: Cotton or synthetic adding guoted -			

Alternate
 Note: Cotton or synthetic edging quoted -

PLS Project No: 2014-PLS-004

*** NOTE: BIDS ARE CURRENTLY UNDER ADVISEMENT ***

Code	ItemCodeDescription
08.RG.0810	Area Rug, 8'X10'
	Mohawk Group - Sketch Pad
Color/Finish:	Five different colors shall be selected

	Bidders:	Qty	Unit Cost	Total Cost	
As Specified	Atkinson Carpet Co., Inc.	21	\$413.19	\$8,676.99	
O Alternate	Mohawk Group - Sketch Pad				
O As Specified	Creative Office Pavilion	21	\$494.00	\$10,374.00	
O Alternate	Note: Cotton or synthetic edging quoted -				
Code	ItemCodeDescription				
08.RG.0912	Area Rug, 9'X12'				
	Mohawk Group - Sketch Pad				
Color/Finish:					
	Bidders:	Qty	Unit Cost	Total Cost	
O As Specified	Lakeshore Learning Materials	4	\$321.08	\$1,284.32	
Alternate	LAKESHORE - LC380				
O As Specified	Atkinson Carpet Co., Inc.	4	\$484.47	\$1,937.88	
O Alternate	Mohawk Group - Sketch Pad				
O As Specified	Creative Office Pavilion	4	\$610.00	\$2,440.00	
Alternate	Note: Cotton or synthetic edging quoted -				
Code	ItemCodeDescription				
09.AP.0001	Counter Height Refrigerator				
Mfg/Model:	Summit - FF412ESADA				
Color/Finish:					
	Bidders:	Qty	Unit Cost	Total Cost	

	Bidders:	Qty	Unit Cost	Total Cost
O As Specified	W.B. Mason Co. Inc.	1	\$167.63	\$167.63
Alternate	Avanti - AVARM3306W			
• As Specified	Creative Office Pavilion	1	\$809.00	\$809.00
O Alternate	Summit - FF412ESADA			

Code ItemCodeDescription

09.AP.0002 Microwave, Countertop, 1.4 Cu. Ft. Mfg/Model: GE - JES1460DSWW Color/Finish: White

	Bidders:	Qty	Unit Cost	Total Cost
 As Specified Alternate 	W.B. Mason Co. Inc. Avanti - AVAM01450TW	4	\$130.29	\$521.16
 As Specified Alternate 	Creative Office Pavilion GE - JES1460DSWW	4	\$230.00	\$920.00

PLS Project No: 2014-PLS-004

*** NOTE: BIDS ARE CURRENTLY UNDER ADVISEMENT ***

*** NOTE: BI	DS ARE CURRENTLY UNDER ADVISEMENT ***			
Code	ItemCodeDescription			
09.AR.0001 Mfg/Model: Color/Finish:	Ware Cart with Shelves DEBCOR - 9605 Ware Truck			
	Bidders:	Qty	Unit Cost	Total Cost
As SpecifiedAlternate	School Furnishings, Inc. DEBCOR - 9605 Ware Truck	1	\$651.80	\$651.80
As SpecifiedAlternate	Creative Office Pavilion Brent-Note: 12 Shelves only - 30205-1009 (see attached)	1	\$910.00	\$910.00
Code	ItemCodeDescription			
09.AR.0003 Mfg/Model: Color/Finish:	Clay Slab Roller North Star - Polaris CT-500			
	Bidders:	Qty	Unit Cost	Total Cost
As SpecifiedAlternate	School Furnishings, Inc. North Star - Polaris CT-500	1	\$680.80	\$680.80
 As Specified Alternate 	Creative Office Pavilion North Star - Polaris CT-500	1	\$798.00	\$798.00
Code	ItemCodeDescription			
09.AR.0005 Mfg/Model: Color/Finish:	Self Portrait Mirror - Tabletop Sax - 438881			
	Bidders:	Qty	Unit Cost	Total Cost
 As Specified Alternate 	School Furnishings, Inc. Sax - 438881	30	\$9.59	\$287.70
As SpecifiedAlternate	Creative Office Pavilion Blick (no assembly/delivery only) - 22810-0851 (see attach	30 ed)	\$13.00	\$390.00
Code	ItemCodeDescription			
09.AR.0010 Mfg/Model: Color/Finish:	Heat Proof Kiln Cart Debcor - 9550			
	Bidders:	Qty	Unit Cost	Total Cost
 As Specified Alternate 	School Furnishings, Inc. Debcor - 9550	1	\$605.10	\$605.10
 As Specified Alternate 	Creative Office Pavilion Debcor - 9550	1	\$653.00	\$653.00
Code	ItemCodeDescription			
09.AR.0012 Mfg/Model: Color/Finish:	Folding Step Stool Cosco - 11565CLGG4			
	Bidders:	Qty	Unit Cost	Total Cost
As SpecifiedAlternate	Creative Office Pavilion Cosco - T9FB1639554 (see attached)	1	\$84.00	\$84.00

© Copyright 2015	Date	Page
Point Line Space, Inc.	02.06.17	44

PLS Project No: 2014-PLS-004

*** NOTE: BIDS ARE CURRENTLY UNDER ADVISEMENT ***

Code ItemCodeDescription 09.AR.0015 Cart, Demonstration, Mobile, Phenolic Top

Mfg/Model: Shain Solutions - DC-2436C

	Bidders:	Qty	Unit Cost	Total Cost
 As Specified Alternate 	Business Interiors By Staples Shain Solutions - DC-2436C	1	\$459.00	\$459.00
• As Specified	W.B. Mason Co. Inc.	1	\$682.72	\$682.72
O Alternate	Shain Solutions - DC-2436C		\$00L.1L	\$00L.7 L
As SpecifiedAlternate	Creative Office Pavilion Diversified Woodcraft - MOC.2436C (see attached)	1	\$735.00	\$735.00
Code	ItemCodeDescription			
09.AR.0018	Printing Plates, Student Class Pack of 10, 5"x5"			
Mfg/Model: Color/Finish:	Gelli Arts -			
	Bidders:	Qty	Unit Cost	Total Cost
As Specified	Creative Office Pavilion	3	\$20.00	\$60.00
O Alternate	Gelli Arts -			
O As Specified	School Furnishings, Inc.	3	\$157.66	\$472.98
O Alternate	Gelli Arts -			
Code	ItemCodeDescription			
09.AR.0019 Mfg/Model: Color/Finish:				
	Bidders:	Qty	Unit Cost	Total Cost
As Specified	Creative Office Pavilion	30	\$15.00	\$450.00
O Alternate	Gelli Arts -			
As Specified	School Furnishings, Inc.	30	\$15.70	\$471.00
O Alternate	Gelli Arts -			
Code	ItemCodeDescription			
09.AR.0020 Mfg/Model: Color/Finish:				
	Bidders:	Qty	Unit Cost	Total Cost
O As Specified	NO BID	3	\$25.00	\$75.00
O Alternate	Gelli Arts -			
Code	ItemCodeDescription			
09.AR.0021 Mfg/Model: Color/Finish:				
	Bidders:	Qty	Unit Cost	Total Cost
O As Specified	NO BID	3	\$25.00	\$75.00
O Alternate	Gelli Arts -			

© Copyright 2015	Date	Page
Point Line Space, Inc.	02.06.17	45

Zervas Elementary School Newton, MA Architect: Perkins Eastman/DPC

PLS Project No: 2014-PLS-004

*** NOTE: BIDS ARE CURRENTLY UNDER ADVISEMENT ***

CodeItemCodeDescription09.AR.0106Drying Rack, Mobile, 22"x32" (50) ShelvesMfg/Model:Gran Adell - Blick-51305-1104Color/Finish:Color/Finish:

	Bidders:	Qty	Unit Cost	Total Cost
O As Specified	Lakeshore Learning Materials	1	\$137.08	\$137.08
Alternate	LAKESHORE - LC652			
As Specified	School Furnishings, Inc.	1	\$1,719.37	\$1,719.37
O Alternate	Gran Adell - Blick-51305-1104			
As Specified	Creative Office Pavilion	1	\$2,171.00	\$2,171.00
O Alternate	Gran Adell - Blick-51305-1104			

Code

09.AR.0107 Easel, Table Top

Mfg/Model: American Easel - Blick-51359-1001

ItemCodeDescription

Color/Finish:

	Bidders:	Qty	Unit Cost	Total Cost
 As Specified Alternate 	School Furnishings, Inc. American Easel - Blick-51359-1001	3	\$28.48	\$85.44
As SpecifiedAlternate	Creative Office Pavilion Note: AS - Updated model #50359-1001	3	\$48.00	\$144.00
As SpecifiedAlternate	Lakeshore Learning Materials LAKESHORE - TT379	3	\$55.19	\$165.57

Code ItemCodeDescription
09.AR.0108 Rigid Heddle Loc

.0108 Rigid Heddle Loom Mfg/Model: Beka - Blick-65019-1010 Color/Finish:

	Bidders:	Qty	Unit Cost	Total Cost
As SpecifiedAlternate	School Furnishings, Inc. Beka - Blick-65019-1010	1	\$63.26	\$63.26
 As Specified Alternate 	Creative Office Pavilion Beka - Blick-65019-1010	1	\$96.00	\$96.00

Code ItemCodeDescription 09.AR.0109 Friendly Loom

Mfg/Model: - Blick-65013-1048

	Bidders:	Qty	Unit Cost	Total Cost
As SpecifiedAlternate	School Furnishings, Inc. - Blick-65013-1048	1	\$337.14	\$337.14
 As Specified Alternate 	Creative Office Pavilion - Blick-65013-1048	1	\$347.00	\$347.00

© Copyright 2015	Date P	age	
Point Line Space, Inc.	02.06.17	46	

PLS Project No: 2014-PLS-004

*** NOTE: BIDS ARE CURRENTLY UNDER ADVISEMENT ***

	DS ARE CORRENTET ONDER ADVISEMENT			
Code	ItemCodeDescription			
09.AR.0110 Mfg/Model: Color/Finish:	Mini Loom Schacht - Blick-65021-1009			
	Bidders:	Qty	Unit Cost	Total Cost
 As Specified Alternate 	School Furnishings, Inc. Schacht - Blick-65021-1009	6	\$45.30	\$271.80
As SpecifiedAlternate	Creative Office Pavilion Schacht - Blick-65021-1009	6	\$79.00	\$474.00
Code	ItemCodeDescription			
09.AR.0111 Mfg/Model: Color/Finish:	Vertical Tile Setter, Set of 2 Orton - Blick-32914-1007			
	Bidders:	Qty	Unit Cost	Total Cost
 As Specified Alternate 	School Furnishings, Inc. Orton - Blick-32914-1007	10	\$22.09	\$220.90
As SpecifiedAlternate	Creative Office Pavilion Orton - Blick-32914-1007	10	\$26.00	\$260.00
Code	ItemCodeDescription			
09.AR.0112 Mfg/Model: Color/Finish:	Light Box with Replacement Bulb Litebox - Blick-55305-1009 + 55305-0100			
	Bidders:	Qty	Unit Cost	Total Cost
As SpecifiedAlternate	Lakeshore Learning Materials LAKESHORE - LL526	1	\$275.08	\$275.08
As SpecifiedAlternate	Creative Office Pavilion Litebox - Blick-55305-1009 + 55305-0100	1	\$333.00	\$333.00
As SpecifiedAlternate	School Furnishings, Inc. Litebox - Blick-55305-1009 + 55305-0100	1	\$338.95	\$338.95
Code	ItemCodeDescription			
09.AR.0113 Mfg/Model: Color/Finish:	Magnetic Tiles, Clear Colors, 100 Piece Set Magna Tiles - 04300			
	Bidders:	Qty	Unit Cost	Total Cost
As SpecifiedAlternate	Lakeshore Learning Materials LAKESHORE - DG547	1	\$119.59	\$119.59
Code	ItemCodeDescription			
09.KS.0001 Mfg/Model: Color/Finish:	Full Sheet Pan Advance - 18-8A-26			
	Bidders:	Qty	Unit Cost	Total Cost
As SpecifiedAlternate	W.B. Mason Co. Inc. Advance - 18-8A-26	30	\$9.18	\$275.40

© Copyright 2015	Date	Page
Point Line Space, Inc.	02.06.17	47

PLS Project No: 2014-PLS-004

NIC NITI ٨

*** NOTE: BI	DS ARE CURRENTLY UNDER ADVISEMENT ***			
• As Specified	Kittredge Equipment	30	\$11.86	\$355.74
O Alternate	Advance - 18-8A-26			
 As Specified Alternate 	Creative Office Pavilion Vollrath - 9002 (see attached)	30	\$12.00	\$360.00
	· · ·	20	¢12.00	
 As Specified Alternate 	School Furnishings, Inc. Advance - 18-8A-26	30	\$12.86	\$385.80
Code	ItemCodeDescription			
09.KS.0002	Half Sheet Pan			
	Advance - 18-8A-13			
	Bidders:	Qty	Unit Cost	Total Cost
 As Specified Alternate 	W.B. Mason Co. Inc. Advance - 18-8A-13	20	\$7.00	\$140.00
As Specified	School Furnishings, Inc.	20	\$10.36	\$207.20
O Alternate	Advance - 18-8A-13		\$10.50	\$207.20
• As Specified	Kittredge Equipment	20	\$10.59	\$211.75
O Alternate	Advance - 18-8A-13			
 As Specified Alternate 	Creative Office Pavilion Vollrath - 5303 (see attached)	20	\$11.00	\$220.00
-	· ·			
Code	ItemCodeDescription			
09.KS.0003 Mfg/Model:	Plastic Scraper Vollrath - 52013			
Color/Finish:				
	Bidders:	Qty	Unit Cost	Total Cost
• As Specified	Kittredge Equipment	12	\$1.90	\$22.74
O Alternate	Vollrath - 52013			
• As Specified	W.B. Mason Co. Inc.	12	\$3.20	\$38.40
O Alternate	Vollrath - 52013		*	+ + + + + + + + + + + + + + + + + + + +
 As Specified Alternate 	Creative Office Pavilion Vollrath - 52013	12	\$4.00	\$48.00
• As Specified	School Furnishings, Inc.	12	\$9.27	\$111.24
O Alternate	Vollrath - 52013	12	ψ3.Ε1	φττι <u></u> 21
Code	ItemCodeDescription			
09.KS.0004	Solid Basting Spoon, 13"			
Mfg/Model: Color/Finish:				
colory rimsh.				
	Bidders:	Qty	Unit Cost	Total Cost
 As Specified Alternate 	Kittredge Equipment Winco - BHOP-13	12	\$0.76	\$9.11
_	Creative Office Pavilion	12	\$2.00	\$24.00
 As Specified Alternate 	ABC Procurements - BSPH-13-S (see attached)	12	.00	ş24.00
• As Specified	W.B. Mason Co. Inc.	12	\$2.75	\$33.00

• As Specified	School Furnishings, Inc.	12	\$4.86	\$58.32
O Alternate	Winco - BHOP-13			

Page 48

© Copyright 2015	Date
Point Line Space, Inc.	02.06.17

PLS Project No: 2014-PLS-004

*** NOTE: BIDS ARE CURRENTLY UNDER ADVISEMENT ***

Cod	е

ItemCodeDescription

09.KS.0005 Perforated Basting Spoon, 13" Mfg/Model: Winco - BHPP-13

	Bidders:	Qty	Unit Cost	Total Cost
As Specified	Kittredge Equipment	12	\$0.76	\$9.11
O Alternate	Winco - BHPP-13			
O As Specified	Creative Office Pavilion	12	\$2.00	\$24.00
O Alternate	ABC Procurements - BSPH-13-P (see attached)			
As Specified	W.B. Mason Co. Inc.	12	\$2.75	\$33.00
O Alternate	Winco - BHPP-13			
 As Specified Alternate 	School Furnishings, Inc. Winco - BHPP-13	12	\$4.86	\$58.32
-				
Code	ItemCodeDescription			
09.KS.0006 Mfg/Model:	Pan Grabber San Jamar - 803PG			
Color/Finish:				
	Bidders:	Qty	Unit Cost	Total Cost
As Specified	School Furnishings, Inc.	12	\$4.13	\$49.56
O Alternate	San Jamar - 803PG			
As Specified	W.B. Mason Co. Inc.	12	\$4.75	\$57.00
O Alternate	San Jamar - 803PG			
As Specified	Kittredge Equipment	12	\$38.40	\$460.85
O Alternate	San Jamar - 803PG			
 As Specified Alternate 	Creative Office Pavilion San Jamar - 803PG	12	\$56.00	\$672.00
O Alternate	Sali Jalilai - 005PG			
Code	ItemCodeDescription			
09.KS.0007	Pizza Pan, 16" Winco - APZT-16			
Mfg/Model: Color/Finish:	WIICO - APZT-TO			
	Bidders:	Qty	Unit Cost	Total Cost
As Specified	Kittredge Equipment	12	\$2.77	\$33.22
O Alternate	Winco - APZT-16			
As Specified	W.B. Mason Co. Inc.	12	\$3.99	\$47.88
O Alternate	Winco - APZT-16			
O As Specified	School Furnishings, Inc.	12	\$7.80	\$93.60
O Alternate	Winco - APZT-16			
O As Specified	Creative Office Pavilion	12	\$8.00	\$96.00
Alternate	American Metalcraft - TP16 (see attached)			

PLS Project No: 2014-PLS-004

*** NOTE: BIDS ARE CURRENTLY UNDER ADVISEMENT ***

Code	
09.KS.0008	

Elevator Riser, Full Size

ItemCodeDescription

Mfg/Model: Vollrath - 19196

Color/Finish:

	Bidders:	Qty	Unit Cost	Total Cost
As SpecifiedAlternate	Kittredge Equipment Vollrath - 19196	12	\$68.28	\$819.40
As SpecifiedAlternate	School Furnishings, Inc. Vollrath - 19196	12	\$83.63	\$1,003.56
 As Specified Alternate 	W.B. Mason Co. Inc. Vollrath - 19196	12	\$84.25	\$1,011.00
 As Specified Alternate 	Creative Office Pavilion Vollrath - 19196	12	\$100.00	\$1,200.00

Code

ItemCodeDescription 09.KS.0009 Third Hotel Pan, 2-1/2"D

Mfg/Model: Vollrath - Super Pan II 30322

Color/Finish:

	Bidders:	Qty	Unit Cost	Total Cost
O As Specified	Creative Office Pavilion	10	\$8.00	\$80.00
Alternate	ABC Procurements - 222032931 (see attached)			
O As Specified	Kittredge Equipment	10	\$9.96	\$99.63
O Alternate	Vollrath - Super Pan II 30322			
O As Specified	School Furnishings, Inc.	10	\$14.46	\$144.60
O Alternate	Vollrath - Super Pan II 30322			
O As Specified	W.B. Mason Co. Inc.	10	\$16.58	\$165.80
O Alternate	Vollrath - Super Pan II 30322			

Code ItemCodeDescription

09.KS.0010 Adaptor Bars, 12" Mfg/Model: Vollrath - 75012

	Bidders:	Qty	Unit Cost	Total Cost
 As Specified Alternate 	Kittredge Equipment Vollrath - 75012	10	\$3.69	\$36.94
As SpecifiedAlternate	Creative Office Pavilion ABC Procurements - AB-12 (see attached)	10	\$5.00	\$50.00
As SpecifiedAlternate	W.B. Mason Co. Inc. Vollrath - 75012	10	\$5.85	\$58.50
As SpecifiedAlternate	School Furnishings, Inc. Vollrath - 75012	10	\$7.90	\$79.00

© Copyright 2015	Date	Page
Point Line Space, Inc.	02.06.17	50

PLS Project No: 2014-PLS-004

*** NOTE: BIDS ARE CURRENTLY UNDER ADVISEMENT ***

Code

ItemCodeDescription

09.KS.0011 Adaptor Bars, 20-1/2" Mfg/Model: Vollrath - 75020

Color/Finish:

	Bidders:	Qty	Unit Cost	Total Cost
 As Specified Alternate 	Kittredge Equipment Vollrath - 75020	10	\$5.64	\$56.38
As Specified Alternate	Creative Office Pavilion ABC Procurements - AB-20 (see attached)	10	\$6.00	\$60.00
 As Specified Alternate 	W.B. Mason Co. Inc. Vollrath - 75020	10	\$7.85	\$78.50
As SpecifiedAlternate	School Furnishings, Inc. Vollrath - 75020	10	\$9.54	\$95.40
Code	ItemCodeDescription			

Code

Code

09.KS.0012 Full Hotel Pan, 2-1/2"D Mfg/Model: Vollrath - Super Pan II 30022

Color/Finish:

	Bidders:	Qty	Unit Cost	Total Cost
O As Specified	Creative Office Pavilion	8	\$15.00	\$120.00
Alternate	ABC Procurements - 222002931 (see attached)			
As Specified	Kittredge Equipment	8	\$17.35	\$138.80
O Alternate	Vollrath - Super Pan II 30022			
As Specified	School Furnishings, Inc.	8	\$23.61	\$188.88
O Alternate	Vollrath - Super Pan II 30022			
As Specified	W.B. Mason Co. Inc.	8	\$25.58	\$204.64
O Alternate	Vollrath - Super Pan II 30022			

ItemCodeDescription

09.KS.0013 Half Hotel Pan, 2-1/2"D Mfg/Model: Vollrath - Super Pan II 30222 Color/Finish:

Bidders: 6

 As Specified Alternate 	W.B. Mason Co. Inc. Vollrath - Super Pan II 30222	8	\$6.20	\$49.60
As SpecifiedAlternate	Creative Office Pavilion ABC Procurements - 222022931 (see attached)	8	\$10.00	\$80.00
 As Specified Alternate 	Kittredge Equipment Vollrath - Super Pan II 30222	8	\$10.79	\$86.31
As SpecifiedAlternate	School Furnishings, Inc. Vollrath - Super Pan II 30222	8	\$15.47	\$123.76

Qty

Unit Cost

Total Cost

© Copyright 2015	Date	Page
Point Line Space, Inc.	02.06.17	51

PLS Project No: 2014-PLS-004

*** NOTE: BIDS ARE CURRENTLY UNDER ADVISEMENT ***

Code

ItemCodeDescription

ItemCodeDescription

Pocket Thermometer

09.KS.0014 Taco Holder Mfg/Model: Tablecraft - TRS34

Color/Finish:

	Bidders:	Qty	Unit Cost	Total Cost
 As Specified Alternate 	Kittredge Equipment Tablecraft - TRS34	8	\$4.36	\$34.88
As SpecifiedAlternate	W.B. Mason Co. Inc. Tablecraft - TRS34	8	\$6.80	\$54.40
As SpecifiedAlternate	Creative Office Pavilion Tablecraft - TRS34	8	\$8.00	\$64.00
 As Specified Alternate 	School Furnishings, Inc. Tablecraft - TRS34	8	\$9.27	\$74.16

Code

09.KS.0015

Mfg/Model: Taylor - 6092NBR Color/Finish:

	Bidders:	Qty	Unit Cost	Total Cost
 As Specified Alternate 	W.B. Mason Co. Inc. Taylor - 6092NBR	8	\$6.30	\$50.40
As SpecifiedAlternate	Creative Office Pavilion Taylor - 6092NBR	8	\$8.00	\$64.00
As SpecifiedAlternate	School Furnishings, Inc. Taylor - 6092NBR	8	\$8.20	\$65.60
As SpecifiedAlternate	Kittredge Equipment Taylor - 6092NBR	8	\$9.24	\$73.92
Code	ItemCodeDescription			

Code 09.KS.0016

.0016 Half Long Pan, 2-1/2"D Mfg/Model: Vollrath - Super Pan II 30522 Color/Finish:

	Bidders:	Qty	Unit Cost	Total Cost
As SpecifiedAlternate	Kittredge Equipment Vollrath - Super Pan II 30522	6	\$18.71	\$112.27
As SpecifiedAlternate	School Furnishings, Inc. Vollrath - Super Pan II 30522	6	\$23.64	\$141.84
As SpecifiedAlternate	W.B. Mason Co. Inc. Vollrath - Super Pan II 30522	6	\$23.75	\$142.50
 As Specified Alternate 	Creative Office Pavilion Vollrath - Super Pan II 30522	6	\$28.00	\$168.00

© Copyright 2015	Date	Page
Point Line Space, Inc.	02.06.17	52

PLS Project No: 2014-PLS-004

*** NOTE: BIDS ARE CURRENTLY UNDER ADVISEMENT ***

Code

ItemCodeDescription

ItemCodeDescription

09.KS.0017 Half Long Pan, 4"D Mfg/Model: Vollrath - Super Pan II 30542

Co	lor/l	Fini	sh:

	Bidders:	Qty	Unit Cost	Total Cost
As Specified	Kittredge Equipment	6	\$23.33	\$139.97
O Alternate	Vollrath - Super Pan II 30542			
As Specified	School Furnishings, Inc.	6	\$28.68	\$172.08
O Alternate	Vollrath - Super Pan II 30542			
As Specified	W.B. Mason Co. Inc.	6	\$29.50	\$177.00
O Alternate	Vollrath - Super Pan II 30542			
As Specified	Creative Office Pavilion	6	\$35.00	\$210.00
O Alternate	Vollrath - Super Pan II 30542			

Code

Code

09.KS.0018 Muffin Pan, 24-Cup Mfg/Model: ABC - MCP-24NS

Color/Finish:

	Bidders:	Qty	Unit Cost	Total Cost
As Specified	School Furnishings, Inc.	6	\$22.25	\$133.50
O Alternate	ABC - MCP-24NS			
As Specified	Kittredge Equipment	6	\$25.50	\$153.02
O Alternate	ABC - MCP-24NS			
As Specified	Creative Office Pavilion	6	\$27.00	\$162.00
O Alternate	ABC - MCP-24NS			
O As Specified	W.B. Mason Co. Inc.	6	\$35.00	\$210.00
Alternate	Admiral Craft - AM/NS-24			

ItemCodeDescription

09.KS.0019 Pail, 6 Quart

Mfg/Model: San Jamar - KP196GN Color/Finish:

	Bidders:	Qty	Unit Cost	Total Cost
As SpecifiedAlternate	Kittredge Equipment San Jamar - KP196GN	6	\$3.65	\$21.92
As SpecifiedAlternate	W.B. Mason Co. Inc. San Jamar - KP196GN	6	\$5.80	\$34.80
As SpecifiedAlternate	Creative Office Pavilion San Jamar - KP196GN	6	\$7.00	\$42.00
 As Specified Alternate 	School Furnishings, Inc. San Jamar - KP196GN	6	\$7.53	\$45.18

PLS Project No: 2014-PLS-004

*** NOTE: BIDS ARE CURRENTLY UNDER ADVISEMENT ***

Code

ItemCodeDescription Basting Brush, 2"

ItemCodeDescription

couc	nemeouebeschption
09.KS.0020	Basting Brush, 2"
Mfg/Model:	Carlisle - 4037400

Color/Finish:

	Bidders:	Qty	Unit Cost	Total Cost
As SpecifiedAlternate	Kittredge Equipment Carlisle - 4037400	6	\$6.86	\$41.18
 As Specified Alternate 	W.B. Mason Co. Inc. Carlisle - 4037400	6	\$9.05	\$54.30
As SpecifiedAlternate	School Furnishings, Inc. Carlisle - 4037400	6	\$11.72	\$70.32
 As Specified Alternate 	Creative Office Pavilion Carlisle - 4037400	6	\$12.00	\$72.00

Code

09.KS.0021 Spring Utility Tongs, 9-1/2"L Mfg/Model: Winco - UT-9

Color/Finish:

	Bidders:	Qty	Unit Cost	Total Cost
As SpecifiedAlternate	Kittredge Equipment Winco - UT-9	6	\$0.86	\$5.15
As SpecifiedAlternate	W.B. Mason Co. Inc. Winco - UT-9	6	\$2.80	\$16.80
O As Specified O Alternate	Creative Office Pavilion ABC Procurements - UTH-09-P (see attached)	6	\$3.00	\$18.00
As SpecifiedAlternate	School Furnishings, Inc. Winco - UT-9	6	\$8.55	\$51.30
Code	ItemCodeDescription			

ItemCodeDescription

09.KS.0022 Spring Utility Tongs, 12"L Mfg/Model: Winco - UT-12

	Bidders:	Qty	Unit Cost	Total Cost
 As Specified Alternate 	Kittredge Equipment Winco - UT-12	6	\$1.12	\$6.72
As SpecifiedAlternate	Creative Office Pavilion ABC Procurements - UTH-12-P (see attached)	6	\$3.00	\$18.00
As SpecifiedAlternate	W.B. Mason Co. Inc. Winco - UT-12	6	\$3.05	\$18.30
As SpecifiedAlternate	School Furnishings, Inc. Winco - UT-12	6	\$9.49	\$56.94

PLS Project No: 2014-PLS-004

Zervas Elementary School Newton, MA Architect: Perkins Eastman/DPC

*** NOTE: BIDS ARE CURRENTLY UNDER ADVISEMENT ***

Code ItemCodeDescription

09.KS.0023

Scoop

Mfg/Model: ABC - ASC-38

Color/Finish:

	Bidders:	Qty	Unit Cost	Total Cost
As SpecifiedAlternate	Kittredge Equipment ABC - ASC-38	6	\$4.41	\$26.48
As SpecifiedAlternate	W.B. Mason Co. Inc. Admiral Craft - ALS-9	6	\$6.60	\$39.60
As SpecifiedAlternate	Creative Office Pavilion ABC - ASC-38	6	\$8.00	\$48.00
 As Specified Alternate 	School Furnishings, Inc. ABC - ASC-38	6	\$19.17	\$115.02

Code ItemCodeDescription

09.KS.0024 Ladle, 2 Oz. Mfg/Model: Admiral Craft - LIPC-2 Color/Finish:

	Bidders:	Qty	Unit Cost	Total Cost
As Specified	Kittredge Equipment	6	\$0.89	\$5.37
O Alternate	Admiral Craft - LIPC-2			
O As Specified	Creative Office Pavilion	6	\$3.00	\$18.00
Alternate	ABC Procurements - LL-02-P (see attached)			
As Specified	W.B. Mason Co. Inc.	6	\$3.00	\$18.00
O Alternate	Admiral Craft - LIPC-2			
O As Specified	School Furnishings, Inc.	6	\$4.85	\$29.10
Alternate	Winco - LDI-2			

Code ItemCodeDescription

09.KS.0025 Ladle, 4 Oz. Mfg/Model: Winco - LDI-4

	Bidders:	Qty	Unit Cost	Total Cost
 As Specified Alternate 	Kittredge Equipment Winco - LDI-4	6	\$1.08	\$6.45
As SpecifiedAlternate	Creative Office Pavilion ABC Procurements - LL-04-P (see attached)	6	\$3.00	\$18.00
 As Specified Alternate 	W.B. Mason Co. Inc. Winco - LDI-4	6	\$3.00	\$18.00
As SpecifiedAlternate	School Furnishings, Inc. Winco - LDI-4	6	\$5.32	\$31.92

© Copyright 2015	Date	Page
Point Line Space, Inc.	02.06.17	55

PLS Project No: 2014-PLS-004

*** NOTE: BIDS ARE CURRENTLY UNDER ADVISEMENT ***

ItemCodeDescription Code

09.KS.0026 Ladle, 6 Oz.

Mfg/Model: Winco - LDI-6

Color/Finish:

	Bidders:	Qty	Unit Cost	Total Cost
 As Specified Alternate 	Kittredge Equipment Winco - LDI-6	6	\$1.32	\$7.95
As SpecifiedAlternate	Creative Office Pavilion ABC Procurements - LL-06-P (see attached)	6	\$3.00	\$18.00
As SpecifiedAlternate	W.B. Mason Co. Inc. Winco - LDI-6	6	\$3.25	\$19.50
As SpecifiedAlternate	School Furnishings, Inc. Winco - LDI-6	6	\$4.69	\$28.14
Code	ItemCodeDescription			

09.KS.0027

Food Storage Box, 13-Gal. Mfg/Model: Cambro - 18269CW135 Color/Finish:

	Bidders:	Qty	Unit Cost	Total Cost
• As Specified	Kittredge Equipment	6	\$30.98	\$185.90
O Alternate	Cambro - 18269CW135			
O As Specified	W.B. Mason Co. Inc.	6	\$38.75	\$232.50
O Alternate	Cambro - 18269CW135			
O As Specified	Creative Office Pavilion	6	\$47.00	\$282.00
O Alternate	Cambro - 18269CW135			
As Specified	School Furnishings, Inc.	6	\$91.48	\$548.88
O Alternate	Cambro - 18269CW135			

ItemCodeDescription

09.KS.0028 Food Storage Box, 22-Gal. Mfg/Model: Cambro - 182615CW135

Color/Finish:

Code

	Bidders:	Qty	Unit Cost	Total Cost
 As Specified Alternate 	Kittredge Equipment Cambro - 182615CW135	6	\$44.53	\$267.19
 As Specified Alternate 	W.B. Mason Co. Inc. Cambro - 182615CW135	6	\$55.18	\$331.08
 As Specified Alternate 	Creative Office Pavilion Cambro - 182615CW135	6	\$66.00	\$396.00
 As Specified Alternate 	School Furnishings, Inc. Cambro - 182615CW135	6	\$96.54	\$579.24

PLS Project No: 2014-PLS-004

*** NOTE: BIDS ARE CURRENTLY UNDER ADVISEMENT ***

Code

ItemCodeDescription

09.KS.0029 Vegetable Peeler Mfg/Model: Admiral Craft - GRP-65YP

Color/Finish:

	Bidders:	Qty	Unit Cost	Total Cost
 As Specified Alternate 	Kittredge Equipment Admiral Craft - GRP-65YP	2	\$2.93	\$5.86
As SpecifiedAlternate	Creative Office Pavilion Tablecraft - E5602 (see attached)	2	\$5.00	\$10.00
 As Specified Alternate 	W.B. Mason Co. Inc. Admiral Craft - GRP-65YP	2	\$5.20	\$10.40
 As Specified Alternate 	School Furnishings, Inc. Admiral Craft - GRP-65YP	2	\$25.96	\$51.92

Code ItemCodeDescription

09.KS.0030 Full Perforated Pan, 2-1/2"D Mfg/Model: Vollrath - Super Pan II 30023 Color/Finish:

	Bidders:	Qty	Unit Cost	Total Cost
O As Specified	Creative Office Pavilion	4	\$19.00	\$76.00
Alternate	ABC Procurements - 2220023 (see attached)			
As Specified	Kittredge Equipment	4	\$28.72	\$114.89
O Alternate	Vollrath - Super Pan II 30023			
As Specified	W.B. Mason Co. Inc.	4	\$39.80	\$159.20
O Alternate	Vollrath - Super Pan II 30023			
As Specified	School Furnishings, Inc.	4	\$43.81	\$175.24
O Alternate	Vollrath - Super Pan II 30023			

Code ItemCodeDescription

09.KS.0031 Full Perforated Pan, 4"D

Mfg/Model: Vollrath - Super Pan II 30043 Color/Finish:

	Bidders:	Qty	Unit Cost	Total Cost
O As Specified	Creative Office Pavilion	4	\$26.00	\$104.00
Alternate	ABC Procurements - 2220043 (see attached)			
As Specified	Kittredge Equipment	4	\$35.92	\$143.66
O Alternate	Vollrath - Super Pan II 30043			
As Specified	W.B. Mason Co. Inc.	4	\$48.25	\$193.00
O Alternate	Vollrath - Super Pan II 30043			
As Specified	School Furnishings, Inc.	4	\$53.39	\$213.56
O Alternate	Vollrath - Super Pan II 30043			

© Copyright 2015	Date	Page
Point Line Space, Inc.	02.06.17	57

PLS Project No: 2014-PLS-004

*** NOTE: BIDS ARE CURRENTLY UNDER ADVISEMENT ***

Code

ItemCodeDescription

09.KS.0032 Mfg/Model: Half Perforated Pan, 2-1/2"D Vollrath - Super Pan II 30223

Color/Finish:

	Bidders:	Qty	Unit Cost	Total Cost
As SpecifiedAlternate	Creative Office Pavilion ABC Procurements - 2220223 (see attached)	4	\$14.00	\$56.00
 As Specified Alternate 	Kittredge Equipment Vollrath - Super Pan II 30223	4	\$19.05	\$76.20
 As Specified Alternate 	W.B. Mason Co. Inc. Vollrath - Super Pan II 30223	4	\$27.65	\$110.60
 As Specified Alternate 	School Furnishings, Inc. Vollrath - Super Pan II 30223	4	\$30.34	\$121.36

Code ItemCodeDescription

09.KS.0033 Mfg/Model: Winco - LDI-8 Color/Finish:

Bidders: Unit Cost **Total Cost** Qty **Kittredge Equipment** • As Specified 4 \$1.50 \$6.00 Winco - LDI-8 **O** Alternate O As Specified **Creative Office Pavilion** 4 \$3.00 \$12.00 Alternate ABC Procurements - LL-08-P (see attached) \$3.40 • As Specified W.B. Mason Co. Inc. 4 \$13.60 O Alternate Winco - LDI-8 \$19.76 • As Specified School Furnishings, Inc. 4 \$4.94 **O** Alternate Winco - LDI-8

ItemCodeDescription

09.KS.0034 Mixing Bowl, 8 Quart Mfg/Model: Update - MB-800

Color/Finish:

Code

	Bidders:	Qty	Unit Cost	Total Cost
As SpecifiedAlternate	Kittredge Equipment Update - MB-800	4	\$3.10	\$12.39
As SpecifiedAlternate	W.B. Mason Co. Inc. Winco - MXB-800Q	4	\$4.30	\$17.20
As SpecifiedAlternate	Creative Office Pavilion ABC Procurements - MBH-08-P (see attached)	4	\$11.00	\$44.00
 As Specified Alternate 	School Furnishings, Inc. Update - MB-800	4	\$12.04	\$48.16

PLS Project No: 2014-PLS-004

*** NOTE: BIDS ARE CURRENTLY UNDER ADVISEMENT ***

ItemCodeDescription

09.KS.0035 Mixing Bowl, 13 Quart Mfg/Model: Update - MB-1300

Color/Finish:

	Bidders:	Qty	Unit Cost	Total Cost
 As Specified Alternate 	Kittredge Equipment Update - MB-1300	4	\$4.12	\$16.49
As SpecifiedAlternate	W.B. Mason Co. Inc. Winco - MXB-1300Q	4	\$5.05	\$20.20
As SpecifiedAlternate	Creative Office Pavilion ABC Procurements - MBH-13-P (see attached)	4	\$13.00	\$52.00
 As Specified Alternate 	School Furnishings, Inc. Update - MB-1300	4	\$18.21	\$72.84
Code	ItemCodeDescription			
09.KS.0036	Trash Barrel			

.0036 Trash Barrel Mfg/Model: Rubbermaid Brute - 265500GRAY Color/Finish:

	Bidders:	Qty	Unit Cost	Total Cost
 As Specified Alternate 	School Furnishings, Inc. Rubbermaid Brute - 265500GRAY	3	\$53.60	\$160.80
As SpecifiedAlternate	Creative Office Pavilion Carlisle - 34105523 (see attached)	3	\$73.00	\$219.00
 As Specified Alternate 	Kittredge Equipment Rubbermaid Brute - 265500GRAY	3	\$96.79	\$290.37
As SpecifiedAlternate	W.B. Mason Co. Inc. Rubbermaid Brute - 265500GRAY	3	\$155.48	\$466.44

Code ItemCodeDescription

09.KS.0037 Sheet Pan Rack

Mfg/Model: Cres-Cor - 200-1841 Color/Finish:

	Bidders:	Qty	Unit Cost	Total Cost
 As Specified Alternate 	Kittredge Equipment Cres-Cor - 200-1841	2	\$699.73	\$1,399.46
 As Specified Alternate 	School Furnishings, Inc. Cres-Cor - 200-1841	2	\$880.87	\$1,761.74
As SpecifiedAlternate	Creative Office Pavilion AS - updated model#:200-1841A	2	\$1,009.00	\$2,018.00
As SpecifiedAlternate	W.B. Mason Co. Inc. Cres-Cor - 200-1841	2	\$1,045.88	\$2,091.76

© Copyright 2015	Date	Page
Point Line Space, Inc.	02.06.17	59

PLS Project No: 2014-PLS-004

Zervas Elementary School Newton, MA Architect: Perkins Eastman/DPC

*** NOTE: BIDS ARE CURRENTLY UNDER ADVISEMENT ***

Code ItemCodeDescription

09.KS.0038 Sauce Pan, 3-3/4 Qt.

Mfg/Model: Vollrath - 4343-1/2

Color/Finish:

	Bidders:	Qty	Unit Cost	Total Cost
 As Specified Alternate 	Kittredge Equipment Vollrath - 4343-1/2	2	\$20.07	\$40.14
 As Specified Alternate 	School Furnishings, Inc. Vollrath - 4343-1/2	2	\$28.86	\$57.72
 As Specified Alternate 	W.B. Mason Co. Inc. Vollrath - 4343-1/2	2	\$28.95	\$57.90
As SpecifiedAlternate	Creative Office Pavilion AS - updated model#:434312	2	\$32.00	\$64.00

Code

09.KS.0039 Sauce Pan, 5-1/2 Qt. Mfg/Model: Vollrath - 4345-1/2 Color/Finish:

ItemCodeDescription

	Bidders:	Qty	Unit Cost	Total Cost
As SpecifiedAlternate	Kittredge Equipment Vollrath - 4345-1/2	2	\$24.45	\$48.89
As SpecifiedAlternate	W.B. Mason Co. Inc. Vollrath - 4345-1/2	2	\$33.35	\$66.70
As SpecifiedAlternate	School Furnishings, Inc. Vollrath - 4345-1/2	2	\$34.31	\$68.62
As Specified Alternate	Creative Office Pavilion AS - updaed mpdel#:434512	2	\$38.00	\$76.00

Code 09.KS.0040 ItemCodeDescription

.0040 Sauce Pan, 7 Qt. Mfg/Model: Vollrath - 4347 Color/Finish:

	Bidders:	Qty	Unit Cost	Total Cost
As SpecifiedAlternate	Kittredge Equipment Vollrath - 4347	2	\$29.35	\$58.71
 As Specified Alternate 	W.B. Mason Co. Inc. Vollrath - 4347	2	\$39.35	\$78.70
As SpecifiedAlternate	School Furnishings, Inc. Vollrath - 4347	2	\$40.44	\$80.88
 As Specified Alternate 	Creative Office Pavilion Vollrath - 4347	2	\$46.00	\$92.00

© Copyright 2015	Date	Page
Point Line Space, Inc.	02.06.17	60

PLS Project No: 2014-PLS-004

Zervas Elementary School Newton, MA Architect: Perkins Eastman/DPC

*** NOTE: BIDS ARE CURRENTLY UNDER ADVISEMENT ***

Code ItemCodeDescription

09.KS.0041

Fry Pan, 14"

ItemCodeDescription

Stock Pot, 40 Quart

Mfg/Model: Vollrath - 4014

Color/Finish:

	Bidders:	Qty	Unit Cost	Total Cost
 As Specified Alternate 	Kittredge Equipment Vollrath - 4014	2	\$39.80	\$79.61
 As Specified Alternate 	W.B. Mason Co. Inc. Vollrath - 4014	2	\$49.47	\$98.94
As SpecifiedAlternate	School Furnishings, Inc. Vollrath - 4014	2	\$52.73	\$105.46
 As Specified Alternate 	Creative Office Pavilion Vollrath - 4014	2	\$61.00	\$122.00

Code

Code

09.KS.0042 Mfg/Model: Vollrath - 68640

Color/Finish:

	Bidders:	Qty	Unit Cost	Total Cost
 As Specified Alternate 	Kittredge Equipment Vollrath - 68640	2	\$143.13	\$286.25
 As Specified Alternate 	W.B. Mason Co. Inc. Vollrath - 68640	2	\$175.53	\$351.06
 As Specified Alternate 	School Furnishings, Inc. Vollrath - 68640	2	\$181.22	\$362.44
As SpecifiedAlternate	Creative Office Pavilion Vollrath - 68640	2	\$210.00	\$420.00

ItemCodeDescription

09.KS.0043 Scale, Oz.

Mfg/Model: Edlund - Premier SR-2 Color/Finish:

	Bidders:	Qty	Unit Cost	Total Cost
 As Specified Alternate 	Kittredge Equipment Edlund - Premier SR-2	2	\$96.72	\$193.44
 As Specified Alternate 	W.B. Mason Co. Inc. Edlund - Premier SR-2	2	\$122.25	\$244.50
 As Specified Alternate 	School Furnishings, Inc. Edlund - Premier SR-2	2	\$127.14	\$254.28
 As Specified Alternate 	Creative Office Pavilion Edlund - Premier SR-2	2	\$145.00	\$290.00

© Copyright 2015	Date	Page
Point Line Space, Inc.	02.06.17	61

PLS Project No: 2014-PLS-004

Zervas Elementary School Newton, MA Architect: Perkins Eastman/DPC

*** NOTE: BIDS ARE CURRENTLY UNDER ADVISEMENT ***

ItemCodeDescription Code Piano Whip, 12"L

09.KS.0044

Mfg/Model: Winco - PN-12 Color/Finish:

	Bidders:	Qty	Unit Cost	Total Cost
As Specified	Kittredge Equipment	2	\$1.25	\$2.50
O Alternate	Winco - PN-12			
As Specified	W.B. Mason Co. Inc.	2	\$3.20	\$6.40
O Alternate	Winco - PN-12			
As Specified	School Furnishings, Inc.	2	\$4.58	\$9.16
O Alternate	Winco - PN-12			
O As Specified	Creative Office Pavilion	2	\$6.00	\$12.00
O Alternate	ABC Procurements - WP-12-P (see attached)			
Code	ItemCodeDescription			

Colander, 11 Quart 09.KS.0045 Mfg/Model: Vollrath - 68298

Color/Finish:

	Bidders:	Qty	Unit Cost	Total Cost
As Specified	Kittredge Equipment	2	\$74.50	\$149.01
O Alternate	Vollrath - 68298			
• As Specified	W.B. Mason Co. Inc.	2	\$91.82	\$183.64
O Alternate	Vollrath - 68298			
• As Specified	Creative Office Pavilion	2	\$111.00	\$222.00
O Alternate	Vollrath - 68298			
• As Specified	School Furnishings, Inc.	2	\$118.27	\$236.54
O Alternate	Vollrath - 68298			

Code ItemCodeDescription

09.KS.0046 Strainer, 11-3/4"

Mfg/Model: Tablecraft - 1023 Color/Finish:

	Bidders:	Qty	Unit Cost	Total Cost
 As Specified Alternate 	Kittredge Equipment Tablecraft - 1023	2	\$16.72	\$33.45
As SpecifiedAlternate	W.B. Mason Co. Inc. Tablecraft - 1023	2	\$22.35	\$44.70
As SpecifiedAlternate	Creative Office Pavilion ABC Procurements - SDM-14 (see attached)	2	\$23.00	\$46.00
 As Specified Alternate 	School Furnishings, Inc. Tablecraft - 1023	2	\$27.07	\$54.14

© Copyright 2015	Date	Page
Point Line Space, Inc.	02.06.17	62

PLS Project No: 2014-PLS-004

*** NOTE: BIDS ARE CURRENTLY UNDER ADVISEMENT ***

Code ItemCodeDescription

09.KS.0047

Skimmer

Mfg/Model: Winco - SCF-6S

	Bidders:	Qty	Unit Cost	Total Cost
O As Specified	Kittredge Equipment	2	\$1.46	\$2.93
O Alternate	Winco - SCF-6S			
• As Specified	W.B. Mason Co. Inc.	2	\$3.40	\$6.80
O Alternate	Winco - SCF-6S			<u>.</u>
• As Specified	School Furnishings, Inc.	2	\$4.89	\$9.78
O Alternate	Winco - SCF-6S		+	+
O As Specified	Creative Office Pavilion	2	\$5.00	\$10.00
 Alternate 	ABC Procurements - SKR1 (see attached)	L	\$3.00	<i></i>
C I				
Code	ItemCodeDescription			
09.KS.0048 Mfg/Model:	1oz Spoodle Winco - FPS-1			
Color/Finish:				
,				
	Bidders:	Qty	Unit Cost	Total Cost
O As Specified	Kittredge Equipment	2	\$0.75	\$1.49
O Alternate	Winco - FPS-1			
• As Specified	W.B. Mason Co. Inc.	2	\$2.70	\$5.40
O Alternate	Winco - FPS-1			
• As Specified	School Furnishings, Inc.	2	\$3.85	\$7.70
O Alternate	Winco - FPS-1			
Code	ItemCodeDescription			
09.KS.0049	2oz Spoodle			
	Winco - FPS-2			
Color/Finish:				
	Bidders:	Qty	Unit Cost	Total Cost
As Specified	Kittredge Equipment Winco - FPS-2	2	\$0.83	\$1.67
O Alternate	WINCO - FPS-2			
As Specified	W.B. Mason Co. Inc.	2	\$2.80	\$5.60
O Alternate	Winco - FPS-2			
O As Specified	School Furnishings, Inc.	2	\$3.97	\$7.94
O Alternate	Winco - FPS-2			
O As Specified	Creative Office Pavilion	2	\$5.00	\$10.00
Alternate	American Metalcraft - SPN2 (see attached)			
Code	ItemCodeDescription			
09.KS.0050	3oz Spoodle			
Mfg/Model:	Winco - FPS-3			
Color/Finish:				

	Bidders:	Qty	Unit Cost	Total Cost
As Specified	Kittredge Equipment	2	\$0.89	\$1.78
O Alternate	Winco - FPS-3			

© Copyright 2015	Date	Page
Point Line Space, Inc.	02.06.17	63

Zervas Elementary School Newton, MA Architect: Perkins Eastman/DPC

PLS Project No: 2014-PLS-004

	lo: 2014-PLS-004 Architect: Perkins	s Eastman/Di	PC	
*** NOTE: BI	DS ARE CURRENTLY UNDER ADVISEMENT ***			
• As Specified	W.B. Mason Co. Inc.	2	\$2.85	\$5.70
O Alternate	Winco - FPS-3		· · · · · · · · · · · · · · · · · · ·	
O As Specified	School Furnishings, Inc.	2	\$4.05	\$8.10
O Alternate	Winco - FPS-3			
As Specified	Creative Office Pavilion American Metalcraft - SPN3 (see attached)	2	\$5.00	\$10.00
Alternate	· · · · ·			
Code	ItemCodeDescription			
09.KS.0051 Mfg/Model: Color/Finish:	4oz Spoodle Winco - FPS-4			
	Bidders:	Qty	Unit Cost	Total Cost
• As Specified	Kittredge Equipment	2	\$1.05	\$2.10
O Alternate	Winco - FPS-4			
O As Specified	W.B. Mason Co. Inc.	2	\$3.00	\$6.00
O Alternate	Winco - FPS-4			
 As Specified Alternate 	School Furnishings, Inc. Winco - FPS-4	2	\$4.28	\$8.56
O As Specified	Creative Office Pavilion	2	\$5.00	\$10.00
 As specified Alternate 	American Metalcraft - SPN4 (see attached)	۷.	\$5.00	\$10.00
Code	ItemCodeDescription			
Code 09.KS.0052	ItemCodeDescription 6oz Spoodle			
09.KS.0052 Mfg/Model:	6oz Spoodle			
09.KS.0052	6oz Spoodle			
09.KS.0052 Mfg/Model:	6oz Spoodle	Qty	Unit Cost	Total Cost
09.KS.0052 Mfg/Model: Color/Finish:	6oz Spoodle Winco - FPS-6 Bidders: Kittredge Equipment	Qty 2	Unit Cost \$1.26	Total Cost \$2.52
09.KS.0052 Mfg/Model: Color/Finish:	6oz Spoodle Winco - FPS-6 Bidders: Kittredge Equipment Winco - FPS-6	2	\$1.26	\$2.52
09.KS.0052 Mfg/Model: Color/Finish: ● As Specified ● As Specified ● As Specified	6oz Spoodle Winco - FPS-6 Bidders: Kittredge Equipment Winco - FPS-6 W.B. Mason Co. Inc.			
 09.KS.0052 Mfg/Model: Color/Finish: As Specified Alternate As Specified Alternate 	6oz Spoodle Winco - FPS-6 Bidders: Kittredge Equipment Winco - FPS-6 W.B. Mason Co. Inc. Winco - FPS-6 Winco - FPS-6	2	\$1.26 \$3.20	\$2.52 \$6.40
09.KS.0052 Mfg/Model: Color/Finish: ● As Specified ● As Specified ● As Specified	6oz Spoodle Winco - FPS-6 Bidders: Kittredge Equipment Winco - FPS-6 W.B. Mason Co. Inc.	2	\$1.26	\$2.52
09.KS.0052 Mfg/Model: Color/Finish: As Specified Alternate As Specified Alternate As Specified Alternate	6oz Spoodle Winco - FPS-6 Bidders: Kittredge Equipment Winco - FPS-6 W.B. Mason Co. Inc. Winco - FPS-6 School Furnishings, Inc. Winco - FPS-6 Winco - FPS-6	2 2 2	\$1.26 \$3.20 \$4.59	\$2.52 \$6.40 \$9.18
09.KS.0052 Mfg/Model: Color/Finish: As Specified Alternate Alternate Alternate Alternate	6oz Spoodle Winco - FPS-6 Bidders: Kittredge Equipment Winco - FPS-6 W.B. Mason Co. Inc. Winco - FPS-6 School Furnishings, Inc.	2	\$1.26 \$3.20	\$2.52 \$6.40
09.KS.0052 Mfg/Model: Color/Finish: As Specified Alternate As Specified Alternate Alternate Alternate As Specified Alternate	6oz Spoodle Winco - FPS-6 Bidders: Kittredge Equipment Winco - FPS-6 W.B. Mason Co. Inc. Winco - FPS-6 School Furnishings, Inc. Winco - FPS-6 School Furnishings, Inc. Winco - FPS-6 Creative Office Pavilion	2 2 2	\$1.26 \$3.20 \$4.59	\$2.52 \$6.40 \$9.18
09.KS.0052 Mfg/Model: Color/Finish: As Specified Alternate As Specified Alternate Alternate Alternate Alternate Alternate Alternate	6oz Spoodle Winco - FPS-6 Bidders: Kittredge Equipment Winco - FPS-6 W.B. Mason Co. Inc. Winco - FPS-6 School Furnishings, Inc. Winco - FPS-6 School Furnishings, Inc. Winco - FPS-6 Creative Office Pavilion American Metalcraft - SPN6 (see attached) ItemCodeDescription 8oz Spoodle	2 2 2	\$1.26 \$3.20 \$4.59	\$2.52 \$6.40 \$9.18
09.KS.0052 Mfg/Model: Color/Finish: As Specified Alternate As Specified Alternate As Specified Alternate Alternate Alternate Code 09.KS.0053 Mfg/Model:	6oz Spoodle Winco - FPS-6 Bidders: Kittredge Equipment Winco - FPS-6 W.B. Mason Co. Inc. Winco - FPS-6 School Furnishings, Inc. Winco - FPS-6 School Furnishings, Inc. Winco - FPS-6 Creative Office Pavilion American Metalcraft - SPN6 (see attached) ItemCodeDescription 8oz Spoodle	2 2 2	\$1.26 \$3.20 \$4.59	\$2.52 \$6.40 \$9.18
09.KS.0052 Mfg/Model: Color/Finish: As Specified Alternate As Specified Alternate As Specified Alternate As Specified Alternate Code 09.KS.0053	6oz Spoodle Winco - FPS-6 Bidders: Kittredge Equipment Winco - FPS-6 W.B. Mason Co. Inc. Winco - FPS-6 School Furnishings, Inc. Winco - FPS-6 School Furnishings, Inc. Winco - FPS-6 Creative Office Pavilion American Metalcraft - SPN6 (see attached) ItemCodeDescription 8oz Spoodle	2 2 2	\$1.26 \$3.20 \$4.59	\$2.52 \$6.40 \$9.18
09.KS.0052 Mfg/Model: Color/Finish: As Specified Alternate As Specified Alternate As Specified Alternate Alternate Alternate Code 09.KS.0053 Mfg/Model:	6oz Spoodle Winco - FPS-6 Bidders: Kittredge Equipment Winco - FPS-6 W.B. Mason Co. Inc. Winco - FPS-6 School Furnishings, Inc. Winco - FPS-6 School Furnishings, Inc. Winco - FPS-6 Creative Office Pavilion American Metalcraft - SPN6 (see attached) ItemCodeDescription 8oz Spoodle	2 2 2	\$1.26 \$3.20 \$4.59	\$2.52 \$6.40 \$9.18
09.KS.0052 Mfg/Model: Color/Finish: As Specified Alternate As Specified Alternate As Specified Alternate As Specified Alternate Code 09.KS.0053 Mfg/Model: Color/Finish:	Goz Spoodle Winco - FPS-6 Bidders: Kittredge Equipment Winco - FPS-6 W.B. Mason Co. Inc. Winco - FPS-6 School Furnishings, Inc. Winco - FPS-6 Creative Office Pavilion American Metalcraft - SPN6 (see attached) ItemCodeDescription Bidders: Kittredge Equipment	2 2 2 2	\$1.26 \$3.20 \$4.59 \$6.00	\$2.52 \$6.40 \$9.18 \$12.00
09.KS.0052 Mfg/Model: Color/Finish: As Specified Alternate As Specified Alternate As Specified Alternate As Specified Alternate Code 09.KS.0053 Mfg/Model: Color/Finish:	Goz Spoodle Winco - FPS-6 Bidders: Kittredge Equipment Winco - FPS-6 W.B. Mason Co. Inc. Winco - FPS-6 School Furnishings, Inc. Winco - FPS-6 School Furnishings, Inc. Winco - FPS-6 Creative Office Pavilion American Metalcraft - SPN6 (see attached) ItemCodeDescription Boz Spoodle Winco - FPS-8 Bidders:	2 2 2 2 2	\$1.26 \$3.20 \$4.59 \$6.00	\$2.52 \$6.40 \$9.18 \$12.00

Zervas Elementary School Newton, MA Architect: Perkins Eastman/DPC

PLS Project No: 2014-PLS-004

*** NOTE: BIDS ARE CURRENTLY UNDER ADVISEMENT ***

Code ItemCodeDescription

09.KS.0054

Measure, 2 Quart

Mfg/Model: Winco - AM-2

Co	lor/	Fin	ish:	

	Bidders:	Qty	Unit Cost	Total Cost
 As Specified Alternate 	Kittredge Equipment Winco - AM-2	2	\$4.72	\$9.44
 As Specified Alternate 	W.B. Mason Co. Inc. Winco - AM-2	2	\$6.05	\$12.10
• As Specified • Alternate	Creative Office Pavilion ABC Procurements - GM-2-A (see attached)	2	\$8.00	\$16.00
 As Specified Alternate 	School Furnishings, Inc. Winco - AM-2	2	\$13.00	\$26.00

Code ItemCodeDescription

09.KS.0055 Pie Knife

Mfg/Model: Dexter-Russell - 5244 Color/Finish:

	Bidders:	Qty	Unit Cost	Total Cost
 As Specified Alternate 	Kittredge Equipment Dexter-Russell - 5244	2	\$9.28	\$18.55
 As Specified Alternate 	W.B. Mason Co. Inc. Dexter-Russell - 5244	2	\$12.18	\$24.36
 As Specified Alternate 	School Furnishings, Inc. Dexter-Russell - 5244	2	\$14.47	\$28.94
As SpecifiedAlternate	Creative Office Pavilion AS - Updated model # 5244	2	\$16.00	\$32.00

Code ItemCodeDescription

09.KS.0056 Pizza Peel

Mfg/Model: American Metal Craft - 2814 Color/Finish:

	Bidders:	Qty	Unit Cost	Total Cost
 As Specified Alternate 	Kittredge Equipment American Metal Craft - 2814	2	\$9.91	\$19.83
 As Specified Alternate 	W.B. Mason Co. Inc. American Metal Craft - 2814	2	\$13.00	\$26.00
 As Specified Alternate 	School Furnishings, Inc. American Metal Craft - 2814	2	\$14.40	\$28.80
 As Specified Alternate 	Creative Office Pavilion American Metal Craft - 2814	2	\$16.00	\$32.00

PLS Project No: 2014-PLS-004

*** NOTE: BIDS ARE CURRENTLY UNDER ADVISEMENT ***

Code

ItemCodeDescription **Pizza Cutter**

09.KS.0057 Mfg/Model: Dexter-Russell - P177A-PCP

Color/Finish:

	Bidders:	Qty	Unit Cost	Total Cost
As SpecifiedAlternate	Kittredge Equipment Dexter-Russell - P177A-PCP	2	\$15.14	\$30.27
 As Specified Alternate 	W.B. Mason Co. Inc. Dexter-Russell - P177A-PCP	2	\$19.30	\$38.60
As SpecifiedAlternate	School Furnishings, Inc. Dexter-Russell - P177A-PCP	2	\$21.87	\$43.74
 As Specified Alternate 	Creative Office Pavilion Dexter-Russell - P177A-PCP	2	\$24.00	\$48.00
Code	ItemCodeDescription			

09.KS.0058 Multi Mat II, 3'x64' Roll Mfg/Model: Teknor Apex - 410-944 Color/Finish:

	Bidders:	Qty	Unit Cost	Total Cost
As Specified	School Furnishings, Inc.	2	\$200.00	\$400.00
O Alternate	Teknor Apex - 410-944			
As Specified	Kittredge Equipment	2	\$739.50	\$1,479.01
O Alternate	Teknor Apex - 410-944			
As Specified	Creative Office Pavilion	2	\$1,053.00	\$2,106.00
O Alternate	Teknor Apex - 410-944			
O As Specified	W.B. Mason Co. Inc.	2	\$1,104.47	\$2,208.94
O Alternate	Teknor Apex - 410-944			
Code	ItemCodeDescription			

ItemCodeDescription

09.KS.0061 **Tomato Shark Corer** Mfg/Model: Update - TSC-4

	Bidders:	Qty	Unit Cost	Total Cost
 As Specified Alternate 	Kittredge Equipment Update - TSC-4	2	\$0.49	\$0.97
As SpecifiedAlternate	Creative Office Pavilion Winco - TSC-2 (see attached)	2	\$2.00	\$4.00
 As Specified Alternate 	W.B. Mason Co. Inc. Update - TSC-4	2	\$2.45	\$4.90
As SpecifiedAlternate	School Furnishings, Inc. Update - TSC-4	2	\$3.34	\$6.68

© Copyright 2015	Date	Page
Point Line Space, Inc.	02.06.17	66

PLS Project No: 2014-PLS-004

Qty

Unit Cost

Total Cost

*** NOTE: BIDS ARE CURRENTLY UNDER ADVISEMENT ***

ItemCodeDescription

09.KS.0062 55-Cup Coffee Urn Brewer

Mfg/Model: Waring - WCU550 Color/Finish:

	Bidders:
As Specified	Kittredge Equipment
Alternate	Waring - WCU550

As Specified	Kittredge Equipment	2	\$156.71	\$313.41
O Alternate	Waring - WCU550			
As Specified	School Furnishings, Inc.	2	\$177.74	\$355.48
O Alternate	Waring - WCU550			
As Specified	W.B. Mason Co. Inc.	2	\$213.82	\$427.64
O Alternate	Waring - WCU550			
• As Specified	Creative Office Pavilion	2	\$330.00	\$660.00
O Alternate	Waring - WCU550			

Code

ItemCodeDescription 09.KS.0063 Scrub Brush

Mfg/Model: Carlisle - 4050102 Color/Finish:

	Bidders:	Qty	Unit Cost	Total Cost
As Specified	Kittredge Equipment	2	\$8.52	\$17.05
O Alternate	Carlisle - 4050102			
As Specified	School Furnishings, Inc.	2	\$13.65	\$27.30
O Alternate	Carlisle - 4050102			
As Specified	Creative Office Pavilion	2	\$14.00	\$28.00
O Alternate	Carlisle - 4050102			
As Specified	W.B. Mason Co. Inc.	2	\$16.05	\$32.10
O Alternate	Carlisle - 4050102			

Code ItemCodeDescription

09.KS.0064 Braizer, 15 Qt. Mfg/Model: Vollrath - 68215

	Bidders:	Qty	Unit Cost	Total Cost
As SpecifiedAlternate	Kittredge Equipment Vollrath - 68215	1	\$101.57	\$101.57
 As Specified Alternate 	W.B. Mason Co. Inc. Vollrath - 68215	1	\$124.82	\$124.82
 As Specified Alternate 	School Furnishings, Inc. Vollrath - 68215	1	\$146.87	\$146.87
 As Specified Alternate 	Creative Office Pavilion Vollrath - 68215	1	\$147.00	\$147.00

© Copyright 2015	Date	Page
Point Line Space, Inc.	02.06.17	67

PLS Project No: 2014-PLS-004

*** NOTE: BIDS ARE CURRENTLY UNDER ADVISEMENT ***

Code

ItemCodeDescription

09.KS.0065 Cutting Board Set/Stand Mfg/Model: San Jamar - CB1824KC/KLR-ST

Color/Finish:

	Bidders:	Qty	Unit Cost	Total Cost
As SpecifiedAlternate	Kittredge Equipment San Jamar - CB1824KC/KLR-ST	1	\$179.24	\$179.24
 As Specified Alternate 	W.B. Mason Co. Inc. San Jamar - CB1824KC/KLR-ST	1	\$217.76	\$217.76
As SpecifiedAlternate	School Furnishings, Inc. San Jamar - CB1824KC/KLR-ST	1	\$242.24	\$242.24
 As Specified Alternate 	Creative Office Pavilion San Jamar - CB1824KC/KLR-ST	1	\$255.00	\$255.00

Code ItemCodeDescription

09.KS.0066 Scale, Lb.

Mfg/Model: Edlund - Premier SR-25 Color/Finish:

	Bidders:	Qty	Unit Cost	Total Cost
As Specified	Kittredge Equipment	1	\$103.07	\$103.07
O Alternate	Edlund - Premier SR-25			
As Specified	School Furnishings, Inc.	1	\$129.50	\$129.50
O Alternate	Edlund - Premier SR-25			
As Specified	W.B. Mason Co. Inc.	1	\$130.24	\$130.24
O Alternate	Edlund - Premier SR-25			
As Specified	Creative Office Pavilion	1	\$161.00	\$161.00
O Alternate	Edlund - Premier SR-25			

Code ItemCodeDescription

09.KS.0067 Insta-Slice

Mfg/Model: Vollrath - 15103 Color/Finish:

	Bidders:	Qty	Unit Cost	Total Cost
 As Specified Alternate 	Kittredge Equipment Vollrath - 15103	1	\$329.36	\$329.36
 As Specified Alternate 	W.B. Mason Co. Inc. Vollrath - 15103	1	\$402.35	\$402.35
 As Specified Alternate 	School Furnishings, Inc. Vollrath - 15103	1	\$409.36	\$409.36
 As Specified Alternate 	Creative Office Pavilion Vollrath - 15103	1	\$469.00	\$469.00

© Copyright 2015	Date	Page
Point Line Space, Inc.	02.06.17	68

PLS Project No: 2014-PLS-004

Zervas Elementary School Newton, MA Architect: Perkins Eastman/DPC

*** NOTE: BIDS ARE CURRENTLY UNDER ADVISEMENT ***

Code

ItemCodeDescription Paddle, 48"L

09.KS.0068

Mfg/Model: Winco - MPD-48

$(\cap$	or/	Fin	IC	h .

	Bidders:	Qty	Unit Cost	Total Cost
O As Specified	Creative Office Pavilion	1	\$2.00	\$2.00
Alternate	American Metalcraft - 2148 (see attached)			
As Specified	Kittredge Equipment	1	\$10.54	\$10.54
O Alternate	Winco - MPD-48			
As Specified	W.B. Mason Co. Inc.	1	\$12.41	\$12.41
O Alternate	Winco - MPD-48			
As Specified	School Furnishings, Inc.	1	\$21.15	\$21.15
O Alternate	Winco - MPD-48			
Code	ItemCodeDescription			

Code

Code

09.KS.0069 Pail Opener

Mfg/Model: FMP - 142-1441

Color/Finish:

	Bidders:	Qty	Unit Cost	Total Cost
 As Specified Alternate 	Kittredge Equipment FMP - 142-1441	1	\$7.30	\$7.30
 As Specified Alternate 	School Furnishings, Inc. FMP - 142-1441	1	\$22.97	\$22.97
 As Specified Alternate 	W.B. Mason Co. Inc. FMP - 142-1441	1	\$25.76	\$25.76
As SpecifiedAlternate	Creative Office Pavilion Tablecraft - 15 (see attached)	1	\$31.00	\$31.00

ItemCodeDescription

09.KS.0071 Knife Rack

Mfg/Model: Edlund - KR50 Color/Finish:

	Bidders:	Qty	Unit Cost	Total Cost
 As Specified Alternate 	Kittredge Equipment Edlund - KR50	1	\$49.34	\$49.34
 As Specified Alternate 	W.B. Mason Co. Inc. Edlund - KR50	1	\$62.76	\$62.76
 As Specified Alternate 	School Furnishings, Inc. Edlund - KR50	1	\$65.12	\$65.12
 As Specified Alternate 	Creative Office Pavilion Edlund - KR50	1	\$77.00	\$77.00

PLS Project No: 2014-PLS-004

*** NOTE: BIDS ARE CURRENTLY UNDER ADVISEMENT ***

Code

ItemCodeDescription

09.KS.0072 Tomato Saber Mfg/Model: Prince Castle - 943-B

Color/Finish:

	Bidders:	Qty	Unit Cost	Total Cost
O As Specified	Creative Office Pavilion	1	\$376.00	\$376.00
Alternate	Nemco - 56600-2 (see attached)			
• As Specified	School Furnishings, Inc.	1	\$395.59	\$395.59
O Alternate	Prince Castle - 943-B			
• As Specified	Kittredge Equipment	1	\$492.89	\$492.89
O Alternate	Prince Castle - 943-B			
• As Specified	W.B. Mason Co. Inc.	1	\$496.53	\$496.53
O Alternate	Prince Castle - 943-B			

Code ItemCodeDescription

09.KS.0073 Insta-Dice

Mfg/Model: Vollrath - 15000 Color/Finish:

	Bidders:	Qty	Unit Cost	Total Cost
As Specified	Kittredge Equipment	1	\$170.34	\$170.34
O Alternate	Vollrath - 15000			
As Specified	W.B. Mason Co. Inc.	1	\$208.70	\$208.70
O Alternate	Vollrath - 15000			
As Specified	School Furnishings, Inc.	1	\$213.77	\$213.77
O Alternate	Vollrath - 15000			
As Specified	Creative Office Pavilion	1	\$250.00	\$250.00
O Alternate	Vollrath - 15000			

Code ItemCodeDescription

09.KS.0074 First Aid Kit

Mfg/Model: Royal - FAK-50P Color/Finish:

	Bidders:	Qty	Unit Cost	Total Cost
 As Specified Alternate 	Kittredge Equipment Royal - FAK-50P	1	\$51.24	\$51.24
 As Specified Alternate 	School Furnishings, Inc. Royal - FAK-50P	1	\$64.84	\$64.84
 As Specified Alternate 	W.B. Mason Co. Inc. Royal - FAK-50P	1	\$77.47	\$77.47
 As Specified Alternate 	Creative Office Pavilion Royal - FAK-50P	1	\$78.00	\$78.00

© Copyright 2015	Date	Page
Point Line Space, Inc.	02.06.17	70

Zervas Elementary School Newton, MA Architect: Perkins Eastman/DPC

PLS Project No: 2014-PLS-004

*** NOTE: BIDS ARE CURRENTLY UNDER ADVISEMENT ***

Code ItemCodeDescription 09.MS.0001 US Flag, Classroom Tidmore Flags - CLSUS1218 Mfg/Model: Color/Finish: **Bidders:** Unit Cost **Total Cost** Qty O As Specified W.B. Mason Co. Inc. 45 \$3.06 \$137.70 Annin - ANN042880EA Alternate O As Specified Massachusetts Correctional Industries 45 \$16.33 \$734.85 O Alternate MassCor - CF-I; A-7 ItemCodeDescription Code 09.MS.0002 Laminator GBC - 1701720ez Mfg/Model: Color/Finish: **Bidders:** Qty Unit Cost **Total Cost** Lakeshore Learning Materials **O** As Specified 1 \$118.68 \$118.68 O Alternate LAKESHORE - XC341 W.B. Mason Co. Inc. 1 \$2,012.48 \$2,012.48 • As Specified O Alternate GBC - 1701720ez Code ItemCodeDescription 09.MS.0003 Laminator Cart Tamerica - Laminating Workstation Mfg/Model: Color/Finish: **Bidders:** Unit Cost **Total Cost** Qty Creative Office Pavilion \$397.00 O As Specified 1 \$397.00 O Alternate Tamerica - Laminating Workstation Code ItemCodeDescription 09.MS.0004 Step Up Stool Mfg/Model: Jonti-Craft - 0557JC Color/Finish: **Bidders:** Unit Cost **Total Cost** Qty • As Specified **Business Interiors By Staples** 9 \$71.08 \$639.72 Jonti-Craft - 0557JC O Alternate • As Specified W.B. Mason Co. Inc. 9 \$73.37 \$660.33 Jonti-Craft - 0557JC O Alternate Robert H. Lord Co. 9 \$75.67 \$681.03 • As Specified Jonti-Craft - 0557JC O Alternate Creative Office Pavilion \$125.00 \$1,125.00 • As Specified 9 Jonti-Craft - 0557JC O Alternate

© Copyright 2015	Date	Page
Point Line Space, Inc.	02.06.17	71

PLS Project No: 2014-PLS-004

Zervas Elementary School Newton, MA Architect: Perkins Eastman/DPC

*** NOTE: BIDS ARE CURRENTLY UNDER ADVISEMENT ***

Code	

ItemCodeDescription

09.MS.0005 Three Step Folding Step Stool Mfg/Model: Cosco - 11408PBLW2

	Bidders:	Qty	Unit Cost	Total Cost
 As Specified Alternate 	Business Interiors By Staples Cosco - 11408PBLW2	6	\$40.99	\$245.94
 As Specified Alternate 	W.B. Mason Co. Inc. Cosco - 11408PBLW2	6	\$54.08	\$324.48
 As Specified Alternate 	Creative Office Pavilion Werner - T9F249511 (see attached)	6	\$108.00	\$648.00
-				
Code	ItemCodeDescription			
09.MS.0006 Mfg/Model: Color/Finish:				
	Bidders:	Qty	Unit Cost	Total Cost
O As Specified	Creative Office Pavilion	1	\$67.00	\$67.00
Alternate	Cramer - 2W330 (see attached)			
O As Specified	W.B. Mason Co. Inc.	1	\$70.89	\$70.89
O Alternate	Cramer - Kik-Step			
As Specified	Monitor Equipment Co., Inc.	1	\$190.00	\$190.00
O Alternate	Cramer - Kik-Step			
Code	ItemCodeDescription			
09.MT.0001 Mfg/Model: Color/Finish:				
	Bidders:	Qty	Unit Cost	Total Cost
O As Specified	Conlon Products, Inc.	15	\$4.60	\$69.00
O Alternate	TriSple-S - 37136			
O As Specified	Hillyard RoVic	15	\$5.28	\$79.20
Alternate	Hillyard Alum Telescoping Mop Handle - #HIL52828			
O As Specified	W.B. Mason Co. Inc.	15	\$9.88	\$148.20
Alternate	Boardwalk - BWK1490			
O As Specified	Casey EMI	15	\$13.99	\$209.85
Alternate	Microfiber & More - DHAN60			
O As Specified	Creative Office Pavilion	15	\$26.00	\$390.00
O Alternate	Tough Guy - 6PVX3			
Code	ItemCodeDescription			
09.MT.0002 Mfg/Model: Color/Finish:				
	Bidders:	Qty	Unit Cost	Total Cost
O As Specified	Casey EMI	6	\$49.00	\$294.00
 Alternate 	Impact - WAVECOMBO			

© Copyright 2015	Date	Page
Point Line Space, Inc.	02.06.17	72

PLS Project No: 2014-PLS-004

Zervas Elementary School Newton, MA Architect: Perkins Eastman/DPC

*** NOTE: BIDS ARE CURRENTLY UNDER ADVISEMENT ***

O As Specified	W.B. Mason Co. Inc.	6	\$49.56	\$297.36
Alternate	Continental - COCP335312YW			
As Specified	Conlon Products, Inc.	6	\$52.00	\$312.00
O Alternate	Carlisle - 3690404			
• As Specified	Hillyard RoVic	6	\$57.07	\$342.42
O Alternate	Carlisle - 3690404			
O As Specified	M. D. Stetson Company	6	\$84.00	\$504.00
Alternate	Rubbermaid - 7580			
O As Specified	Creative Office Pavilion	6	\$91.00	\$546.00
Alternate	Tough Guy - 2PYH4 (see attached)			
Code	ItemCodeDescription			
09.MT.0003 Mfg/Model:	Caution Wet Floor Safety Sign Rubbermaid - 611277YW			

Color/Finish:

	Bidders:	Qty	Unit Cost	Total Cost
As SpecifiedAlternate	W.B. Mason Co. Inc. Boardwalk - BWK26FLOORSIGN	6	\$7.69	\$46.14
As SpecifiedAlternate	Casey EMI Impact - IM9152W	6	\$10.79	\$64.74
 As Specified Alternate 	Hillyard RoVic Rubbermaid - 611277YW	6	\$10.79	\$64.74
 As Specified Alternate 	M. D. Stetson Company Rubbermaid - 611277YW	6	\$13.00	\$78.00
 As Specified Alternate 	Conlon Products, Inc. Rubbermaid - 611277YW	6	\$13.20	\$79.20
As SpecifiedAlternate	Creative Office Pavilion AS - Updated model# 5W544	6	\$28.00	\$168.00

ItemCodeDescription

09.MT.0004

Code

.0004Dust PanMfg/Model:Impact - 4212

Color/Finish:

	Bidders:	Qty	Unit Cost	Total Cost
As SpecifiedAlternate	Hillyard RoVic Impact - 4212	6	\$3.56	\$21.36
As SpecifiedAlternate	Conlon Products, Inc. Impact - 4212	6	\$3.88	\$23.28
As SpecifiedAlternate	Casey EMI Casey Dust Pan - CIIDP	6	\$3.99	\$23.94
As SpecifiedAlternate	M. D. Stetson Company Impact - 4212	6	\$4.00	\$24.00
As SpecifiedAlternate	W.B. Mason Co. Inc. Boardwalk - BWK04212EA	6	\$5.94	\$35.64
As SpecifiedAlternate	Creative Office Pavilion BEHRENS - 36L505 (see attached)	6	\$7.00	\$42.00

© Copyright 2015	Date	Page
Point Line Space, Inc.	02.06.17	73

PLS Project No: 2014-PLS-004

*** NOTE: BIDS ARE CURRENTLY UNDER ADVISEMENT ***

Code

ItemCodeDescription

09.MT.0005 Dust Pan w/Long Handle and Short Broom

Mfg/Model: Impact - 2601/2602

Color/Finish:

	Bidders:	Qty	Unit Cost	Total Cost
As SpecifiedAlternate	Conlon Products, Inc. world & main - 812cln & 1123/sm	3	\$10.00	\$30.00
As SpecifiedAlternate	W.B. Mason Co. Inc. OXO - OXO1335280	3	\$15.31	\$45.93
 As Specified Alternate 	M. D. Stetson Company Impact - 2601/2602	3	\$19.00	\$57.00
 As Specified Alternate 	Casey EMI Impact - 2601/2602	3	\$21.49	\$64.47
As SpecifiedAlternate	Hillyard RoVic Impact Dust Pan/Broom Combo - #IMP2610	3	\$24.50	\$73.50
As SpecifiedAlternate	Creative Office Pavilion Libman - 9DZE2 (see attached)	3	\$30.00	\$90.00

ItemCodeDescription

09.MT.0006 Janitor Cart with Zippered Yellow Vinyl Bag Mfg/Model: Rubbermaid - FG617388 BLA

Color/Finish:

Code

	Bidders:	Qty	Unit Cost	Total Cost
O As Specified	W.B. Mason Co. Inc.	3	\$111.51	\$334.53
O Alternate	Boardwalk - BWKJCARTGRA			
As Specified	Hillyard RoVic	3	\$152.76	\$458.28
O Alternate	Rubbermaid - FG617388 BLA			
O As Specified	Casey EMI	3	\$165.00	\$495.00
O Alternate	Continental - CC184GY			
As Specified	Conlon Products, Inc.	3	\$181.60	\$544.80
O Alternate	Rubbermaid - FG617388 BLA			
As Specified	M. D. Stetson Company	3	\$188.00	\$564.00
O Alternate	Rubbermaid - FG617388 BLA			
As Specified	Creative Office Pavilion	3	\$234.00	\$702.00
O Alternate	Rubbermaid - FG617388 BLA			

ItemCodeDescription

09.MT.0007 Microfiber Dust Mop Metal Frame, 24"

Mfg/Model: Tough Guy - 1TZG3

Color/Finish:

Code

	Bidders:	Qty	Unit Cost	Total Cost
As SpecifiedAlternate	Hillyard RoVic Hillyard 5x24" Frame - #HIL52815	3	\$2.37	\$7.11
As SpecifiedAlternate	Conlon Products, Inc. Triple-S - 37373	3	\$2.50	\$7.50
As SpecifiedAlternate	Casey EMI Pro Link - PLSY224	3	\$2.53	\$7.59

© Copyright 2015	Date	Page
Point Line Space, Inc.	02.06.17	74

Zervas Elementary School Newton, MA Architect: Perkins Eastman/DPC

PLS Project No: 2014-PLS-004

*** NOTE: BI	DS ARE CURRENTLY UNDER ADVISEMENT ***			
 As Specified Alternate 	W.B. Mason Co. Inc. Boardwalk - BWK1424	3	\$3.06	\$9.18
O As Specified	M. D. Stetson Company	3	\$4.00	\$12.00
Alternate	O'Dell - MOPFRAME524	2	¢7.00	¢21.00
 As Specified Alternate 	Creative Office Pavilion Tough Guy - 1TZG3	3	\$7.00	\$21.00
Code	ItemCodeDescription			
09.MT.0008 Mfg/Model: Color/Finish:				
	Bidders:	Qty	Unit Cost	Total Cost
As SpecifiedAlternate	Hillyard RoVic Unger 22" Water Wand - #UNGMW550	3	\$9.31	\$27.93
 As Specified Alternate 	Casey EMI Unger - UNFH600	3	\$21.65	\$64.95
O As Specified	W.B. Mason Co. Inc.	3	\$23.58	\$70.74
Alternate	Magnolia Brush - MNL4124TPNWH			
 As Specified Alternate 	Creative Office Pavilion Tough Guy - 1EUB2	3	\$46.00	\$138.00
Code	ItemCodeDescription			
09.MT.0009 Mfg/Model: Color/Finish:	-			
	Bidders:	Qty	Unit Cost	Total Cost
As SpecifiedAlternate	W.B. Mason Co. Inc. Milwauke - MWK33045	2	\$110.82	\$221.64
 As Specified Alternate 	Conlon Products, Inc. Magliner - HMK419E11-N	2	\$228.00	\$456.00
 As Specified Alternate 	Creative Office Pavilion Magliner - HMK419E11-N	2	\$230.00	\$460.00
 As Specified Alternate 	Hillyard RoVic Magliner - HMK419E11-N	2	\$354.30	\$708.60
Code	ItemCodeDescription			
09.MT.0010 Mfg/Model: Color/Finish:	Backpack Vacuum w/Tool Kit Proteam - Super Coach Pro 10 HEPA Starter Bundle			
	Bidders:	Qty	Unit Cost	Total Cost
As SpecifiedAlternate	W.B. Mason Co. Inc. Tornado - PACVAC10	2	\$279.98	\$559.96
As SpecifiedAlternate	Casey EMI Proteam - Super Coach Pro 10 HEPA Starter Bundle	2	\$299.99	\$599.98
 As Specified Alternate 	Conlon Products, Inc. Proteam - Super Coach Pro 10 HEPA Starter Bundle	2	\$355.00	\$710.00
O As Specified	Hillyard RoVic	2	\$377.85	\$755.70
	ProTeam Super Coach Pro 10 - #107304/107313/107315			

As Specified	
Alternate	ProTeam Super Coach Pro 10 - #107304/107313/107315

Zervas Elementary School Newton, MA Architect: Perkins Eastman/DPC

PLS Project No: 2014-PLS-004

** NOTE: BIDS ARE CURRENTLY UNDER ADVISEMENT	***
--	-----

HOTE. BI	BO AIRE OFFICIENTED ON BERTAB HOEMENT			
As Specified	Creative Office Pavilion	2	\$470.00	\$940.00
O Alternate	Proteam - Super Coach Pro 10 HEPA Starter Bundle			
Code	ItemCodeDescription			
09.MT.0011	Barricade Cone System, Caution, Eng/Sp/Fr			
Mfg/Model:				
Color/Finish:	S			
,-				
	Bidders:	Qty	Unit Cost	Total Cost
O As Specified	W.B. Mason Co. Inc.	2	\$160.42	\$320.84
 Alternate 	Rubbermaid - RCP627687YELEA		\$100.1L	<i>\\</i>
• As Specified	Creative Office Pavilion	2	\$217.00	\$434.00
O Alternate	Tough Guy - 2LEC8	2	\$217.00	J434.00
• · · · · ·			¢274.62	<u> </u>
 As Specified Alternate 	Hillyard RoVic Rubbermaid (2units=1set) - #RUB66287YW	2	\$371.63	\$743.26
Alternate	Rubbermaiu (zunits=Tset) - #RUB002071W			
Code	ItemCodeDescription			
09.MT.0012	Telescopic Lambswool Duster			
Mfg/Model:	· · · · · · · · · · · · · · · · · · ·			
Color/Finish:				
	Bidders:	Qty	Unit Cost	Total Cost
O As Specified	W.B. Mason Co. Inc.	2	\$6.31	\$12.62
Alternate	Boardwalk - BWKL3850			
As Specified	Hillyard RoVic	2	\$6.96	\$13.92
O Alternate	Impact - 3105			
As Specified	Casey EMI	2	\$7.67	\$15.34
O Alternate	Impact - 3105		<i><i>q1.01</i></i>	<i><i><i>q</i>15.51</i></i>
• As Specified	M. D. Stetson Company	2	\$9.00	\$18.00
Alternate	Impact - 3105	۷	\$9.00	\$10.00
			¢10.00	
 As Specified Alternate 	Creative Office Pavilion Impact - 3105	2	\$19.00	\$38.00
O Alternate				
Code	ItemCodeDescription			
09.MT.0013	Microfiber Dust Mop Metal Frame, 36"			
Mfg/Model:				
Color/Finish:				
	Bidders:	Qty	Unit Cost	Total Cost
O As Specified	Conlon Products, Inc.	1	\$2.98	\$2.98
O Alternate	Triple-S - 37375			
O As Specified	Hillyard RoVic	1	\$3.01	\$3.01
Alternate	Hillyard 5x36" Frame - #HIL52817			
O As Specified	Casey EMI	1	\$3.23	\$3.23
 Alternate 	Pro Link - PLSDY236		,	, = - = = =
O As Specified	W.B. Mason Co. Inc.	1	\$4.74	\$4.74
 As specified Alternate 	Boardwalk - BWK1436	<u> </u>	_{ብት} . / ተ	ψ4./4
-		7	<i><i>t</i>гоо</i>	¢ = 00
 As Specified Alternate 	M. D. Stetson Company O'Dell - MOPFRAME536	1	\$5.00	\$5.00
As Specified	Creative Office Pavilion	1	\$11.00	\$11.00
O Alternate	Tough Guy - 1TZG4			

Page 76

Zervas Elementary School Newton, MA Architect: Perkins Eastman/DPC

PLS Project No: 2014-PLS-004

*** NOTE: BIDS ARE CURRENTLY UNDER ADVISEMENT ***

Code ItemCodeDescription

09.MT.0014 Platform Truck

Mfg/Model: Magliner - PTK2448T1-Q

Color/Finish:

	Bidders:	Qty	Unit Cost	Total Cost
O As Specified	Conlon Products, Inc.	1	\$390.00	\$390.00
O Alternate	Magliner - PTK2448T1-Q			
O As Specified	Creative Office Pavilion	1	\$532.00	\$532.00
 Alternate 	AS - Updated model# 5PVZ8		\$332.00	\$332.00
As Specified	Hillyard RoVic	1	\$552.50	\$552.50
 As Specified Alternate 	Magliner - PTK2448T1-Q	I	\$552.50	\$552.50
0 /				
Code	ItemCodeDescription			
09.MT.0016	Step Ladder, 6'			
Mfg/Model:	Lynn Ladder - FX206			
Color/Finish:				
	Bidders:	0		TILC
		Qty	Unit Cost	Total Cost
 As Specified Alternate 	W.B. Mason Co. Inc. Louisville - DSF4006	1	\$108.52	\$108.52
As Specified	Hillyard RoVic	1	\$114.00	\$114.00
O Alternate	Lynn Ladder - FX206			
O As Specified	Creative Office Pavilion	1	\$133.00	\$133.00
Alternate	Louisville - 36Y496 (see attached)			
O As Specified	Conlon Products, Inc.	1	\$294.00	\$294.00
Alternate	Werner - P7406			
Code	ItemCodeDescription			
09.MT.0017	Step Ladder, 10'			
Mfg/Model:	Werner - 6210			
Color/Finish:				
	Bidders:	Qty	Unit Cost	Total Cost
O As Specified	W.B. Mason Co. Inc.	1	\$196.27	\$196.27
Alternate	Louisville - DADSF4008			
O As Specified	Creative Office Pavilion	1	\$260.00	\$260.00
O Alternate	Werner - 3W183 (see attached)			
As Specified	Hillyard RoVic	1	\$371.70	\$371.70
O Alternate	Werner - 6210	· ·	<u> </u>	<i>401 11 0</i>
O As Specified	Conlon Products, Inc.	1	\$410.00	\$410.00
As specified Alternate	Werner - P7410	I	φ 4 10.00	φ 4 10.00
-				
Code	ItemCodeDescription			
09.MT.0018	Extension Ladder, 24'			
Mfg/Model: Color/Finish:	Lynn Ladder - FGE24-2			
COIOT/FITISTI:				
	Bidders:	Qty	Unit Cost	Total Cost
O As Specified	Creative Office Pavilion	1	\$278.00	\$278.00
 As specified Alternate 	Werner - 3W139 (see attached)	I	Ψ=10.00	Ψ <u></u> , 0.00
	·			
© Copyright 2015		Date		Page
Datat Line Correct		00 0 / 17		

PLS Project No: 2014-PLS-004

*** NOTE: BI	DS ARE CURRENTLY UNDER ADVISEMENT ***			
As Specified	Hillyard RoVic	1	\$348.00	\$348.00
O Alternate	Lynn Ladder - FGE24-2			
O As Specified	Conlon Products, Inc.	1	\$810.00	\$810.00
Alternate	Werner - D7224-2			
Code	ItemCodeDescription			
09.MT.0019	Micro Rider Floor Scrubber, 32"			
Mfg/Model: Color/Finish:				
Color/Finish:				
	Bidders:	Qty	Unit Cost	Total Cost
O As Specified	W.B. Mason Co. Inc.	1	\$7,155.55	\$7,155.55
Alternate	Nilfisk - NILAS710R			
O As Specified	M. D. Stetson Company	1	\$15,594.00	\$15,594.00
Alternate	Nobles - SSR-800-D w/ ecH2O			
As Specified	Hillyard RoVic	1	\$17,158.98	\$17,158.98
O Alternate	Tennant - T7-800D With ecH20			
Code	ItemCodeDescription			
09.MT.0020	Walk behind Scrubber			
Mfg/Model:				
Color/Finish:				
	Bidders:	Qty	Unit Cost	Total Cost
O As Specified	W.B. Mason Co. Inc.	1	\$4,769.00	\$4,769.00
Alternate	Nilfisk - NILFANG20HD			
O As Specified	M. D. Stetson Company	1	\$6,841.00	\$6,841.00
Alternate	Nobles - MV-SS300-0006 w/ecH2O			
• As Specified	Hillyard RoVic	1	\$9,445.92	\$9,445.92
O Alternate	Tennant - T300# With ecH20			
Code	ItemCodeDescription			
09.MT.0021	Carpet Extractor			
Mfg/Model: Color/Finish:				
Colory mish.				
	Bidders:	Qty	Unit Cost	Total Cost
O As Specified	W.B. Mason Co. Inc.	1	\$4,069.00	\$4,069.00
Alternate	Tornado - MARATHON2000			
O As Specified	M. D. Stetson Company	1	\$6,322.00	\$6,322.00
O Alternate	Nobles - 608352			
• As Specified	Hillyard RoVic	1	\$6,511.95	\$6,511.95
O Alternate	Nobles - 608352			
As Specified	Creative Office Pavilion	1	\$8,317.00	\$8,317.00
O Alternate	Nobles - 608352			

© Copyright 2015	Date	Page
Point Line Space, Inc.	02.06.17	78

PLS Project No: 2014-PLS-004

*** NOTE: BIDS ARE CURRENTLY UNDER ADVISEMENT ***

Code

ItemCodeDescription

09.MT.0022 Wet Dry Vacuum, 18 Gallon Mfg/Model: Viper - Shovelnose SN18WD

Color/Finish:

	Bidders:	Qty	Unit Cost	Total Cost
As Specified	Casey EMI	1	\$495.00	\$495.00
O Alternate	Viper - Shovelnose SN18WD			
O As Specified	W.B. Mason Co. Inc.	1	\$499.00	\$499.00
Alternate	Nilfisk - NILSN18WD			
As Specified	Conlon Products, Inc.	1	\$555.00	\$555.00
O Alternate	Viper - Shovelnose SN18WD			
O As Specified	Hillyard RoVic	1	\$573.45	\$573.45
Alternate	Viper Shovelnose WetDry - #VIPSN18WD			
O As Specified	M. D. Stetson Company Clarke - CLARKE18WD Summit	1	\$850.00	\$850.00
Alternate				
As Specified	Creative Office Pavilion	1	\$1,695.00	\$1,695.00
Alternate	Dayton - 5UMRO (see attached)			
Code	ItemCodeDescription			
09.MT.0023	Air Mover With Trolley Kit			
Mfg/Model: Color/Finish:	Viper - AM2400D/VV78406			
COIOI/FINISH.				
	Bidders:	Qty	Unit Cost	Total Cost
• As Specified	Casey EMI	3	\$145.00	\$435.00
O Alternate	Viper - AM2400D/VV78406			
O As Specified	W.B. Mason Co. Inc.	3	\$172.44	\$517.32
Alternate	Nilfisk - NIL5000390			
O As Specified	Hillyard RoVic	3	\$176.00	\$528.00
Alternate	Viper Air Mover Racer - #VIPRACER			
As Specified	Conlon Products, Inc.	3	\$214.00	\$642.00
O Alternate	Viper - AM2400D/VV78406			
O As Specified	Creative Office Pavilion	3	\$302.00	\$906.00
Alternate	Dayton - 5UMP5 (See attached)			
Code	ItemCodeDescription			
09.MT.0024	HEPA Upright Vacuum			
Mfg/Model: Color/Finish:	Proteam - ProForce 1500XP HEPA			
COIOI/TIIIISII.				
	Bidders:	Qty	Unit Cost	Total Cost
• As Specified	M. D. Stetson Company	1	\$335.00	\$335.00
O Alternate	Proteam - ProForce 1500XP HEPA			
O As Specified	W.B. Mason Co. Inc.	1	\$337.77	\$337.77
Alternate	Tornado - CK1412PRO			
As Specified	Casey EMI	1	\$349.00	\$349.00
O Alternate	Proteam - ProForce 1500XP HEPA			
As Specified	Hillyard RoVic	1	\$358.26	\$358.26
O Alternate	Proteam - ProForce 1500XP HEPA			

© Copyright 2015	Date
Point Line Space, Inc.	02.06.17

Zervas Elementary School Newton, MA Architect: Perkins Eastm<u>an/DPC</u>

PLS Project No: 2014-PLS-004

	DS ARE CURRENTLY UNDER ADVISEMENT ***	asiman/L		
 As Specified Alternate 	Conlon Products, Inc. Proteam - ProForce 1500XP HEPA	1	\$375.00	\$375.00
As Specified Alternate	Creative Office Pavilion AS - Updated model # 30J455	1	\$587.00	\$587.00
Code	ItemCodeDescription			
09.MT.0025 Mfg/Model: Color/Finish:	No-Touch Cleaning System Kaivac - 2150 No-Touch Cleaning System			
	Bidders:	Qty	Unit Cost	Total Cost
As SpecifiedAlternate	Creative Office Pavilion Enerpac - 30R206 (see attached)	1	\$1,297.00	\$1,297.00
As SpecifiedAlternate	Hillyard RoVic Hillyard C3xp w/Recovery Unit - #HIL99238/99240	1	\$1,765.60	\$1,765.60
As SpecifiedAlternate	M. D. Stetson Company Kaivac - 2150 No-Touch Cleaning System	1	\$3,724.00	\$3,724.00
Code 09.MT.0026 Mfg/Model: Color/Finish:	ItemCodeDescription Aerial Lift Genie - AWP-30S Bidders:	01	Unit Cost	TableCast
O As Specified	NO BID	Qty 1	Unit Cost \$10,500.00	Total Cost \$10,500.00
O Alternate	Genie - AWP-30S	I	\$10,500.00	<u> </u>
Code	ItemCodeDescription			
09.MT.0027 Mfg/Model: Color/Finish:	Spreader - Ice Melt Earthway - 2130			
	Bidders:	Qty	Unit Cost	Total Cost
 As Specified Alternate 	W.B. Mason Co. Inc. Earthway - CALICDSpreader	1	\$205.24	\$205.24
 As Specified Alternate 	Conlon Products, Inc. Earthway - 2130	1	\$260.00	\$260.00
As SpecifiedAlternate	Creative Office Pavilion Earthway - 2130	1	\$289.00	\$289.00
Code 09.MT.0029 Mfg/Model: Color/Finish:				
	Bidders:	Qty 1	Unit Cost	Total Cost
 As Specified Alternate 	Creative Office Pavilion Tough Guy - 2U656	1	\$150.00	\$150.00

© Copyright 2015	Date	Page	
Point Line Space, Inc.	02.06.17	80	

PLS Project No: 2014-PLS-004

*** NOTE: BIDS ARE CURRENTLY UNDER ADVISEMENT ***

Code

ItemCodeDescription

09.MT.0030 Microfiber Dust Mop Metal Frame, 48"

Mfg/Model: Tough Guy - 1TZG5

Color/Finish:

	Bidders:	Qty	Unit Cost	Total Cost
As SpecifiedAlternate	Hillyard RoVic Hillyard 5x48" Frame - #HIL52819	1	\$4.20	\$4.20
As SpecifiedAlternate	Casey EMI Pro Link - PLSDY248	1	\$4.43	\$4.43
As SpecifiedAlternate	Conlon Products, Inc. Triple-S - 37377	1	\$4.88	\$4.88
As SpecifiedAlternate	W.B. Mason Co. Inc. Boardwalk - BWK1448	1	\$5.07	\$5.07
As SpecifiedAlternate	M. D. Stetson Company O'Dell - MOPFRAME548	1	\$7.00	\$7.00
 As Specified Alternate 	Creative Office Pavilion Tough Guy - 1TZG5	1	\$16.00	\$16.00

ItemCodeDescription

09.MT.0031 Microfiber Dust Mop Metal Frame, 60" Mfg/Model: Tough Guy - 1TZG6

Color/Cinich

Color/Finish:

Code

Code

	Bidders:	Qty	Unit Cost	Total Cost
• As Specified • Alternate	Hillyard RoVic Hillyard 5x60" Frame - #HIL52821	1	\$5.32	\$5.32
		1	¢c 00	¢c.oo
As SpecifiedAlternate	Conlon Products, Inc. Triple-S - 37965	1	\$6.00	\$6.00
 As Specified Alternate 	Casey EMI Pro Link - PLSYD260	1	\$6.30	\$6.30
O As Specified	W.B. Mason Co. Inc.	1	\$6.76	\$6.76
Alternate	Boardwalk - BWK1460			
 As Specified Alternate 	M. D. Stetson Company O'Dell - MOPFRAME560	1	\$9.00	\$9.00
As Specified	Creative Office Pavilion	1	\$18.00	\$18.00
O Alternate	Tough Guy - 1TZG6			

ItemCodeDescription

09.MT.0033 Electric Pressure Washer Mfg/Model: Mi-TM - JP-1002-2ME1 Color/Finish:

	Bidders:	Qty	Unit Cost	Total Cost
O As Specified O Alternate	Creative Office Pavilion MI-T-M - 3WB86 (see attached)	1	\$987.00	\$987.00
As SpecifiedAlternate	Conlon Products, Inc. Shark DE2 - D478691	1	\$2,200.00	\$2,200.00

© Copyright 2015	Date	Page
Point Line Space, Inc.	02.06.17	81

Zervas Elementary School Newton, MA Architect: Perkins Eastman/DPC

PLS Project No: 2014-PLS-004

*** NOTE: BIDS ARE CURRENTLY UNDER ADVISEMENT ***

Code

ItemCodeDescription

09.MT.0034	Micr	ofiber	Dust	Мор	Pad,	24"

Mfg/Model: Tough Guy - 1NE76

Co	or/Finish:	
CU		

	Bidders:	Qty	Unit Cost	Total Cost
O As Specified	Casey EMI	24	\$5.23	\$125.52
Alternate	Microfiber & More - MFMDM24			
O As Specified	Conlon Products, Inc.	24	\$5.38	\$129.12
Alternate	Triple-S - 37168			
O As Specified	W.B. Mason Co. Inc.	24	\$8.34	\$200.16
Alternate	Boardwalk - BWK1324			
O As Specified	Hillyard RoVic	24	\$9.54	\$228.96
Alternate	Hillyard 24"Dust Mop - #HIL20087			
O As Specified	Creative Office Pavilion	24	\$13.00	\$312.00
O Alternate	Tough Guy - 1NE76			

ItemCodeDescription

09.MT.0035 Microfiber Dust Mop Pad, 36" Mfg/Model: Tough Guy - 1NE77

Color/Finish:

Code

	Bidders:	Qty	Unit Cost	Total Cost
O As Specified	Casey EMI	24	\$7.22	\$173.28
Alternate	Microfiber & More - MFMDM36			
O As Specified	Conlon Products, Inc.	24	\$7.57	\$181.68
O Alternate	Triple-S - 37170			
O As Specified	W.B. Mason Co. Inc.	24	\$11.32	\$271.68
O Alternate	Boardwalk - BWK1336			
O As Specified	Hillyard RoVic	24	\$12.46	\$299.04
Alternate	Hillyard 36" Dust Mop - #HIL20088			
• As Specified	Creative Office Pavilion	24	\$16.00	\$384.00
O Alternate	Tough Guy - 1NE77			
Code	ItemCodeDescription			
09.MT.0036 Mfg/Model	Microfiber Dust Mop Pad, 48" Tough Guy - 1NE78			
Color/Finish:	5,			
U	5,	Qty	Unit Cost	Total Cost
U	:	Qty 24	Unit Cost \$9.21	Total Cost \$221.04
Color/Finish:	: Bidders:			
Color/Finish	: Bidders: Casey EMI			
Color/Finish: As Specified Alternate	Bidders: Casey EMI Microfiber & More - MFMDM48	24	\$9.21	\$221.04
Color/Finish As Specified Alternate As Specified	Bidders: Casey EMI Microfiber & More - MFMDM48 Conlon Products, Inc.	24	\$9.21	\$221.04
Color/Finish: As Specified Alternate As Specified Alternate	Bidders: Casey EMI Microfiber & More - MFMDM48 Conlon Products, Inc. Triple-S - 37171	24	\$9.21 \$12.40	\$221.04 \$297.60
Color/Finish: As Specified Alternate As Specified Alternate As Specified	Bidders: Casey EMI Microfiber & More - MFMDM48 Conlon Products, Inc. Triple-S - 37171 W.B. Mason Co. Inc.	24	\$9.21 \$12.40	\$221.04 \$297.60
Color/Finish: As Specified Alternate As Specified Alternate As Specified Alternate	Bidders: Casey EMI Microfiber & More - MFMDM48 Conlon Products, Inc. Triple-S - 37171 W.B. Mason Co. Inc. Boardwalk - BWK1348	24 24 24 24	\$9.21 \$12.40 \$15.75	\$221.04 \$297.60 \$378.00
Color/Finish: As Specified Alternate As Specified Alternate As Specified Alternate As Specified As Specified	Bidders: Casey EMI Microfiber & More - MFMDM48 Conlon Products, Inc. Triple-S - 37171 W.B. Mason Co. Inc. Boardwalk - BWK1348 Hillyard RoVic	24 24 24 24	\$9.21 \$12.40 \$15.75	\$221.04 \$297.60 \$378.00

82

PLS Project No: 2014-PLS-004

*** NOTE: BIDS ARE CURRENTLY UNDER ADVISEMENT ***

Code

ItemCodeDescription

09.MT.0037 Microfiber Dust Mop Pad, 60" Mfg/Model: Knuckle Buster - MFDM60GN

Color/Finish:

	Bidders:	Qty	Unit Cost	Total Cost
As SpecifiedAlternate	Casey EMI Microfiber & More - MFMDM48	24	\$11.46	\$275.04
As SpecifiedAlternate	Conlon Products, Inc. Triple-S - 37172	24	\$14.11	\$338.64
As SpecifiedAlternate	W.B. Mason Co. Inc. Boardwalk - BWK1360	24	\$18.76	\$450.24
As SpecifiedAlternate	Hillyard RoVic Hillyard 60" Dust Mop - #HIL24304	24	\$35.20	\$844.80
As SpecifiedAlternate	Creative Office Pavilion Rubbermaid - 3CCY8 (see attached)	24	\$53.00	\$1,272.00

ItemCodeDescription

09.MT.0038 Classroom, Trash Receptacle, 44 Quart

Mfg/Model: Rubbermaid - 2947

Color/Finish:

Code

	Bidders:	Qty	Unit Cost	Total Cost
 As Specified Alternate 	W.B. Mason Co. Inc. Rubbermaid - 2947	81	\$17.49	\$1,416.69
 As Specified Alternate 	Conlon Products, Inc. Rubbermaid - 2947	81	\$17.56	\$1,422.36
 As Specified Alternate 	M. D. Stetson Company Rubbermaid - 2947	81	\$18.00	\$1,458.00
 As Specified Alternate 	Hillyard RoVic Rubbermaid - 2947	81	\$18.35	\$1,486.35
As SpecifiedAlternate	Creative Office Pavilion Note: Delivery to (1) room - No distribution	81	\$24.00	\$1,944.00
As SpecifiedAlternate	Casey EMI Continental - CC72NGY	81	\$27.16	\$2,199.96

ItemCodeDescription

09.MT.0039 Classroom, Recycling Receptacle, 28 1/8 Quart Mfg/Model: Rubbermaid - 2956-73

Color/Finish:

Code

	Bidders:	Qty	Unit Cost	Total Cost
As SpecifiedAlternate	W.B. Mason Co. Inc. Continental - COCP28161	81	\$3.11	\$251.91
 As Specified Alternate 	Hillyard RoVic Rubbermaid - 2956-73	81	\$5.16	\$417.96
 As Specified Alternate 	Casey EMI Rubbermaid - 2956-73	81	\$5.98	\$484.38
 As Specified Alternate 	M. D. Stetson Company Rubbermaid - 2956-73	81	\$6.00	\$486.00

PLS Project No: 2014-PLS-004

	O As Specified	Conlon Products, Inc.	81	\$6.10	\$494.10
	O Alternate	Rubbermaid - 2956-73			
	 As Specified Alternate 	Creative Office Pavilion Tough Guy Del. To (1) room/No distribution - 4UAU5 (Se	81	\$9.00	\$729.00
	-		ee attached)		
	Code	ItemCodeDescription			
	09.MT.0040	Large Trash Receptacle, 23 GAL Slim Rubbermaid - FG354000BLA			
	Mfg/Model: Color/Finish:	Rubbernaid - TG554000BEA			
	,-				
		Bidders:	Qty	Unit Cost	Total Cost
	• As Specified	W.B. Mason Co. Inc.	17	\$20.44	\$347.48
	O Alternate	Rubbermaid - FG354000BLA			
	O As Specified	Conlon Products, Inc.	17	\$44.95	\$764.15
	O Alternate	Rubbermaid - FG354000BLA			
	• As Specified	Hillyard RoVic	17	\$47.50	\$807.50
	O Alternate	Rubbermaid - FG354000BLA			
	• As Specified	Casey EMI	17	\$49.16	\$835.72
	O Alternate	Rubbermaid - FG354000BLA			
	As Specified	M. D. Stetson Company Rubbermaid - FG354000BLA	17	\$52.00	\$884.00
	O Alternate				
	 As Specified Alternate 	Creative Office Pavilion Rubbermaid - FG354000BLA	17	\$61.00	\$1,037.00
_	O Alternate				
	Code	ItemCodeDescription			
	09.MT.0041	Large Recycling Receptacle, 23 GAL Slim			
	<u> </u>	Rubbermaid - 1956185			
	Color/Finish:				
		Bidders:	Qty	Unit Cost	Total Cost
	• As Specified	W.B. Mason Co. Inc.	17	\$47.11	\$800.87
	O Alternate	Rubbermaid - 1956185			
	• As Specified	Casey EMI	17	\$47.84	\$813.28
	O Alternate	Rubbermaid - 1956185			
	• As Specified	Conlon Products, Inc.	17	\$49.98	\$849.66
	O Alternate	Rubbermaid - 1956185			
	As Specified	M. D. Stetson Company	17	\$52.00	\$884.00
	O Alternate	Rubbermaid - 1956185			
	As Specified	Hillyard RoVic Rubbermaid - 1956185	17	\$52.80	\$897.60
	O Alternate				
	As Specified	Creative Office Pavilion Rubbermaid - 1956185	17	\$89.00	\$1,513.00
	O Alternate	Rubbernaiu - 1950165			
	Code	ItemCodeDescription			
	09.MU.0002	Key-Tuned Tubano, 10"			
	Mfg/Model: Color/Finish:	Remo - Remo Valencia 100 Series - TU-1110-17			
	COIOT/FITIISTI:				
		Bidders:	Qty	Unit Cost	Total Cost
	• As Specified	School Furnishings, Inc.	4	\$205.42	\$821.68
	O Alternate	Remo - Remo Valencia 100 Series - TU-1110-17			
	© Copyright 2015		Date		Page
	Point Line Space	e, Inc.	02.06.17		84

Zervas Elementary School Newton, MA Architect: Perkins Eastman/DPC

PLS Project No: 2014-PLS-004

*** NOTE: BIDS ARE CURRENTLY UNDER ADVISEMENT ***

*** NOTE: BI	DS ARE CURRENTLY UNDER ADVISEMENT ***			
 As Specified Alternate 	W.B. Mason Co. Inc. Remo - Remo Valencia 100 Series - TU-1110-17	4	\$218.50	\$874.00
 As Specified Alternate 	Creative Office Pavilion Remo - Remo Valencia 100 Series - TU-1110-17	4	\$239.00	\$956.00
Code	ItemCodeDescription			
09.MU.0003 Mfg/Model: Color/Finish:	Double Headed Tambourine Latin Percussion - CP380			
	Bidders:	Qty	Unit Cost	Total Cost
 As Specified Alternate 	W.B. Mason Co. Inc. Latin Percussion - CP380	3	\$17.50	\$52.50
 As Specified Alternate 	School Furnishings, Inc. Latin Percussion - CP380	3	\$21.79	\$65.37
As SpecifiedAlternate	Creative Office Pavilion Latin Percussion - CP380	3	\$29.00	\$87.00
Code	ItemCodeDescription			
09.MU.0004 Mfg/Model: Color/Finish:	Finger Cymbals Sabian - 50101			
	Bidders:	Qty	Unit Cost	Total Cost
As SpecifiedAlternate	Lakeshore Learning Materials LAKESHORE - QR784	3	\$11.95	\$35.85
 As Specified Alternate 	School Furnishings, Inc. Sabian - 50101	3	\$24.70	\$74.10
As SpecifiedAlternate	W.B. Mason Co. Inc. Sabian - 50101	3	\$25.90	\$77.70
As SpecifiedAlternate	Creative Office Pavilion Sabian - 50101	3	\$32.00	\$96.00
Code	ItemCodeDescription			
09.MU.0005 Mfg/Model: Color/Finish:	Wood Block, High Pitch 16 Latin Percussion - LPA210			
	Bidders:	Qty	Unit Cost	Total Cost
As SpecifiedAlternate	W.B. Mason Co. Inc. Latin Percussion - LPA210	3	\$14.90	\$44.70
 As Specified Alternate 	School Furnishings, Inc. Latin Percussion - LPA210	3	\$16.42	\$49.26
• As Specified	Creative Office Pavilion	3	\$21.00	\$63.00
	Latin Percussion - LPA210			

Latin Percussion - LPA210

O Alternate

PLS Project No: 2014-PLS-004

*** NOTE: BIDS ARE CURRENTLY UNDER ADVISEMENT ***

Code	ItemCodeDescription
09.MU.0006	Wood Block, High Pitch 18

Mfg/Model: Latin Percussion - LPA211

Color/Finish:

	Bidders:	Qty	Unit Cost	Total Cost
As Specified	W.B. Mason Co. Inc.	3	\$16.90	\$50.70
O Alternate	Latin Percussion - LPA211			
As Specified	School Furnishings, Inc.	3	\$18.48	\$55.44
O Alternate	Latin Percussion - LPA211			
• As Specified	Creative Office Pavilion	3	\$23.00	\$69.00
O Alternate	Latin Percussion - LPA211		+_0100	+00100
Carla	Hans Carda Dagasiatian			
Code	ItemCodeDescription			
09.MU.0007	Super Guiro Latin Percussion - LP243			
Mfg/Model: Color/Finish:				
COIOI/FIIIISII.				
	Bidders:	Qty	Unit Cost	Total Cost
O As Specified	Lakeshore Learning Materials	<u></u>	\$5.51	\$5.51
 As specified Alternate 	LAKESHORE - QR756	I	\$J.J1	φ <u></u> σ.στ
_			+ + + = = =	
As Specified	W.B. Mason Co. Inc.	1	\$42.95	\$42.95
O Alternate	Latin Percussion - LP243			
As Specified	School Furnishings, Inc.	1	\$47.42	\$47.42
O Alternate	Latin Percussion - LP243			
As Specified	Creative Office Pavilion	1	\$51.00	\$51.00
O Alternate	Latin Percussion - LP243			
Code	Item Carle Description			
	ItemCodeDescription			
09.MU.0008	Drum Mallets - Concert			
Mfg/Model:				
Color/Finish:				
	Bidders:	Otv	Unit Cost	Total Cost
	W.B. Mason Co. Inc.	Qty 2	\$33.80	\$67.60
 As Specified Alternate 	Vic Firth - BD1	۷	\$55.00	\$07.00
As Specified	School Furnishings, Inc.	2	\$36.50	\$73.00
O Alternate	Vic Firth - BD1			
As Specified	Creative Office Pavilion	2	\$40.00	\$80.00
O Alternate	Vic Firth - BD1			
Code	ItemCodeDescription			
09.MU.0012	Bell Mallet Set			
Mfg/Model:				
Color/Finish:				
30101/11/1011				
	Bidders:	Qty	Unit Cost	Total Cost
• As Specified	W.B. Mason Co. Inc.	2	\$32.80	\$65.60
O Alternate	Vic Firth - M141		+0=.00	+ 33.00
_		2	¢2467	¢60.24
 As Specified Alternate 	School Furnishings, Inc. Vic Firth - M141	ζ	\$34.67	\$69.34

© Copyright 2015	Date	Page
Point Line Space, Inc.	02.06.17	86

PLS Project No: 2014-PLS-004

*** NOTE: BID	S ARE CURRENTLY UNDER ADVISEMENT ***	
As Specified	Creative Office Pavilion	
O Alternate	Vic Firth - M141	

	Creative Office Devillage	2	¢ 20.00	¢70.00
 As Specified Alternate 	Creative Office Pavilion Vic Firth - M141	2	\$39.00	\$78.00
-				
Code	ItemCodeDescription			
09.MU.0014 Mfg/Model: Color/Finish:				
	Bidders:	Qty	Unit Cost	Total Cost
As Specified	W.B. Mason Co. Inc.	1	\$1,497.00	\$1,497.00
O Alternate	Yamaha - YTS-200AD			
Code	ItemCodeDescription			
09.MU.0015 Mfg/Model: Color/Finish:				
	Bidders:	Qty	Unit Cost	Total Cost
O As Specified	W.B. Mason Co. Inc.	1	\$124.50	\$124.50
O Alternate	Tree Works - TRE35			
O As Specified	School Furnishings, Inc.	1	\$133.96	\$133.96
O Alternate	Tree Works - TRE35			
 As Specified Alternate 	Creative Office Pavilion Tree Works - TRE35	1	\$137.00	\$137.00
Code	ItemCodeDescription			
09.MU.0017 Mfg/Model: Color/Finish:				
	Bidders:	Qty	Unit Cost	Total Cost
As Specified	W.B. Mason Co. Inc.	1	\$6,319.50	\$6,319.50
O Alternate	Studio 49 - 2000 Series WEST-8 Orff Set of 10			
 As Specified Alternate 	School Furnishings, Inc. Studio 49 - 2000 Series WEST-8 Orff Set of 10	1	\$7,405.86	\$7,405.86
As Specified	Creative Office Pavilion	1	\$7,549.00	\$7,549.00
O Alternate	Studio 49 - 2000 Series WEST-8 Orff Set of 10			
Code	ItemCodeDescription			
09.MU.0018 Mfg/Model: Color/Finish:				
	Bidders:	Qty	Unit Cost	Total Cost
As Specified	School Furnishings, Inc.	1	\$1,934.24	\$1,934.24
O Alternate	Wenger - 172B001			
• As Specified	Monitor Equipment Co., Inc.	1	\$2,760.48	\$2,760.48
O Alternate	Wenger - 172B001			
As Specified	W.B. Mason Co. Inc. Wenger - 172B001	1	\$2,878.50	\$2,878.50
O Alternate			¢ > > > > > > > > > > > > > > > > > > >	¢2.007.00
 As Specified Alternate 	Creative Office Pavilion Wenger - 172B001	1	\$3,007.00	\$3,007.00

© Copyright 2015	Date	Page
Point Line Space, Inc.	02.06.17	87

Zervas Elementary School Newton, MA Architect: Perkins Eastman/DPC

PLS Project No: 2014-PLS-004

*** NOTE: BIDS ARE CURRENTLY UNDER ADVISEMENT ***

Code

ItemCodeDescription

09.MU.0020

Rosewood Alto Daitonic Xylophone

Mfg/Model: Studio 49 - 2000 Series AX 2000 Rosewood Alto Diatonic Color/Finish:

	Bidders:	Qty	Unit Cost	Total Cost
As Specified	W.B. Mason Co. Inc.	1	\$699.25	\$699.25
O Alternate	Studio 49 - 2000 Series AX 2000 Rosewood Alto Diatonic Xy	lophone		
As Specified	School Furnishings, Inc.	1	\$874.20	\$874.20
O Alternate	Studio 49 - 2000 Series AX 2000 Rosewood Alto Diatonic Xy	lophone		
As Specified	Creative Office Pavilion	1	\$913.00	\$913.00
O Alternate	Studio 49 - 2000 Series AX 2000 Rosewood Alto Diatonic Xy	lophone		

Code

ItemCodeDescription

09.MU.0022

Music Stand With Foot Caps

Mfg/Model: Wenger - Preface 237B500 Stand / Set of 3 Foot Caps 037T045 Color/Finish:

	Bidders:	Qty	Unit Cost	Total Cost
O As Specified	Red Thread Spaces LLC	40	\$37.00	\$1,480.00
Alternate	NPS - 82MS			
As Specified	Monitor Equipment Co., Inc.	40	\$66.85	\$2,674.00
O Alternate	Wenger - Preface 237B500 Stand / Set of 3 Foot Caps 037	T045		
As Specified	W.B. Mason Co. Inc.	40	\$69.40	\$2,776.00
O Alternate	Wenger - Preface 237B500 Stand / Set of 3 Foot Caps 037	T045		
• As Specified	Creative Office Pavilion	40	\$98.00	\$3,920.00
O Alternate	Wenger - Preface 237B500 Stand / Set of 3 Foot Caps 037	T045		

Code ItemCodeDescription

09.MU.0023 Music Stand Cart - Large Mfg/Model: Wenger - 039C203

Color/Finish:

	Bidders:	Qty	Unit Cost	Total Cost
As SpecifiedAlternate	Red Thread Spaces LLC NPS - DYMS20	1	\$293.00	\$293.00
 As Specified Alternate 	Monitor Equipment Co., Inc. Wenger - 039C203	1	\$592.44	\$592.44
 As Specified Alternate 	Creative Office Pavilion Wenger - 039C203	1	\$620.00	\$620.00
 As Specified Alternate 	W.B. Mason Co. Inc. Wenger - 039C203	1	\$624.50	\$624.50

ItemCodeDescription

09.MU.0025 Mfg/Model: Cart, Music Chair, Move & Store Wenger - 127A661

Color/Finish:

Code

	Bidders:	Qty	Unit Cost	Total Cost
O As Specified	Red Thread Spaces LLC	3	\$216.00	\$648.00
Alternate	NPS - DY82			

© Copyright 2015	Date	Page	
Point Line Space, Inc.	02.06.17	88	

Zervas Elementary School Newton, MA Architect: Perkins Eastman/DPC

PLS Project No: 2014-PLS-004

*** NOTE: BI	DS ARE CURRENTLY UNDER ADVISEMENT ***			
 As Specified Alternate 	Monitor Equipment Co., Inc. Wenger - 127A661	3	\$454.12	\$1,362.36
As SpecifiedAlternate	W.B. Mason Co. Inc. Wenger - 127A661	3	\$496.50	\$1,489.50
 As Specified Alternate 	Creative Office Pavilion Wenger - 127A661	3	\$502.00	\$1,506.00
Code	ItemCodeDescription			
09.MU.0026 Mfg/Model: Color/Finish:				
	Bidders:	Qty	Unit Cost	Total Cost
 As Specified Alternate 	Monitor Equipment Co., Inc. Wenger - 025D028	7	\$1,137.62	\$7,963.34
As SpecifiedAlternate	Creative Office Pavilion Wenger - 025D028	7	\$1,250.00	\$8,750.00
As SpecifiedAlternate	W.B. Mason Co. Inc. Wenger - 025D028	7	\$1,298.50	\$9,089.50
Code	ItemCodeDescription			
09.MU.0027 Mfg/Model: Color/Finish:				
	Bidders:	Qty	Unit Cost	Total Cost
 As Specified Alternate 	W.B. Mason Co. Inc. Crown Percussion - #CR-P014-00	1	\$43.50	\$43.50
Code	ItemCodeDescription			
09.MU.0028 Mfg/Model: Color/Finish:				
	Bidders:	Qty	Unit Cost	Total Cost
As SpecifiedAlternate	Lakeshore Learning Materials LAKESHORE - QR923	3	\$5.51	\$16.53
As SpecifiedAlternate	W.B. Mason Co. Inc. Crown Percussion - #CR-P004-00	3	\$21.50	\$64.50
Code	ItemCodeDescription			
09.MU.0029 Mfg/Model: Color/Finish:				
	Bidders:	Qty	Unit Cost	Total Cost
 As Specified Alternate 	W.B. Mason Co. Inc. Crown Percussion - #CR-P001-00	1	\$52.90	\$52.90

1.			
	© Copyright 2015	Date	Page
	Point Line Space, Inc.	02.06.17	89

PLS Project No: 2014-PLS-004

Code	ItemCodeDescription			
09.MU.0030 Mfg/Model: Color/Finish:	Bongo Crown Percussion - #CR-P780-00			
	Bidders:	Qty	Unit Cost	Total Cost
As SpecifiedAlternate	Lakeshore Learning Materials LAKESHORE - QR861	1	\$18.39	\$18.39
 As Specified Alternate 	W.B. Mason Co. Inc. Crown Percussion - #CR-P780-00	1	\$314.00	\$314.00
Code 09.MU.0031 Mfg/Model: Color/Finish:	ItemCodeDescription Tambourine Crown Percussion - #CR-P019-70			
	Bidders:	Qty	Unit Cost	Total Cost
As SpecifiedAlternate	Lakeshore Learning Materials LAKESHORE - QR925X	2	\$11.95	\$23.90
 As Specified Alternate 	W.B. Mason Co. Inc. Crown Percussion - #CR-P019-70	2	\$36.50	\$73.00
Code	ItemCodeDescription			
09.MU.0032 Mfg/Model: Color/Finish:	Rattle Box Crown Percussion - #CR-P007-00			
	Bidders:	Qty	Unit Cost	Total Cost
 As Specified Alternate 	W.B. Mason Co. Inc. Crown Percussion - #CR-P007-00	2	\$36.50	\$73.00
Code	ItemCodeDescription			
09.MU.0033 Mfg/Model: Color/Finish:	Sound Shapes Crown Percussion - #SS-1000-05			
	Bidders:	Qty	Unit Cost	Total Cost
 As Specified Alternate 	Creative Office Pavilion Crown Percussion - #SS-1000-05	2	\$76.00	\$152.00
As Specified	W.B. Mason Co. Inc.	2	\$84.50	\$169.00
O Alternate	Crown Percussion - #SS-1000-05	L	<i>401.30</i>	<i><i><i>q</i> 105.00</i></i>
Code	ItemCodeDescription			
09.MU.0034 Mfg/Model: Color/Finish:	Pro Maracas Crown Percussion - #CR-P003-00			
	Bidders:	Qty	Unit Cost	Total Cost
As Specified	W.B. Mason Co. Inc.	1	\$26.50	\$26.50
O Alternate	Crown Percussion - #CR-P003-00			

© Copyright 2015	Date	Page
Point Line Space, Inc.	02.06.17	90

Zervas Elementary School Newton, MA Architect: Perkins Eastman/DPC

PLS Project No: 2014-PLS-004

*** NOTE: BIDS ARE CURRENTLY UNDER ADVISEMENT ***

Code	ItemCodeDescription				
09.MU.0035	Mini Maracas				
Mfg/Model:					
Color/Finish:					
	Bidders:	Qty	Unit Cost	Total Cost	
O As Specified	Lakeshore Learning Materials	2	\$4.59	\$9.18	
Alternate	LAKESHORE - QR953				
O As Specified	W.B. Mason Co. Inc.	2	\$12.75	\$25.50	
O Alternate	Crown Percussion - #CR-P002-00		· · · · ·		
Code	ItemCodeDescription				
09.MU.0036					
Mfg/Model:	Large Mallet - Pair Suzuki - S-XM				
Color/Finish:					
00101,111011					
	Bidders:	Qty	Unit Cost	Total Cost	
As Specified	W.B. Mason Co. Inc.	3	\$26.50	\$79.50	
O Alternate	Suzuki - S-XM				
Code	ItemCodeDescription				
09.MU.0037	ItemCodeDescription				
Mfg/Model:	Medium Density Rubber Mallets Rythm Band - RB2312				
Color/Finish:	Kytiin bulla KBESTE				
00101,111011					
	Bidders:	Qty	Unit Cost	Total Cost	
As Specified	W.B. Mason Co. Inc.	5	\$8.25	\$41.25	
O Alternate	Rythm Band - RB2312			<u> </u>	
Code	ItemCodeDescription				
09.MU.0038	Soft Rubber Mallets -Pair				
Mfg/Model:					
Color/Finish:					
	Bidders:	Qty	Unit Cost	Total Cost	
O As Specified	W.B. Mason Co. Inc.	5	\$10.25	\$51.25	
O Alternate	Rythm Band - RB2319				
Code	ItemCodeDescription				
09.MU.0039	8" Wood Mallets - Pair				
	Rythm Band - RB2306				
Color/Finish:					
,					
	Bidders:	Qty	Unit Cost	Total Cost	
O As Specified	W.B. Mason Co. Inc.	5	\$5.25	\$26.25	
O Alternate	Rythm Band - RB2306				
Code	ItemCodeDescription				
09.MU.0040	Thunder Sheet				
Mfg/Model:					
Color/Finish:					
	Bidders:	Qty	Unit Cost	Total Cost	
As Specified	W.B. Mason Co. Inc.	1	\$307.00	\$307.00	
O Alternate	Sabian - 53004				
		I -		_ 1	_
© Copyright 2015	e Inc	Date 02.06.17		Page 91	

02.06.17

PLS Project No: 2014-PLS-004

*** NOTE: BIL	DS ARE CURRENTLY UNDER ADVISEMENT ***			
 As Specified Alternate 	School Furnishings, Inc. Sabian - 53004	1	\$385.56	\$385.56
As SpecifiedAlternate	Creative Office Pavilion Sabian - 53004	1	\$392.00	\$392.00
Code 09.MU.0041	ItemCodeDescription Gong/Tam Tam Stand Standard			
Mfg/Model: Color/Finish:	Meinl - TMGS			
	Bidders:	Qty	Unit Cost	Total Cost
As SpecifiedAlternate	Lakeshore Learning Materials LAKESHORE - RE103	1	\$27.59	\$27.59
 As Specified Alternate 	W.B. Mason Co. Inc. Meinl - TMGS	1	\$212.00	\$212.00
 As Specified Alternate 	School Furnishings, Inc. Meinl - TMGS	1	\$253.07	\$253.07
 As Specified Alternate 	Creative Office Pavilion Meinl - TMGS	1	\$292.00	\$292.00
Code	ItemCodeDescription			
09.MU.0121 Mfg/Model: Color/Finish:	Upright Piano With Dolly and Cover Yamaha - P22			
	Bidders:	Qty	Unit Cost	Total Cost
As SpecifiedAlternate	W.B. Mason Co. Inc. Yamaha - P22	1	\$6,770.00	\$6,770.00
Code	ItemCodeDescription			
09.MU.CH18 Mfg/Model: Color/Finish:	Music Chair with Floor Saver Glides Wenger - 0930000			
	Bidders:	Qty	Unit Cost	Total Cost
As SpecifiedAlternate	Red Thread Spaces LLC NPS - 8210	56	\$51.00	\$2,856.00
 As Specified Alternate 	Monitor Equipment Co., Inc. Wenger - 0930000	56	\$82.97	\$4,646.32
 As Specified Alternate 	W.B. Mason Co. Inc. Wenger - 0930000	56	\$89.50	\$5,012.00
 As Specified Alternate 	Creative Office Pavilion Wenger - 0930000	56	\$110.00	\$6,160.00
Code	ItemCodeDescription			
09.NU.0003 Mfg/Model: Color/Finish:	Side Table Cart, Nurse School Health Supply - 24146			
	Bidders:	Qty	Unit Cost	Total Cost
O As Specified O Alternate	NO BID School Health Supply - 24146	2	\$385.00	\$770.00
				- 1

© Copyright 2015	Date	Page
Point Line Space, Inc.	02.06.17	92

PLS Project No: 2014-PLS-004

Code	ItemCodeDescription			
09.NU.0004	Medicine Cabinet, 2-Locks			
Mfg/Model:				
Color/Finish:				
	Bidders:	Qty	Unit Cost	Total Cost
O As Specified	NO BID	1	\$660.00	\$660.00
O Alternate	School Health Supply - 24959			
Code	ItemCodeDescription			
09.NU.0005	Medicine Cabinet, One Shelf			
Mfg/Model:	School Health Supply - 24554			
Color/Finish:				
	Bidders:	Qty	Unit Cost	Total Cost
O As Specified	NO BID	1	\$330.00	\$330.00
O Alternate	School Health Supply - 24554			
Code	ItemCodeDescription			
09.NU.0006	Evacuation Chair and Storage Cabinet			
Mfg/Model:				
Color/Finish:				
	Bidders:	Qty	Unit Cost	Total Cost
O As Specified	NO BID	2	\$2,860.00	\$5,720.00
O Alternate	Garaventa Lift - Evacu-Trac CD7			
Code	ItemCodeDescription			
09.NU.0009	Literature Display Rack, 12 Pocket			
Mfg/Model:				
Color/Finish:				
	Bidders:	Qty	Unit Cost	Total Cost
O As Specified	Creative Office Pavilion	1	\$265.00	\$265.00
Alternate	Note: No wall attachment -			
• As Specified	W.B. Mason Co. Inc.	1	\$349.00	\$349.00
O Alternate	Demco - WF14924500			
Code	ItemCodeDescription			
09.NU.0102	Recovery Couch, 18"H			
Mfg/Model:	Clinton Industries - 3620			
Color/Finish:				
,				
	Bidders:	Qty	Unit Cost	Total Cost
As Specified	W.B. Mason Co. Inc.	3	\$398.20	\$1,194.60
O Alternate	Clinton Industries - 3620			
O As Specified	Creative Office Pavilion	3	\$1,903.00	\$5,709.00
 Alternate 	Note: Updated model # 3620-27 -	5	φ1,505.00	45,105.00
	•			

Zervas Elementary School Newton, MA Architect: Perkins Eastman/DPC

PLS Project No: 2014-PLS-004

Code		ItemCodeDescription			
09.OT		Suspension/Height Adjustment System Abilitations - 023721			
	,				
		Bidders:	Qty	Unit Cost	Total Cost
O As S O Alter		NO BID Abilitations - 023721	1	\$275.00	\$275.00
Code		ItemCodeDescription			
09.OT	.0002 Mfg/Model: Color/Finish:	Platform Swing Southpaw - 1800			
		Bidders:	Qty	Unit Cost	Total Cost
O As S O Alter		NO BID Southpaw - 1800	1	\$330.00	\$330.00
Code		ItemCodeDescription			
09.OT	.0003 Mfg/Model: Color/Finish:	Hanging Swing eSpecial Needs - E00168			
		Bidders:	Qty	Unit Cost	Total Cost
-	pecified	NO BID	1	\$330.00	\$330.00
O Alter	rnate	eSpecial Needs - E00168			
Code		ItemCodeDescription			
09.OT	.0004 Mfg/Model: Color/Finish:	High Pressure Inflator Sportime - 087966			
		Bidders:	Qty	Unit Cost	Total Cost
O As S		W.B. Mason Co. Inc.	1	\$195.25	\$195.25
Alter	rnate	Flaghouse - L2953			
Code		ItemCodeDescription			
09.OT	.0005 Mfg/Model: Color/Finish:	Positioning Roll with Anti-Microbial Protection - 36 x 12 Tumble forms - 012293			
		Bidders:	Qty	Unit Cost	Total Cost
O As S O Alter		W.B. Mason Co. Inc. Flaghouse - L37850	1	\$266.85	\$266.85
Code		ItemCodeDescription			
09.OT	.0006 Mfg/Model: Color/Finish:	Classroom Stability Ball/Ring Pack Nasco - PE08294E			
		Bidders:	Qty	Unit Cost	Total Cost
O As S		Creative Office Pavilion	1	\$775.00	\$775.00
O Alter	rnate	Nasco - PE08294E			

© Copyright 2015	Date	Page
Point Line Space, Inc.	02.06.17	94

PLS Project No: 2014-PLS-004

Code	ItemCodeDescription			
09.0T.0007 Mfg/Model: Color/Finish:	Inflatable Seating and Balance Cushion, 39 cm, Blue Gymnic - 8911			
	Bidders:	Qty	Unit Cost	Total Cost
O As Specified	NO BID	1	\$29.70	\$29.70
O Alternate	Gymnic - 8911			
Code	ItemCodeDescription			
09.0T.0008 Mfg/Model: Color/Finish:	Sensory Ball - Set of 3			
	Bidders:	Qty	Unit Cost	Total Cost
As SpecifiedAlternate	Lakeshore Learning Materials LAKESHORE - RE322	1	\$32.19	\$32.19
O As Specified	W.B. Mason Co. Inc.	1	\$33.27	\$33.27
Alternate	Flaghouse - L37646			
Code 09.OT.0009 Mfg/Model: Color/Finish:	ItemCodeDescription Folding Mat - 4 side Velcro Gopher - 85-572			
	Bidders:	Qty	Unit Cost	Total Cost
As SpecifiedAlternate	Lakeshore Learning Materials LAKESHORE - EE470	2	\$183.08	\$366.16
 As Specified Alternate 	W.B. Mason Co. Inc. Gopher - 85-572	2	\$391.27	\$782.54
As Specified	School Furnishings, Inc.	2	\$440.54	\$881.08
O Alternate	Gopher - 85-572			
As SpecifiedAlternate	Creative Office Pavilion Note: Quoted item # not description -	2	\$463.00	\$926.00
Code 09.OT.0010 Mfg/Model: Color/Finish:	ItemCodeDescription Incline Mat Flaghouse - W2955			
	Bidders:	Qty	Unit Cost	Total Cost
As SpecifiedAlternate	Lakeshore Learning Materials LAKESHORE - EE469	1	\$164.68	\$164.68
As SpecifiedAlternate	BSN Sports US Games - 1041651	1	\$232.47	\$232.47
As SpecifiedAlternate	W.B. Mason Co. Inc. Flaghouse - W2955	1	\$317.34	\$317.34
As SpecifiedAlternate	School Furnishings, Inc. Flaghouse - W2955	1	\$455.05	\$455.05

© Copyright 2015	Date	Page
Point Line Space, Inc.	02.06.17	95

Zervas Elementary School Newton, MA Architect: Perkins Eastman/DPC

PLS Project No: 2014-PLS-004

Code	ItemCodeDescription			
09.OT.0011 Mfg/Model: Color/Finish:	Crawl Tunnel Sportime - 006277			
	Bidders:	Qty	Unit Cost	Total Cost
As SpecifiedAlternate	Lakeshore Learning Materials LAKESHORE - LA245	1	\$64.39	\$64.39
 As Specified Alternate 	W.B. Mason Co. Inc. Sportime - 006277	1	\$79.80	\$79.80
Code	ItemCodeDescription			
09.OT.0012 Mfg/Model: Color/Finish:				
	Bidders:	Qty	Unit Cost	Total Cost
 As Specified Alternate 	W.B. Mason Co. Inc. Flaghouse - 11074	1	\$20.22	\$20.22
 As Specified Alternate 	Creative Office Pavilion Flaghouse - 11074	1	\$27.00	\$27.00
 As Specified Alternate 	School Furnishings, Inc. Flaghouse - 11074	1	\$38.49	\$38.49
As SpecifiedAlternate	Lakeshore Learning Materials LAKESHORE - LA152	1	\$164.68	\$164.68
Code	ItemCodeDescription			
Code 09.OT.0013 Mfg/Model: Color/Finish:				
09.OT.0013 Mfg/Model:	Spot Marker Set - 9" Diameter - Set of 6 Poly Enterprises - 288367	Qty	Unit Cost	Total Cost
09.OT.0013 Mfg/Model:	Spot Marker Set - 9" Diameter - Set of 6 Poly Enterprises - 288367	Qty 1	Unit Cost \$19.33	Total Cost \$19.33
09.OT.0013 Mfg/Model: Color/Finish:	Spot Marker Set - 9" Diameter - Set of 6 Poly Enterprises - 288367 Bidders: W.B. Mason Co. Inc.			
09.OT.0013 Mfg/Model: Color/Finish: As Specified Alternate	Spot Marker Set - 9" Diameter - Set of 6 Poly Enterprises - 288367 Bidders: W.B. Mason Co. Inc. Flaghouse - L11510 BSN Sports	1	\$19.33	\$19.33
09.OT.0013 Mfg/Model: Color/Finish: As Specified Alternate Alternate As Specified Alternate	Spot Marker Set - 9" Diameter - Set of 6 Poly Enterprises - 288367 Bidders: W.B. Mason Co. Inc. Flaghouse - L11510 BSN Sports US Games - 6070 Creative Office Pavilion	1	\$19.33 \$24.59	\$19.33 \$24.59
09.OT.0013 Mfg/Model: Color/Finish: As Specified Alternate As Specified Alternate As Specified Alternate As Specified Alternate	Spot Marker Set - 9" Diameter - Set of 6 Poly Enterprises - 288367 Bidders: W.B. Mason Co. Inc. Flaghouse - L11510 BSN Sports US Games - 6070 Creative Office Pavilion Flaghouse - 11510 (see attached) Lakeshore Learning Materials	1 1 1	\$19.33 \$24.59 \$26.00	\$19.33 \$24.59 \$26.00
09.OT.0013 Mfg/Model: Color/Finish: As Specified Alternate As Specified Alternate As Specified Alternate As Specified Alternate	Spot Marker Set - 9" Diameter - Set of 6 Poly Enterprises - 288367 Bidders: W.B. Mason Co. Inc. Flaghouse - L11510 BSN Sports US Games - 6070 Creative Office Pavilion Flaghouse - 11510 (see attached) Lakeshore Learning Materials LAKESHORE - RA239 ItemCodeDescription Balance Hemispheres - 6 Flaghouse - 12219	1 1 1	\$19.33 \$24.59 \$26.00	\$19.33 \$24.59 \$26.00
09.OT.0013 Mfg/Model: Color/Finish: As Specified Alternate As Specified Alternate As Specified Alternate As Specified Alternate Code 09.OT.0015 Mfg/Model:	Spot Marker Set - 9" Diameter - Set of 6 Poly Enterprises - 288367 Bidders: W.B. Mason Co. Inc. Flaghouse - L11510 BSN Sports US Games - 6070 Creative Office Pavilion Flaghouse - 11510 (see attached) Lakeshore Learning Materials LAKESHORE - RA239 ItemCodeDescription Balance Hemispheres - 6 Flaghouse - 12219	1 1 1	\$19.33 \$24.59 \$26.00	\$19.33 \$24.59 \$26.00
09.OT.0013 Mfg/Model: Color/Finish: As Specified Alternate As Specified Alternate As Specified Alternate As Specified Alternate Code 09.OT.0015 Mfg/Model:	Spot Marker Set - 9" Diameter - Set of 6 Poly Enterprises - 288367 Bidders: W.B. Mason Co. Inc. Flaghouse - L11510 BSN Sports US Games - 6070 Creative Office Pavilion Flaghouse - 11510 (see attached) Lakeshore Learning Materials LAKESHORE - RA239 ItemCodeDescription Balance Hemispheres - 6 Flaghouse - 12219	1 1 1 1	\$19.33 \$24.59 \$26.00 \$36.79	\$19.33 \$24.59 \$26.00 \$36.79
09.OT.0013 Mfg/Model: Color/Finish: As Specified Alternate As Specified Alternate As Specified Alternate As Specified Alternate Code 09.OT.0015 Mfg/Model: Color/Finish:	Spot Marker Set - 9" Diameter - Set of 6 Poly Enterprises - 288367 Bidders: W.B. Mason Co. Inc. Flaghouse - L11510 BSN Sports US Games - 6070 Creative Office Pavilion Flaghouse - 11510 (see attached) Lakeshore Learning Materials LAKESHORE - RA239 ItemCodeDescription Balance Hemispheres - 6 Flaghouse - 12219 Bidders: W.B. Mason Co. Inc.	1 1 1 1 Qty	\$19.33 \$24.59 \$26.00 \$36.79 Unit Cost	\$19.33 \$24.59 \$26.00 \$36.79 Total Cost

© Copyright 2015	Date	Page
Point Line Space, Inc.	02.06.17	96

PLS Project No: 2014-PLS-004

As Specified	School Furnishings, Inc.	1	\$71.36	\$71.36
O Alternate	Flaghouse - 12219		· · ·	
	-			
Code	ItemCodeDescription			
09.OT.0016	Trampoline with Handrail			
Mfg/Model:	Original Toy Company - 59609			
Color/Finish:				
	Bidders:	Qty	Unit Cost	Total Cost
O As Specified	W.B. Mason Co. Inc.	1	\$106.90	\$106.90
 Alternate 	Flaghouse - L4540, 4541	•	<i><i>ϕ</i> 100.50</i>	<i><i><i>q</i></i> 100.30</i>
			* * = * > > >	* * * * * * * * * *
As Specified	BSN Sports	1	\$151.38	\$151.38
Alternate	US Games - 1245868			
O As Specified	Creative Office Pavilion	1	\$154.00	\$154.00
Alternate	Flaghouse - 4540 + 4541 (see attached)			
Code	ItemCodeDescription			
09.OT.0017	Balance Beam - 6'			
Mfg/Model:				
Color/Finish:				
	Bidders:	Qty	Unit Cost	Total Cost
O As Specified	W.B. Mason Co. Inc.	1	\$88.80	\$88.80
Alternate	Flaghouse - L5063			
As Specified	Creative Office Pavilion	1	\$106.00	\$106.00
O Alternate	Poly Enterprises - 5063	•	+	+
	•		¢110.00	¢110.00
 As Specified Alternate 	Lakeshore Learning Materials LAKESHORE - RA191	1	\$118.68	\$118.68
Alternate	LARESHORE - RATST			
Code	ItemCodeDescription			
09.OT.0018	Therapy Ball - 30"			
Mfg/Model:				
Color/Finish:	5			
color, rinish.				
	Bidders:	Qty	Unit Cost	Total Cost
O As Specified	BSN Sports	1	\$19.16	\$19.16
 As specified Alternate 	US Games - 1335903	1	\$15.10	\$1 <u>9</u> .10
As Specified	Creative Office Pavilion	1	\$30.00	\$30.00
O Alternate	Flaghouse - 36009			
As Specified	W.B. Mason Co. Inc.	1	\$46.37	\$46.37
O Alternate	Flaghouse - 36009			<u> </u>
A - Constitued	School Furnishings, Inc.	1	\$49.77	\$40.77
 As Specified Alternate 	Flaghouse - 36009	1	J49.11	\$49.77
Alternate				
Code	ItemCodeDescription			
09.OT.0019	Height Adjustable Wooden High Chair			
Mfg/Model:				
Color/Finish:				
	Bidders:	Qty	Unit Cost	Total Cost
As Specified	Creative Office Pavilion	1	\$442.00	\$442.00
O Alternate	Stokke - Tripp Trapp Chair	1	Ψ Ι ΤΔ.ΟΟ	ΨΤΤΔ.00
© Copyright 2015		Date		Daga
Point Line Space		02.06.17		Page 97
		02.00.1/		//

PLS Project No: 2014-PLS-004

NOTE. DI	DO ARE CORRENTET ONDER ADVISEMENT			
Code	ItemCodeDescription			
09.OT.0020 Mfg/Model: Color/Finish:	Peanut Ball - 20" FitBall - Peanut - 20" (50cm)			
	Bidders:	Qty	Unit Cost	Total Cost
O As Specified	W.B. Mason Co. Inc.	1	\$57.89	\$57.89
Alternate	Flaghouse - L7142			
 As Specified Alternate 	Creative Office Pavilion FitBall - Peanut - 20" (50cm)	1	\$61.00	\$61.00
Code	ItemCodeDescription			
09.OT.0021 Mfg/Model: Color/Finish:	Sand-Filled Therapy Ball - 3.3lb FitBall - Softmeds - Red			
	Bidders:	Qty	Unit Cost	Total Cost
• As Specified	Creative Office Pavilion	1	\$19.00	\$19.00
O Alternate	FitBall - Softmeds - Red			
Code	ItemCodeDescription			
09.OT.0022 Mfg/Model: Color/Finish:	Sand-Filled Therapy Ball - 4.4lb FitBall - Softmeds - Blue			
	Bidders:	Qty	Unit Cost	Total Cost
 As Specified Alternate 	Creative Office Pavilion FitBall - Softmeds - Blue	1	\$23.00	\$23.00
-				
Code	ItemCodeDescription			
09.OT.0023 Mfg/Model: Color/Finish:	Therapy Ball - 22 " Flaghouse - 2677			
	Bidders:	Qty	Unit Cost	Total Cost
 As Specified Alternate 	W.B. Mason Co. Inc. Flaghouse - 2677	1	\$15.23	\$15.23
As SpecifiedAlternate	Creative Office Pavilion Flaghouse - 2677	1	\$20.00	\$20.00
 As Specified Alternate 	School Furnishings, Inc. Flaghouse - 2677	1	\$34.61	\$34.61
Code	ItemCodeDescription			
09.0T.0024 Mfg/Model: Color/Finish:	Therapy Ball - 26" Flaghouse - 36008			
	Bidders:	Qty	Unit Cost	Total Cost
O As Specified	BSN Sports	1	\$16.94	\$16.94
Alternate	US Games - 1335897			
• As Specified	W.B. Mason Co. Inc.	1	\$22.21	\$22.21
O Alternate	Flaghouse - 36008			

		1
© Copyright 2015	Date	Page
Point Line Space, Inc.	02.06.17	98

Zervas Elementary School Newton, MA Architect: Perkins Eastman/DPC

PLS Project No: 2014-PLS-004

**	NOTE:	BIDS	ARE	CURRENTLY	UNDER	ADVISEMENT

		DO ARE CORRENTET ONDER ADVISEMENT			
	As Specified	Creative Office Pavilion Flaghouse - 36008	1	\$27.00	\$27.00
_	-	5		<i>t</i> 10 00	
	 As Specified Alternate 	School Furnishings, Inc. Flaghouse - 36008	1	\$46.60	\$46.60
	Code	ItemCodeDescription			
	09.OT.0025	Crash Pad - 5'x5'			
		Autism Community Store - Crash Pad - 5'x5'			
		Bidders:	Qty	Unit Cost	Total Cost
6	As Specified	W.B. Mason Co. Inc.	1	\$173.46	\$173.46
	Alternate	Flaghouse - L39083			
(As Specified	Creative Office Pavilion	1	\$247.00	\$247.00
() Alternate	Autism Community Store - Crash Pad - 5'x5'			
	Code	ItemCodeDescription			
(09.OT.0026	Tube Swing Kit			
	Mfg/Model: Color/Finish:	Southpaw - 1501			
		Bidders:	Qty	Unit Cost	Total Cost
	As Specified	NO BID	1	\$115.50	\$115.50
) Alternate	Southpaw - 1501			
	-	I			
	Code	ItemCodeDescription			
	Code 09.OT.0027 Mfg/Model: Color/Finish:	•			
	09.OT.0027 Mfg/Model:	ItemCodeDescription Positioning Roll with Anti-Microbial Protection - 48 x 14	Qty	Unit Cost	Total Cost
	09.0T.0027 Mfg/Model: Color/Finish:	ItemCodeDescription Positioning Roll with Anti-Microbial Protection - 48 x 14 Tumble forms - 012295	Qty 1	Unit Cost \$456.00	
	09.OT.0027 Mfg/Model:	ItemCodeDescription Positioning Roll with Anti-Microbial Protection - 48 x 14 Tumble forms - 012295 Bidders:			Total Cost \$456.00
	09.OT.0027 Mfg/Model: Color/Finish:	ItemCodeDescription Positioning Roll with Anti-Microbial Protection - 48 x 14 Tumble forms - 012295 Bidders: Creative Office Pavilion			
	09.OT.0027 Mfg/Model: Color/Finish: As Specified Alternate	ItemCodeDescription Positioning Roll with Anti-Microbial Protection - 48 x 14 Tumble forms - 012295 Bidders: Creative Office Pavilion Tumble forms - 012295			
	09.OT.0027 Mfg/Model: Color/Finish: As Specified Alternate Code 09.OT.0028 Mfg/Model:	ItemCodeDescription Positioning Roll with Anti-Microbial Protection - 48 x 14 Tumble forms - 012295 Bidders: Creative Office Pavilion Tumble forms - 012295 ItemCodeDescription Therapy Ball Cart			
	09.OT.0027 Mfg/Model: Color/Finish: As Specified Alternate Code 09.OT.0028 Mfg/Model: Color/Finish:	ItemCodeDescription Positioning Roll with Anti-Microbial Protection - 48 x 14 Tumble forms - 012295 Bidders: Creative Office Pavilion Tumble forms - 012295 ItemCodeDescription Therapy Ball Cart Flaghouse - 17616 Bidders: W.B. Mason Co. Inc.	1	\$456.00	\$456.00
	09.OT.0027 Mfg/Model: Color/Finish: As Specified Alternate Code 09.OT.0028 Mfg/Model: Color/Finish:	ItemCodeDescription Positioning Roll with Anti-Microbial Protection - 48 x 14 Tumble forms - 012295 Bidders: Creative Office Pavilion Tumble forms - 012295 ItemCodeDescription Therapy Ball Cart Flaghouse - 17616 Bidders:	1 Qty	\$456.00 Unit Cost	\$456.00 Total Cost
	09.OT.0027 Mfg/Model: Color/Finish: As Specified Alternate Code 09.OT.0028 Mfg/Model: Color/Finish: Afg/Model: Color/Finish: Afg/Model: Color/Finish: Afg/Model: Color/Finish:	ItemCodeDescription Positioning Roll with Anti-Microbial Protection - 48 x 14 Tumble forms - 012295 Bidders: Creative Office Pavilion Tumble forms - 012295 ItemCodeDescription Therapy Ball Cart Flaghouse - 17616 W.B. Mason Co. Inc. Flaghouse - 17616 Creative Office Pavilion	1 Qty	\$456.00 Unit Cost	\$456.00 Total Cost
	09.OT.0027 Mfg/Model: Color/Finish: As Specified Alternate O.Ode 09.OT.0028 Mfg/Model: Color/Finish: As Specified Alternate As Specified Alternate	ItemCodeDescription Positioning Roll with Anti-Microbial Protection - 48 x 14 Tumble forms - 012295 Bidders: Creative Office Pavilion Tumble forms - 012295 ItemCodeDescription Therapy Ball Cart Flaghouse - 17616 Bidders: Q. Creative Office Pavilion Cart Flaghouse - 17616 Creative Office Pavilion Flaghouse - 17616	1 Qty 1	\$456.00 Unit Cost \$192.91 \$259.00	\$456.00 Total Cost \$192.91 \$259.00
	 O9.OT.0027 Mfg/Model: Color/Finish: As Specified Alternate Code O9.OT.0028 Mfg/Model: Color/Finish: As Specified Alternate As Specified Alternate As Specified Alternate As Specified Alternate As Specified Alternate 	ItemCodeDescription Positioning Roll with Anti-Microbial Protection - 48 x 14 Tumble forms - 012295 Bidders: Creative Office Pavilion Tumble forms - 012295 ItemCodeDescription Therapy Ball Cart Flaghouse - 17616 Bidders: W.B. Mason Co. Inc. Flaghouse - 17616 Creative Office Pavilion Flaghouse - 17616 School Furnishings, Inc.	1 Qty 1	\$456.00 Unit Cost \$192.91	\$456.00 Total Cost \$192.91
	 O9.OT.0027 Mfg/Model: Color/Finish: As Specified Alternate Code O9.OT.0028 Mfg/Model: Color/Finish: As Specified Alternate As Specified Alternate As Specified Alternate 	ItemCodeDescription Positioning Roll with Anti-Microbial Protection - 48 x 14 Tumble forms - 012295 Bidders: Creative Office Pavilion Tumble forms - 012295 ItemCodeDescription Therapy Ball Cart Flaghouse - 17616 W.B. Mason Co. Inc. Flaghouse - 17616 Creative Office Pavilion Flaghouse - 17616 School Furnishings, Inc. Flaghouse - 17616	1 Qty 1 1 1	\$456.00 Unit Cost \$192.91 \$259.00 \$289.95	\$456.00 Total Cost \$192.91 \$259.00 \$289.95
	 O9.OT.0027 Mfg/Model: Color/Finish: As Specified Alternate Code O9.OT.0028 Mfg/Model: Color/Finish: As Specified Alternate As Specified Alternate As Specified Alternate As Specified Alternate As Specified Alternate 	ItemCodeDescription Positioning Roll with Anti-Microbial Protection - 48 x 14 Tumble forms - 012295 Bidders: Creative Office Pavilion Tumble forms - 012295 ItemCodeDescription Therapy Ball Cart Flaghouse - 17616 Bidders: W.B. Mason Co. Inc. Flaghouse - 17616 Creative Office Pavilion Flaghouse - 17616 School Furnishings, Inc.	1 Qty 1 1	\$456.00 Unit Cost \$192.91 \$259.00	\$456.00 Total Cost \$192.91 \$259.00

© Copyright 2015	Date	Page
Point Line Space, Inc.	02.06.17	99

PLS Project No: 2014-PLS-004

		JS ARE CURRENTLY UNDER ADVISEMENT			
	Code	ItemCodeDescription			
	09.OT.0126	Bolster Swing			
	Mfg/Model:	Autism Products - 1359113			
	Color/Finish:				
		Didderet	0.1		TILCI
		Bidders: NO BID	Qty 1	Unit Cost	Total Cost
	O As Specified O Alternate	Autism Products - 1359113	I	\$264.00	\$264.00
_	-				
	Code	ItemCodeDescription			
	09.OT.0129	Triple Layer Folding Mat 4'x 8', Velcro 4 Sides Gopher - 85-572			
	Mfg/Model:	Blue and Red			
	colory rimsh.				
		Bidders:	Qty	Unit Cost	Total Cost
	O As Specified	Lakeshore Learning Materials	1	\$229.08	\$229.08
	Alternate	LAKESHORE - EE471			
	O As Specified	W.B. Mason Co. Inc.	1	\$391.27	\$391.27
	O Alternate	Gopher - 85-572			
	O As Specified	School Furnishings, Inc.	1	\$440.54	\$440.54
	O Alternate	Gopher - 85-572			
	Code	ItemCodeDescription			
	09.PE.0001	40' Traverse Wall Package W/Mats and Safety System			
	Mfg/Model:	Everlast/US Games - 1188097			
	Color/Finish:				
		Bidders:	Qty	Unit Cost	Total Cost
	• As Specified	BSN Sports	<u>Q</u> ţy1	\$11,442.65	\$11,442.65
	O Alternate	Everlast/US Games - 1188097		φ11, 44 2.05	ψΠ,++2.05
_	Code	Itom Code Description			
	09.PE.0002	ItemCodeDescription Cargo Net with Hanging Hardware			
		Jammar Co HD12-1212/CNHH-2			
	Color/Finish:	, -			
		Bidders:	Qty	Unit Cost	Total Cost
	O As Specified	NO BID	1	\$2,827.00	\$2,827.00
	O Alternate	Jammar Co HD12-1212/CNHH-2			
	Code	ItemCodeDescription			
	09.PE.0051	Wedges - Non Folding			
	Mfg/Model:	Gopher - 85-135			
	Color/Finish:				
		Bidders:	Qty	Unit Cost	Total Cost
	O As Specified	BSN Sports	2	\$232.47	\$464.94
	 Alternate 	US Games - 1041651			
	• As Specified	W.B. Mason Co. Inc.	2	\$350.00	\$700.00
	O Alternate	Gopher - 85-135			
	O As Specified	School Furnishings, Inc.	2	\$396.70	\$793.40
	O Alternate	Gopher - 85-135			

© Copyright 2015	Date	Page	
Point Line Space, Inc.	02.06.17	100	

PLS Project No: 2014-PLS-004

*** NOTE: BI	DS ARE CURRENTLY UNDER ADVISEMENT ***			
As Specified	Creative Office Pavilion	2	\$407.00	\$814.00
O Alternate	Gopher - 85-135			
Code	ItemCodeDescription			
09.PE.0052 Mfg/Model: Color/Finish:				
	Bidders:	Qty	Unit Cost	Total Cost
As Specified	W.B. Mason Co. Inc.	1	\$84.38	\$84.38
O Alternate	Gopher - 61-665			
O As Specified	Creative Office Pavilion	1	\$96.00	\$96.00
O Alternate	Gopher - 61-665			
As Specified	School Furnishings, Inc.	1	\$97.12	\$97.12
O Alternate	Gopher - 61-665			
Code	ItemCodeDescription			
09.PE.0053 Mfg/Model: Color/Finish:				
	Bidders:	Qty	Unit Cost	Total Cost
As Specified	W.B. Mason Co. Inc.	1	\$216.66	\$216.66
O Alternate	Gopher - 45-400			
As Specified	School Furnishings, Inc.	1	\$245.10	\$245.10
O Alternate	Gopher - 45-400			
As Specified	Creative Office Pavilion	1	\$248.00	\$248.00
O Alternate	Gopher - 45-400			
Code	ItemCodeDescription			
09.PE.0054 Mfg/Model: Color/Finish:				
	Bidders:	Qty	Unit Cost	Total Cost
As Specified	W.B. Mason Co. Inc.	2	\$47.94	\$95.88
O Alternate	Gopher - 29-155			
As Specified	School Furnishings, Inc.	2	\$55.92	\$111.84
O Alternate	Gopher - 29-155			
• As Specified	Creative Office Pavilion	2	\$56.00	\$112.00
O Alternate	Gopher - 29-155			
Code	ItemCodeDescription			
09.PE.0055 Mfg/Model: Color/Finish:	Vests, Rainbow Fit Pro Champion, Set of 6 - Yellow Gopher - 29-157			
	Bidders:	Qty	Unit Cost	Total Cost
As Specified	W.B. Mason Co. Inc.	2	\$47.94	\$95.88
O Alternate	Gopher - 29-157			
As Specified	School Furnishings, Inc.	2	\$55.92	\$111.84
O Alternate	Gopher - 29-157			
1		1		

© Copyright 2015	Date	Page
Point Line Space, Inc.	02.06.17	101

PLS Project No: 2014-PLS-004

	TE. DIDG ARE CORRENTET ONDER ADVIGEMENT			
O As Specif		2	\$56.00	\$112.00
O Alternate	Gopher - 29-157			
Code	ItemCodeDescription			
	Bidders:	Qty	Unit Cost	Total Cost
O As Specif	fied BSN Sports	1	\$25.58	\$25.58
O Alternate				
O As Specif	fied W.B. Mason Co. Inc.	1	\$62.17	\$62.17
O Alternate	Gopher - 89-972			
O As Specif		1	\$70.00	\$70.00
O Alternate	Gopher - 89-972			
O As Specif		1	\$71.02	\$71.02
O Alternate	Gopher - 89-972			
Code	ItemCodeDescription			
	57 Scooter Storage Cart g/Model: Gopher - 57-097 br/Finish:			
	Bidders:	Qty	Unit Cost	Total Cost
O As Specif		1	\$141.46	\$141.46
Alternate	US Games - 1257564			
O As Specif		1	\$166.67	\$166.67
O Alternate	Gopher - 57-097			
O As Specif		1	\$192.00	\$192.00
O Alternate	Gopher - 57-097			
As Specif		1	\$216.00	\$216.00
O Alternate	Gopher - 57-097			
Code	ItemCodeDescription			
	58 Bean Bag, Rainbow, Set of 36 g/Model: Gopher - 20-283 pr/Finish:			
	Bidders:	Qty	Unit Cost	Total Cost
O As Specif O Alternate		1	\$18.39	\$18.39
As Specif	fied W.B. Mason Co. Inc.	1	\$107.50	\$107.50
O Alternate				
O As Specif		1	\$119.17	\$119.17
O Alternate				
O As Specif		1	\$160.00	\$160.00
O Alternate	Gopher - 20-283			

Zervas Elementary School Newton, MA Architect: Perkins Eastman/DPC

PLS Project No: 2014-PLS-004

*** NOTE: BIDS ARE CURRENTLY UNDER ADVISEMENT ***

(Со	de	

ItemCodeDescription

09.PE.0059

0059Tumbling Mats, Tumble Pro 2", 6'x12'Mfg/Model:Gopher - 86-024

_				
Co	or/	Ein	ich	
Co			ISH.	

	Bidders:	Qty	Unit Cost	Total Cost
As Specified	W.B. Mason Co. Inc.	8	\$732.22	\$5,857.76
O Alternate	Gopher - 86-024			
• As Specified	School Furnishings, Inc.	8	\$807.62	\$6,460.96
O Alternate	Gopher - 86-024			
• As Specified	Creative Office Pavilion	8	\$842.00	\$6,736.00
O Alternate	Gopher - 86-024			
Code	ItemCodeDescription			
09.PE.0060	Rebounder			
Mfg/Model: Color/Finish:				
	Bidders:	Qty	Unit Cost	Total Cost
• As Specified	W.B. Mason Co. Inc.	1	\$159.11	\$159.11
O Alternate	Gopher - 70-276		· ·	
• As Specified	Creative Office Pavilion	1	\$182.00	\$182.00
O Alternate	Gopher - 70-276		· ·	
• As Specified	School Furnishings, Inc.	1	\$188.98	\$188.98
O Alternate	Gopher - 70-276		· · ·	<u> </u>
Code	ItemCodeDescription			
09.PE.0061 Mfg/Model: Color/Finish:	Tennis Racquets, Junior, Set of 6, 21" Gopher - 52-063			
	Bidders:	Qty	Unit Cost	Total Cost
• As Specified	W.B. Mason Co. Inc.	1	\$88.83	\$88.83
O Alternate	Gopher - 52-063		· ·	
• As Specified	School Furnishings, Inc.	1	\$102.34	\$102.34
O Alternate	Gopher - 52-063			
• As Specified	Creative Office Pavilion	1	\$114.00	\$114.00
O Alternate	Gopher - 52-063			
Code	ItemCodeDescription			
09.PE.0062 Mfg/Model: Color/Finish:	Badminton Racquets, Rainbow, Set of 6 Gopher - 51-047			
	Bidders:	Qty	Unit Cost	Total Cost
O As Specified	BSN Sports	1	\$30.97	\$30.97
O Alternate	US Games - 1297959			
• As Specified	W.B. Mason Co. Inc.	1	\$54.11	\$54.11
O Alternate	Gopher - 51-047			
As Specified	School Furnishings, Inc.	1	\$62.47	\$62.47
O Alternate	Gopher - 51-047			

© Copyright 2015	Date	Page
Point Line Space, Inc.	02.06.17	103

PLS Project No: 2014-PLS-004

Zervas Elementary School Newton, MA Architect: Perkins Eastman/DPC

NOTE. DI	DS ARE CURRENTLY UNDER ADVISEMENT *			
O As Specified	Creative Office Pavilion	1	\$78.00	\$78.00
O Alternate	Gopher - 51-047			
Code	ItemCodeDescription			
09.PE.0063 Mfg/Model: Color/Finish:	Tennis Balls, Foam, Oversized, Set of 3 Gopher - 41-718			
	Bidders:	Qty	Unit Cost	Total Cost
As SpecifiedAlternate	BSN Sports US Games - 5207	3	\$6.96	\$20.88
 As Specified Alternate 	W.B. Mason Co. Inc. Gopher - 41-718	3	\$11.61	\$34.83
As Specified	School Furnishings, Inc.	3	\$15.33	\$45.99
O Alternate	Gopher - 41-718		¢17.00	¢ = 1 00
 As Specified Alternate 	Creative Office Pavilion Gopher - 41-718	3	\$17.00	\$51.00
Code 09.PE.0064 Mfg/Model: Color/Finish:	ItemCodeDescription Compact Inflator Gopher - 66-620			
	Bidders:	Qty	Unit Cost	Total Cost
As SpecifiedAlternate	Lakeshore Learning Materials LAKESHORE - WC218	1	\$64.39	\$64.39
As SpecifiedAlternate	BSN Sports US Games - 1539	1	\$68.97	\$68.97
 As Specified Alternate 	W.B. Mason Co. Inc. Gopher - 66-620	1	\$93.33	\$93.33
 As Specified Alternate 	School Furnishings, Inc. Gopher - 66-620	1	\$107.12	\$107.12
 As Specified Alternate 	Creative Office Pavilion Gopher - 66-620	1	\$112.00	\$112.00
Code	ItemCodeDescription			
09.PE.0065 Mfg/Model: Color/Finish:	Floor Hockey Set, Foam, 12 Player, 36"			
	Bidders:	Qty	Unit Cost	Total Cost
As SpecifiedAlternate	BSN Sports US Games - 1162028	1	\$88.40	\$88.40
 As Specified Alternate 	W.B. Mason Co. Inc. Gopher - 10-807	1	\$107.78	\$107.78
 As Specified Alternate 	School Furnishings, Inc. Gopher - 10-807	1	\$124.46	\$124.46
 As Specified Alternate 	Creative Office Pavilion Gopher - 10-807	1	\$157.00	\$157.00

© Copyright 2015	Date	Page
Point Line Space, Inc.	02.06.17	104

Zervas Elementary School Newton, MA Architect: Perkins Eastman/DPC

PLS Project No: 2014-PLS-004

*** NOTE: BIDS ARE CURRENTLY UNDER ADVISEMENT ***

CodeItemCodeDescription09.PE.0066Floor Hockey Set, Foam, 12 Player, 42"
Mfg/Model:Mfg/Model:Gopher - 10-809

Color/Finish:

	Bidders:	Qty	Unit Cost	Total Cost
As SpecifiedAlternate	BSN Sports US Games - 1162011	1	\$96.47	\$96.47
 As Specified Alternate 	W.B. Mason Co. Inc. Gopher - 10-809	1	\$110.83	\$110.83
As SpecifiedAlternate	School Furnishings, Inc. Gopher - 10-809	1	\$127.71	\$127.71
 As Specified Alternate 	Creative Office Pavilion Gopher - 10-809	1	\$161.00	\$161.00

Code ItemCodeDescription

09.PE.0067 Vinyl Floor Tape, Rainbow, Set of 6 Mfg/Model: Gopher - 93-139

Color/Finish:

	Bidders:	Qty	Unit Cost	Total Cost
As SpecifiedAlternate	BSN Sports US Games - 2186	1	\$24.42	\$24.42
 As Specified Alternate 	W.B. Mason Co. Inc. Gopher - 93-139	1	\$29.16	\$29.16
 As Specified Alternate 	School Furnishings, Inc. Gopher - 93-139	1	\$33.98	\$33.98
 As Specified Alternate 	Creative Office Pavilion Gopher - 93-139	1	\$37.00	\$37.00

ItemCodeDescription

Color/Finish:

Code

	Bidders:	Qty	Unit Cost	Total Cost
As Specified	W.B. Mason Co. Inc.	4	\$79.95	\$319.80
O Alternate	Gopher - 71-348			
• As Specified	Creative Office Pavilion	4	\$89.00	\$356.00
O Alternate	Gopher - 71-348			
O As Specified	School Furnishings, Inc.	4	\$91.90	\$367.60
O Alternate	Gopher - 71-348			
Code	ItemCodeDescription			
09.PE.0069 Mfg/Model:	Trapezoid Mat, Large Gopher - 85-641			

Color/Finish:

	Bidders:	Qty	Unit Cost	Total Cost
As Specified	W.B. Mason Co. Inc.	2	\$1,216.11	\$2,432.22
O Alternate	Gopher - 85-641			

© Copyright 2015	Date	Page
Point Line Space, Inc.	02.06.17	105

^{09.}PE.0068 Dodgeball, Coated Foam, Rainbow, Set of 6 Mfg/Model: Gopher - 71-348

Point Line Space, Inc.

Zervas Elementary School Newton, MA Architect: Perkins Eastman/DPC

PLS Project No: 2014-PLS-004

*** NOTE: BIDS ARE CURRENTLY UNDER ADVISEMENT ***

	NOTE. DI	JS ARE CORRENTET UNDER ADVISEIVIENT			
	• As Specified	Creative Office Pavilion	2	\$1,349.00	\$2,698.00
	O Alternate	Gopher - 85-641			
	As Specified	School Furnishings, Inc.	2	\$1,366.51	\$2,733.02
	O Alternate	Gopher - 85-641			
	Code	ItemCodeDescription			
	09.PE.0071 Mfg/Model: Color/Finish:	Stair Step S&S Worldwide - W4101			
		Bidders:	Qty	Unit Cost	Total Cost
	As SpecifiedAlternate	W.B. Mason Co. Inc. Flaghouse - L4042	2	\$210.92	\$421.84
	-	5		+ + + + + = = =	
	 As Specified Alternate 	Creative Office Pavilion S&S Worldwide - W4101	2	\$441.00	\$882.00
_	-				
	Code	ItemCodeDescription			
	09.PE.0072 Mfg/Model: Color/Finish:	Storage Rack, Pack N Go S&S Worldwide - W5975			
		Bidders:	Qty	Unit Cost	Total Cost
	As Specified	W.B. Mason Co. Inc. Flaghouse - L8631	1	\$145.35	\$145.35
	Alternate			40.00 70	40.00 70
	As SpecifiedAlternate	BSN Sports US Games - 1188318	1	\$260.70	\$260.70
	 As Specified Alternate 	Creative Office Pavilion S&S Worldwide - W5975	1	\$446.00	\$446.00
	Code	ItemCodeDescription			
	09.PE.0073 Mfg/Model: Color/Finish:	All Surface Scooters, Set of 6 S&S Worldwide - W8591			
		Bidders:	Qty	Unit Cost	Total Cost
	O As Specified	W.B. Mason Co. Inc.	4	\$106.86	\$427.44
	Alternate	Flaghouse - L10559			
	As SpecifiedAlternate	Lakeshore Learning Materials LAKESHORE - BC641BU	4	\$110.16	\$440.64
	O As Specified	BSN Sports	4	\$152.70	\$610.80
	Alternate	US Games - 1265293			
	 As Specified Alternate 	Creative Office Pavilion S&S Worldwide - W8591	4	\$1,403.00	\$5,612.00
	Code	ItemCodeDescription			
	09.PE.0074 Mfg/Model: Color/Finish:	Playground Balls, Set of 6 S&S Worldwide - W11666			
		Bidders:	Qty	Unit Cost	Total Cost
	O As Specified	BSN Sports	2	\$24.53	\$49.06
	Alternate	US Games - 1033472			
	© Copyright 2015		Date		Page
	Point Ling Spac		02 04 17		104

02.06.17

106

Zervas Elementary School Newton, MA PLS Project No: 2014-PLS-004 Architect: Perkins Eastman/DPC

*** NOTE: BIDS ARE CURRENTLY UNDER ADVISEMENT ***

As Specified	W.B. Mason Co. Inc.	2	\$32.93	\$65.86	
Alternate	Flaghouse - L12195				
O As Specified	Lakeshore Learning Materials	2	\$44.10	\$88.20	
Alternate	LAKESHORE - UB8				
As Specified	Creative Office Pavilion	2	\$105.00	\$210.00	
O Alternate	S&S Worldwide - W11666				
Code It	temCodeDescription				
	Stop Watch, Set of 6				
Mfg/Model:	S&S Worldwide - W7526				
Color/Finish:					
	Bidders:	Qty	Unit Cost	Total Cost	
O As Specified	Lakeshore Learning Materials	1	\$44.10	\$44.10	
Alternate	LAKESHORE - XK556				
O As Specified	BSN Sports	1	\$44.18	\$44.18	
Alternate	US Games - 1269079				
O As Specified	W.B. Mason Co. Inc.	1	\$51.83	\$51.83	
Alternate	Flaghouse - L12191				
As Specified	Creative Office Pavilion	1	\$124.00	\$124.00	
O Alternate	S&S Worldwide - W7526				

Total of Selected Items: \$373,776.89

© Copyright 2015	Date	Page
Point Line Space, Inc.	02.06.17	107